CHINMAYA ACADEMY FOR CIVIL SERVICES
Group 1 Preliminary Free Mock Test - 4

A

Booklet Series Register Number

[TimeAllowed:3 Hours] [MaximumMarks:200]
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 200 questions.

2. Answer all questions. All Questions carry equal marks.

. The Test Booklet is printed in ‘A’ series booklet, he/she has to indicate in
the side 2 of the Answer Sheet with Black Ball point pen as follows:

. You must write your Register Number in the space provide on the top right
side of this page. Do not write anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the invigilator to mark
the answers. You must write your Name, Register No.and other particulars on
side 1 of the Answer Sheet provided.

. You will also encode your Register Number, Subject Code etc., with Black
Ink Ball Point Pen in the space provided on the side 1 of the Answer Sheet.

. Each question comprises five response [A], [B], [C], [D] and [E]. You have to
select ONLY ONE correct response and mark in your Answer Sheet. In case
you feel that there are more than one correct response, mark the response
which you consider the best. In any case ,choose ONLY ONE response for each
question. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

. In the Answer Sheet there are five brackets [A],[B],[C],[D] and [E] against
each question. To answer the questions you have to mark with Black Ball
point pen ONLY ONE bracket of your choice for each question. Select one
response for each question in the Question Booklet and mark it in the Answer
Sheet. If you mark more than one answer for one question, the answer will
be treated as wrong.

. You should not remove or tear off any sheet from this Question Booklet. You
are not allowed to take this Question Booklet and the Answer Sheet out of
the Examination Hall during the examination. After the examination is
concluded, you must hand over your Answer Sheet to the invigilator. You are
allowed to take the Question Booklet with you one after the Examination is
over.

10.In all matters and incase of doubt, the English Version is final.
11.Do not tick-mark or mark the answer in the Question Booklet.
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1. Match the List I (River) with List II (Place of Origin) and select the correct answers

using the codes given below.

LIST I LIST II
(a) Chambal 1. Betul district
(b) Son 2. Mahabaleshwar
(c) Krishna 3. Malwa plateau
(d) Tapi 4. Amarkantak Plateau
ULIgWwev | (5S) LM mIh LI IqWwev Il (GHTMHM @ LLD) 2 L6T QUIT@BHSe LD wmmib EELp
QaETHS&LILLG 6T GMHIuihi&EaneTLl LWaTU®G S S Frlwmer LS euseamerd G5 HASH &8 e]LD.
UL 1g W6 | LLC1guiev Il
a) FIOLIGL 1. QUG SI6L LoMaUL L LD
b) &eor 2. D&ETUGaY T
c) &\HaqevorT 3. omeveur LI LAl
d) 59 4. 9|LF&HSHE LTLLLA
a4 1 2 b)3 2
c)3 4 2 d3 4

2. Consider the following statements and choose the correct statement/s using the codes
1. The western coastal plains are narrow in the middle and get broader towards north and
south.

2. The rivers flowing through western coastal plain do not form any delta

3. The eastern coastal plain is broader than the western coastal plain

a) 1, 2, and 3 only b) 2, and 3 only c)1 only d) 1 and 3 only
LS etTeU(BLD FaM MG EMETS &(HHBH 6V Q& mevor®), GMUTIG &emeTll LIWeTL® &S FiflmeT gummi/%emert
Csijey Q&FWwWwe]Ld

1. CLMG LSBT FQeuellsar HHeN6L GM&MSHAD ULSE LMMIL QHMEG CHITES 3]&6ULDITE 6D
@\ (H& (S LD.

2. CLoME SLM&ET FnQeuer eullwmss Ll LIMWLD S, MISET 6THS GIL6VULTem6U LD 2_ (56U T8 (& 6U B 6Lem6v

3. Bp& G LM FuGeuef GLMEG SLME&ET FuGeueflenw el 386D meTsI

a) 1,2, lommib 3 I GILD b) 2, loMMID 3 DL GILD o) 1wL@LD d) 1 lnmmilh 3 (LD

3. Arrange the following hills from west to east:
1.Garo Hills 2.Jaintia Hills 3.Patkai Hills 4 .Mikir Hills

Select the correct order using the codes below:
L edTeu(pHLD LDEMEVSEemET CLM RO [BHS FRp& S CHTES eulflen s () & SIm Ser:

1. STGTIT LDEM6VS6IT 2. QU 6ITLY.WIT LO6M6V S 6T 3. UL ST LD6Mm6V & 6iT 4. &R LD6MI6V S 6T
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ECLp 2 6iter GMILIHIGHemeLI LwWeTL® S S siflwmer curflenFenwsd G5 T HO S M &8 6] LD:
a) 1-2-3-4 b) 1-3-2-4 c) 1-2-4-3 d 1-4-2-3

4. Consider the following National Parks:

I. Keoladeo National Park II. Dachigam National Park

III. Gir National Park IV. Manas National Par

Which of the above National Park is/are located North of the tropic of cancer?

a) I and II only b) II only c) [ and IV only d) I, II and IV only
LSletTeu(HLD G F\W L, MG TE 606 &6u6ut :

. BCWMeLHCWIT CHFW LLMBIST Il LTLSSEmb G W LLMBIST

. 87 CxAW L,k IV. omeormev G&FIW LLBIGST

CLM&6eoTL. G5 W LLMEIGTE ST 6T5I/eTemel HL& CIensd: s (S 6UL.& S 6V I 6e0L0Mh Sl6Temsg?

a)l lnmoid Il (KD b) Il bL_(HLD o) | lnmHmILD IV DL GILD d) 1, Il b IV oL BID

5. Match the following

(a)Coffee Board 1. Bangalore

(b)Rubber Board 2. Guntur

(c)Tea Board 3. Kottayam

(d)Tobacco Board 4. Kolkatta

QUTBHS SIS

(a) &L eurrflwib 1. QLIMI&S BT

(b) plILF eurrrflwiib 2. Gevor(hIy

(c) Gullemev aumfluiih 3. Ga&MLLWID

(d) yemaullemev eurrflwib 4. QBMUSBSSHT
a b c d

a) 2 4 3 1

c) 2 3 4 1

6. Consider the following statements

1. The Word Monsoon derived from the Arabic word ‘Mausim’

2. Monsoon reverses its direction due to unequal heating and cooling of land and water
3. Minimum 180° reversal of wind direction between seasons

Which of the above statements is/are correct?

a) 1 only b) 1 and 2 only c) 1 and 3 only d1,2,and 3

LSl6tTeU(BLD FaM MIG6METE & 6L 60T U] IS 6T
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1. LOIT6OT (&3 60T 6T6OTM QL& IT6L 'QDETEFID' 6T60TM T UMTSHenSuleSl B & QUMLILILL I

2. Bleulb oM MILh Hledr FowmmM QeuliLb IMMID G eflTFFIWITEL LI(HeULDemLp 56T 56t &em il
LOmH 0IS ST S

3. LI(H6UMI& @5 &G @6enLUulleL GemmbsSLILEFD 180° HMTH M HemgF H(HLOL|LD

GLOM&600TL. S M MIG6TTl6L eTemeu FflWTeuTemeu?

a) 1 L @D b) 1 LoMMith 2 ()LD ¢) 1 wmmib 3 I @GlLb d) 1,2, lommib 3

7. Statement I: The Intensity of Rainfall during the south west monsoon influenced by

Polar westerly Jet Stream

Statement II: Polar Westerly Jet Streams carries rainy clouds from cyclones formed over
mediterranean sea during winter towards India

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
Famm I: AH6TCLMES LIHeuLempuiledr GUIME Quu|Lb wenwpuller el S@Heu CLMEG Q1L
BCIMLLSST LUTHSSILGSHMmS

Famml l: GeMFesmeusHlev LGB WG emTs &L60l6L 2 (heum@GLd @Gmmeauelssenled(BHSl eu(hHLD LD
CL&EEIGZMET SI[Hel CLuMEGSG QR BCITLLEIGET @ HHWmenel CHITHESR Q& TeuoT(H G & 6L G 60T meur.

a) 1 (b b) 2 0L_(h\LD o) 1 mmih 2 @ revor(hLD d) 1 9j6LeVEI 2 3j6V6V

8. Which Indian state has the highest installed capacity of solar power as of recent years?
a) Rajasthan b) Gujarat c) Tamil Nadu d) Karnataka
FISLSH W sLevrhS&efleL GHw F&ESuller 2B & BlmieuLILIL L Smeners Q& meuorL @) HSH W LDMBleVLD 6T5I1?
a) JMER6NV & meoT b) LIS o) SWIHHTE d) SFBTLSIT

9. Match the List I with the List II

List I(Heavy metal) List II (Disease)

a. Mercury 1. Knock Knee Syndrome
b. Cadmium 2. Itai Itai

c. Fluorine 3. Minamata

d. Arsenic 4. Black foot disease

LG W6V 1-23 UL IqW6L Il 2 L 63T QMBS S 6D

UL I9W6L | (6T 2-G6euTasLD) UL 1gWwe6v Il (GrpITi)

a. UMSJ&FLD 1. (PLPMEIGTEV T8 FlevorL_ G LD
b. &L dlwib 2. @ LM @Lmul

c. &L1eer il 6ot 3. eoromLLim

d. oy 7Fevll5 4. &([H56V GIHITUI

a2 2 b)3 2 4
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2 3 d2 1 3 4

10. Arrange the following tribal populations in descending order based on their population
size in India:

a) Bhil b) Gond c) Santhal d) Munda

@\ HH WITelleL 2_6TelT LILPMHIG LY 0S5 HTOH TN I 6Memel S| LILIMLILNGS Q& meuor(h LI 6tTeu (HLD

UG uileareny @M eurflensuilev eunflems LI () S Simi &6T:

a) L96v b) @& mevorL_ ) FHhSMT6L d) (pevoTLIT
ajA>B>C>D b)B>A>C>D c)C>A>B>D dD>C>B>A

11. Consider the following statements regarding the Rolling Plan concept:

1. The Rolling Plan was first suggested by Swedish economist Gunnar Myrdal for
developing countries.

2. Unlike the Five-Year Plan model, a Rolling Plan allows continuous revision based on
economic conditions.

3. India adopted the Rolling Plan concept during the Janata Party government in 1978-80.
4. The key drawback of the Rolling Plan was the lack of a fixed timeframe, making long-
term investments uncertain.

Which of the above statements is/are correct?

a) Only 1 and 2 b) Only 2 and 3 c) Only 1, 3, and 4 d) 2, 3, and 4
&LP6L HLLID &S5 S QS TLTLITer LI6etTeu(hLD N &6t &8 6em6rTds & 61601 M5 & 6iT:

1. &1p6L B L LD NS 6T(N G606V 61V6aS19.609 QUITIBETTSITI B1L|60oTT &60Teor T LT TV 6UETIHLD IHT(H) & 6158 S
Ul sIenrSSTy.

2. BH5Mevor® S L & flenw s GUmeueirm, & (H &Lp6L SLL LD QLITIHETITSITY H]606v 6010 & 6rfl 60T

S liLenLullév QSTLITFEFWITET B (1HS S M &% en6T I IINH &R M.

3. 1978-80 QTS &LF 9JFMTHISSS 6T CLMTS @HS WIT &Pl GLL LD &(HSHMS 6HMI&6 & TeuoTL Sl.

4. H1p6L HLLSGH 6T (SR W GemmUT® (5 BlemeuTeT &TeusHa&H @) 6V6evITs S, IF6uoTL. &Teu

WSSO\ &m6T BIEFFWIMMSTES ISR WSI.

GGV 2_6iT6lT Fa M MG 6rflev 6151/ eTemeu Fflwmenrsl/&Flwmeremeu?

a) 1 lnmmId 2 L HGLD b) 2 nmmith 3 DL HIGLD o 1,3 mmib 4 0L HIGLD d) 2, 3 oMb 4

12. Consider the following statements regarding the Aspirational Districts Programme
(ADP) of NITI Aayog:

1. The ranking of aspirational districts is based on 49 key performance indicators across
five thematic areas.

2. The first Delta Ranking for Aspirational Districts was released in June 2018.
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3. The Aspirational Districts Programme (ADP) was launched by Prime Minister Narendra
Modi on January 5, 2018.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
B 2,CWMEHER 6T (N6dTGeTm 69(HLOLLD LOMeUL L MIS&6T GLLLb (ADP) Qg ML FLUmeoT Li6dTeu (LD

1M & 60 & 5 6016118 5561 60T L M1 &5 61T:

1. WLSF\W WmeuLl L miserfler reurflens RbSI &@BLIQLITIH6T Slemmaerileu 49 (n&HE W G1& W 6L S meiT
GM&TLL86rfler 31 LILemLull6L 9femLnrhH Si6TemSl.

2. (petTGeoTm N (HLOL|LD LOMEUL L MB18 @5 & &6 (N6 QLT STeulflens 2018 27O 60T LOMSLD
QeuemMuilL Ll L gI.

3. VLG LomeuL L M6 GILLLb (ADP) &3euteuryl 5, 2018 ojeorml LNTSLOT HCTHS T GLOITLYLIT6V
QEMLBISULLL SI.

CLGev AEMH &S LILILBETET sa M miserflev ergi/eremeu &ifluimeor g/ & ifl Wi meoremeu?

a) 1 nmmILd 2 Ll (HLD b) 2 LnMmMith 3 ()LD ¢ 1wmmib 3 Gl

13. Consider the following indices

1. Composite water management Index

2. School education quality index

3. Index of Krishi Vigyan kendra

4. Agricultural Marketing and Farm Reforms Index

How many of the indices given above are published by Niti Aayog?

a) One Only b) Two Only c) Three Only d) Four Only
etreu(pLd &MIuT®H) & emerTds & 6 6ot L b & 6iT:

1. ga L. BT Coeumevoremin GMIui(

2. ueiterfls sevells 5785 GMIUIGH

3. | e efl&wmet CabHBH T malletr &mMIui@m

4. lleusFmw FHengLILIH S S 6V LDMHMILD LI6toTen 60T TS (5558 &MIui®

CLGev AEMH&&LILIL B 6T 6T ement GMWIUTH &6t FS) SCWMEHS T QeuefludLLILIL B 6iTemeor?

a) 60Tl L0 (LD b) @uevor(h LOL_HIGLD ) eLpeorml DL (HGLD d) BmeoT& L (HGLD

14. With reference to the Green Revolution in India, consider the following statements:

1. The Green Revolution in India was officially introduced during the Third Five-Year Plan
to achieve self-sufficiency in food grain production.

2. High-yielding variety (HYV) seeds, chemical fertilizers, and modern irrigation
techniques were key components of the Green Revolution.

3. The Green Revolution primarily benefited all regions of India equally, leading to

uniform agricultural growth.
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Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
@BHWmellev LFenL UFLSF QaMTLIUNS, LN6Teu(BLD Fa.h Mm% 6em6ITs & 6160l b g 6lT:

1. 2_6vorey Smevfll 2_ MGG uSl6L &e6iTenllemMemnel 3|60 6USMETS CLNGITMITEU S 2155 Mevor(h B L& 6L

@ BB WTellev LGl LS S &TrLLFeulnns M LuU@G SSLIULLgl.

2. 9195 105G 6V S(HLD 6860 & & 6T, [J&FITI60T 2_[JMIG6T M mIh Hefeor BT LILIMTEF6T HIL LIMKISG6T 46 Weneu
Usennl LI Sudledr (1p&6 W Sa MISG6TTS @) (HHS 60T.

3.us&eMOL LILE (nS6Tennwlns @) hHH wmelleir 2j6m6TdH Sl LG H&Eh& G0 FLOMES LWerTerlls s s, @) Sl
Ermer efleuETW aueMTEF &G aUeUGSH S Sl.

GLGev AEBMH & & LILILBHETET sammiGerflev ergi/eremeu &ifluimeor g/ & ifl W meoremeu?

a) 1 MM 2 L (HLD b) 2 LnMMith 3 ()LD c) 1 wmmib 3 I GlLb

15. Consider the following statements:

1. In Public Finance, income is adjusted according to expenditure, whereas in Private
Finance, expenditure is adjusted according to income.

2. The government can borrow from internal and external sources, whereas an individual
cannot borrow from himself.

3. The private sector has the authority to print and regulate currency, similar to the
government.

4. Public Finance focuses on long-term investments like infrastructure and welfare, while
Private Finance is mostly concerned with short-term financial goals.

5. The government has the power to enforce taxation and adjust revenue, whereas
individuals cannot make such large-scale financial decisions.

Which of the statements given above is/are correct?

a) 1, 2, 4, and S only b) 2, 3, and 4 only c) 1, 3, and S only d 1,2, 3,4,and 5
LS etTeU(BLD FaM MG 6MEITE: &6 60T UMb 6iT:

1. QUITE BIHWSHH 6V, euIBLOMeTD QFvelleTmhISEHE S ghU FFlQFLWLILRSH MG, CSHFLWILD SeoflWImy
BIG WS H6v, QF6vea| auBLTarsHMES gnu FFlQswwlLGSRMmSI.

2. QIFFMHEIGLID 26T InMHMID QeuerflLiLm eLn6evki s erfled) (Bl &L60T UITMISEVITD, 9CSHFIWLD @ H &6l HLIT
Seoreuf 1L L0l ((B1H S &L 60T EUITMEIS (LOLGWITSI.

3. eofllMy Slemm STEFMMHEISS MG CLITLECE HTETWS S FFL(H @WRIGSUMSSID SIS HTTEHNS 5
Q& mevoT(h 6TeTSl.

4. QUITE BISHWIDTETS 2 6iT& L LemoLiL] LM miLD HeveirLfl GUImedTm HevoTL. &imev (NS eSH Serfléy &eueorid
QFNGSITMSI, SCHFLWID FeoWM BIG WLIOMETS QUIBLLLUMNID GG W &M BIS @) 6vs &serlev
&EHM G\ & MevoT(H)6TETSI.

5. auflefl B LIemLEF QFWeLLIB S S euBeumenw FFQFWIWID HTFMTHISSH NG B HMTTLD 2 6TeTSI,
SICHFLWILD FeollBLTSH6T G eualiemey QUlw jerelileumer BIG) (LG SHeme6T eT(H&S (PLGWITSI.
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CLGev AEBMH & & LILIL B ETeT sammiserflev 1zl Fiflwmers?

a) 1,2, 4, Inmmib 5 1ol (GILD b) 2, 3, InMHMILD 4 0L_(HILD o) 1,3, mmih 5 0B d) 1,2 3,4, I0mmid 5

16. Consider the following statements regarding Non-Tax Revenue:

1. Non-tax revenue includes income earned by the government from sources other than
taxation.

2. Fees charged for issuing passports and driving licenses fall under non-tax revenue.

3. Non-tax revenue does not include earnings from public sector enterprises.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
aurfl 9I6L6UMS UHEUTU QSITLTLIMTET LIN6TEU(HLD T M MISH6M6TS & 6u 60T WL MHi &5 6iT:

1. aurfl 36LEVITS QUIHEUTLL eT6tTLIS Ul BLIL] 9j6veuS LM eLpeu ki & erfl el (B Sl | [J& ITMHIS S8 T6V
FLLUUGLWD 6u(BLOMersens 2 6TerL &8 W gl.

2. umeruGUMTL LoMmMI L BBT 2-[flL0MkI&eme6T aULpEIG S M (S 6UEeN&HESLILIGILD &L L 6UoT kIS 6T eurfl
Sl6LeuS eu(HeUTUiler GLp 6u(IH S 6dTM 6OT.

3. aurfl ©IELELITS GU(HEUIT 6TETLISI QLIMTSIS SI6mM B M6 60T I & 6l 60T 6UIHEUTEN 2_6TETL & HMS.

CLGov ABMH & & LILIL B ETET Fa M miserflev eTemeu Fiflwimeremeu?

a) 1 InmmiLd 2 Il (HLD b) 2 LnMmmith 3 ()LD c) 1wmmib 3 @Gl d) 1,2, ommib 3

17. Consider the following statements regarding indirect taxes:

1. Indirect taxes cover a larger population than direct taxes.

2. Indirect taxes are progressive in nature, as they impose higher taxes on luxury goods
used by the rich.

3. The collection cost of indirect taxes is low, as traders and retailers collect them on
behalf of the government.

4. Indirect taxes discourage the consumption of harmful goods like tobacco and alcohol.
Which of the above statements are correct?

a) 1 and 2 only b) 1, 3, and 4 only c) 2 and 4 only d) All of the above
LemMP S eul&6T QST TLMET LN6iTeu (LD Fo.h MG M6 & 61601 I & 6T:

1. LeMP & eufl&6T GBI eurflseneT el 9% D& 6T GG Tem & em 2_6TeTL &8 W .

2. nemM (NS auilseT @Wmensulley (LNMBLITEH S ITEITEm6Y, 6 Gl 6uTeul6L 3| 6016U LICUOTE: & ITIY T8 6T
LWeTUMSSIn SLLLUFL QUITIHLEE5E G 5 & eurflsmener 6l S & &) 6ot meor.

3. M NS ufGerleir 6uE 6L QF6VE] (HMMEUTS 2 6TeNl, G euTellel 66t T8 EBLD Flevevemnm
eflMLIEMEUT W TETIT&H @B QI TEFMMEISS B 60T FTTLITS S| auMenm 6UEGeN&HRMTTEHET.

4. LM (NS uNlG6T Ljemaullemeu DM MID LOGILIMETD GUIMTETM §hiG eflemermails (GLD GLIT(HL &6emerT

2 LQ&maTeuemn s g &6 & 8 60T meur.

CLM&H 60T FaM MG erlev ergl Frflwmersi?

Page 8 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

a) 1 wmmid 2 (KD b) 1, 3, DHMILD 4 OL_(HILD
¢) 2 IommIh 4 ol (B d) GLnMFnIIW eMETSSIN

18. Consider the following statements regarding the Goods and Services Tax (GST) in
India:

1. GST is a destination-based tax, meaning the tax revenue is allocated to the state where
the goods or services are consumed.

2. In an intra-state transaction, the entire GST revenue is collected by the Central
Government.

3. Integrated GST (IGST) is collected by the Central Government in inter-state sales, and a
portion is later distributed to the destination state.

4. Under the GST regime, VAT and Central Excise Duty continue to be levied separately on
intra-state sales.

Which of the statements given above are correct?

a) 1 and 3 only b) 1, 2, and 4 only c) 2 and 4 only d) 1, 3, and 4 only
@ HHWmellev Fr& @G WMmMID CFemneu eurfl (GST) QS MLITLIMT6T LIN6iTaU(HLD S MIG606TE & 6L 60T L Mg 6iT:

1. GST eTedTLISI (B CFBLIIL g LiLiemLufleumeor euifl, 315 maug eurfl eu@BeuT QUITIHL&GET 3|60V GI
CFmaUGET BISTLLGLD TEIVSH MG 2S5I55ELLGR M.

2. LOMEBleVREISEHE S @ 6L Guwwimer Lfleufssemneruiley, 1D GST aU@HEUTWLD 0SB W S TFTE

UGN &ESLILGSRMSI.

3. LDMBleVMEIGEHE G @ emLCuwmeor eflMLiemeorullev 6 (HEIG emeuuThg GST (IGST) DG T W S TFTEL

UGN &ESHULGSMSI, CLogIh @(h LGS QUITBET C&FIHL LMHlusHMES eNBICWTSR&ESUILGSMSI.

4. GST 9L Fulletr SBLb, LOMEBleLMEIS EHE S @ 6L Guwimerr eflmHLemerrudlev VAT oM mIlh 0GSH W &Heumev eurfl
QAsTLIHSI 5655 efwms 685 &8 L1 [H 8 6T meor.

GG Q&EMH&SELILLH6TET gammigerflev eTemeu &Frflwimeoremeu?

a) 1 InmmiLd 3 L (HLD b) 1,2, DHMILD 4 L (HLD 0) 2 loMmmIh 4 ()LD d) 1, 3, InmHmILd 4 0L_(HILD

19. Consider the following taxes:

1. Income Tax 2. Goods and Services Tax (GST)

3. Excise Duty 4. Securities Transaction Tax

Which of the above are indirect taxes?

a) 1 and 4 only b) 2 and 3 only c) 1, 2, and 3 only d 1,2, 3,and 4
LSetTeu(hLD 6urflgemends & 6ueutl|mige6iT:

1. eu@pLomeot euifl 2. FJ&G WMHMIDL GFemeu aulfl (GST)

3. &eumev eurfl 4. usH T ufleugssener eurfl

Cumaanlweummley LenmNs auifl&6T eremeu?

a) 1 InmmILD 4 L (HILD b) 2 Lnmmith 3 ()LD o 1,2, mmib 3 in_(HILD d) 1,2, 3, nmHmid 4
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20. With reference to the Central Goods and Services Tax (CGST) and State Goods and

Services Tax (SGST), consider the following statements:
1. CGST is levied on both intra-state and intra-UT supply of goods and services and is
collected by the Central Government.
. SGST is levied only on intra-state supply of goods and services and is collected by the
respective State Government.
. For a particular good or service, the CGST rate may vary from state to state.
. Both CGST and SGST apply together on every intra-state transaction.
Which of the statements given above are correct?
a) 1, 2, and 4 only b) 1 and 3 only c) 2 and 4 only d1,2,3,and 4
LHHW FréEG LMmID CFeneu aulfl (CGST), MBIV &FJ&EG LMMILL CFemeu aulfl (SGST) L&A WeumenmLI
QUITMIGSaien, LNeTeu(Bld I 5608 5 eme6rTd: 86U 6oL Mg 6IT:
1. CGST WLMElVEHMHGET mHMID wellwer LNyCHFSHMGET &FJ&E MMILD C&Femeu s erflesT
AFBICWTEHSH 6L aNH&&ELILGISH MG MM I0SH W TEFTL UEGEO&SEILGIHMmS.
SGST WLMElVEHMGET FIéHE LMMILD CFeameusetlear elPICWMESS6 GG aNH&sSLILGS S
LMHMID S HSHS WOMHIV TEME 6UEGN&ESELILGSMSI.
@@ GOILLNLL QUITIH6T 9j6veusl CFamaIsHE, CGST el&HSID LDMBleVEH MG WOMEBleULD LOMMILILGVITLD.
CGST LoMmilh SGST @ Jeor(HILD 6UQUT(H LMHlVHB MG 6T LUfleursseneTulleulh 660TmMTELI
QUTBHSILD.
GG QASMTH&HLILIL G 6TET S nl&engserfle eTemeu &ifllmeoTemneu?

a) 1,2, lnmmith 4 10l b) 1 Lommith 3 ()LD ¢) 2 IoMmMID 4 10D d) 1,2 3, nmHmid 4

21. Assertion (a): The 15th Finance Commission recommended that the tax devolution to
states be reduced from 42% to 41%.

Reason (R): The reduction in tax devolution was to account for the creation of the Union
Territory of Jammu and Kashmir after the abrogation of Article 370.

a) Both A and R are true, and R is the correct explanation of a)

b) Both A and R are true, but R is not the correct explanation of a)

c) A is true, but R is false.

d) A is false, but R is true.

FaMml (a): 156U B1S) S1,6M600TWILD LOITIH6VMEIS 58 & TeoT aulflll LS Temeu 42% @69 (BIH S 41% 3158
&S UlhSIOTSS5S).

gmyevorid (R): eurfll LG Fellev UL L GemmLiL, Kfley 370 &8 QeFWwWLILLL MG QW S&TaqLST
wenflwetr LNFCHFID 2 (HeuMSSLILIH6US MGG SITTETONS 3 60LhS Sl.

a) A InMHmILd R @ revor(b &ifl, GLosild R eTedTLIG A @)edr Fifluimeot eflemdasLnm@G L.

b) A lnMHMILh R @ Fevor(hD &1fl, 160TM6eV R eTedT LIS A @)60T FiflulmenTr aleng:s5Ln606v.

o) A eTedTLIG &If], 9L60TIT6V R 6TETLIGI &6 MIT60TS).
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d) A 6TEITLISI SaUMITETSI, 24,6076V R eTedTLIG! &ifl.

22. With reference to the fiscal relationship between the Union and the states in India,
consider the following statements:
1. The Government of India Act, 1935 introduced the concept of provincial autonomy and
revenue sharing between the Centre and provinces.
. The Indian Constitution assigns fiscal powers to the Union and state governments
through the Seventh Schedule.
. The Finance Commission is a permanent constitutional body responsible for
determining the distribution of tax revenues between the Centre and states.
. The introduction of the Goods and Services Tax (GST) in 2017 replaced both direct and
indirect taxes levied by the Union and states.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 1, 2, and 3 only c) 2 and 4 only d 1, 2,3,and 4
@ HHWTeeL GH W S|J&HEEGSD WOMHlUEISEHSEGWD @ enLuieumsr BIS 2 menalll QUITMIS ST,
LetTeu(BLD M5 605 56Mm6TE & 6L 60T L MBI S 6iT:
1. @hHW 3 I&F FLLID, 1935, IDMSTEOT &WTLE) I0MHMID 0SS W MMILD LOMSTE0T IS EHSE @) 6L Gl
UBEUT LIS T 6T6dTm H(HSHeMS M UWSLILIGSH W S.
2. QHHW TR WevemDLIL] MU S|LL6UEMETT LRGN GG W M MILD OMHIV S T&HSEEHSES B
S|HSMJREIGHMET QULPHEIGHMSI.
3. B SL6M6TTWID TeTLISI SHHW ST&HEGSLD DMTBlVHBISEHSHGIW @ enLulleumeor eurfl eueumudlesr
aplewnsgeang GFmells G @ BITHST SFFWaaLiL] emLILIMEGLD.
4. 2017 @6V Fr&G WLMHMID CFeneu aulfl (Blerervly) AMWPSLULGSSLILLL S, IDGSGH W oM mIDh
LOTBleVBISETTeL NS &SELILGLWD GBI MM MU ST @ FaTenL Wb WrHalwg.
GG A&EMTH&SELILL B 6TeT nsamaseaflev ergl Fiflwmers?

a) 1 lnmmiLd 2 (LD b) 1,2, nmHmILd 3 0L_(HILD ¢) 2 IoMMID 4 10 (HILD d) 1,2 3, nHmin

23. Consider the following statements regarding land usage in Tamil Nadu:
. Nearly one-third of Tamil Nadu's total land area is used for agriculture.
. The proportion of forest area is almost equal to the land used for non-agricultural
purposes.
. Barren and fallow lands together account for more than one-fourth of the total land
area.
4. The extent of cropping land remains constant every year, irrespective of rainfall.
Which of the statements given above are correct?
a) 1 and 2 only b) 1, 2, and 3 only c) 2 and 4 only d) 1, 3, and 4 only
SOLDBHTL L6V Blev LWeTUM® QS TLFUmeor LetTau(hLD i) & 60 &S em6rTs: & 6u 601U 618 6iT:
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1. OIDBITLI9.60T QDTS S HlevILTLILN6L BLLSSL L eLneiTmev e LIS eNeusFTlsHMesmesLl
LWeTUR SSRGS mSl.

2. auerTLIL G B Ul etT e &G0 efleuF MWD S VVTS CHTEHHMEISEHS TS LIWaTUGSSLILG LD BlevsHMmHES
FLLSSL L FIOIOMG 2 6TeMTSl.

3. 5fl& FBlevmIGEHL QLTSS HlevLILIFLILS6L HTETER L @hH LRI MGLD 3B &IDMS 2 6T6Teur.

4. vePUAUTSemeuLl QUTBL UGS ST, LUNF Blevs B 6T 3|6me 6UG6UT(IH O4600T(HLD LOTMITLO6
@\(H& (SLD.

GG QEMTH &S LILIL B 6Tem M & enss6rlev eTemeu FIlwimeoTeneu?

a) 1 LMmILD 2 L (BID b) 1,2, LbMHMILD 3 WL (HILD €) 2 LnMHMID 4 L (LD d) 1,3, Lommild 4 DL (BILD

24. Consider the following statements regarding India's Agricultural Policy:

1. The Agricultural Policy of 2018 focused on promoting the export of agricultural goods
by removing export restrictions on most organic and processed agricultural products.

. One of the objectives of India's Agricultural Policy is to increase per hectare value-
added by improving agricultural productivity.

. The policy discourages the use of modern technology in agricultural operations to
protect traditional farming practices.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

@ BB Wmelleir eSleusF Mg Q&MeTens QGITLTLIMET LN6TeU (LD T MISHEN6ITS & 61601 WL i & 6T:

1. 2018 QYLD S,600TLq.60T CEUEITITEOOT Q& MeiTem &, QLIHLOLIMTEVTeT &ifln LMHMID USLUILUGSSLILILL
afleusmwll QuUT@pLSerfler gHmILNG &L BLLTH &eneT 58 @ 6ug 6T eLneuld efleus MLl QLI L & erfl6or
JH MG em 2a18 (SN LILIGH 6L &HeUeTD QF IS H W SI.
aleusmw 2. MuUGH ST mener GLOLLI{H S S16US 60T eLneuld Qam&CL(H5HE LOBLIL| Fal L 606V
B SFILCH @)\ h S W melleir GeuerTmTeuoT Q18 MeiTen & UdletT CIhITE: &M 6rfleL 6 6TMMEGLD.
uryburlu efleusFmw (NenmM& 6Tl LIMSISTHES alleusF Tl HLaUL.856m 88566 meaier
QaMHlBILLSmGL LWaTLBO S S euens @\HHo Q& TaTans 20188 L1110 S 56U S 6L 6m6v.

GG QEMH&SLILLB6TET Sammiserflev 615l Fflwmergi?

a) 1 lmmild 2 10 (HLD b) 2 lnmmith 3 L (HILD ©) 1 MmmIh 3 L HILD d) 1,2, InMmoiLh 3

25. Assertion (a): Rural unemployment in India is largely caused by disguised and seasonal
unemployment, leading to underemployment and financial instability.

Reason (R): The agriculture sector in India is highly dependent on monsoons and seasonal
cycles, creating periods of labor shortages and surpluses throughout the year.

Which of the following is correct?

a) Both A and R are true, and R is the correct explanation of a)

b) Both A and R are true, but R is NOT the correct explanation of a)
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c) A is true, but R is false.

d) A is false, but R is true.

Fammi (a): @B wWmeiley GFmoLiLm CeusmeuulleiTemnio QLI(BLOLITSYILD D6 M(LN& LM MILD LIIH6USTE
GouemeuuileiremoWw mev gHLGESB MS, @) 5! Cousmevulleitemio LOMHMILD BIS 2 MG W MHM &6TeMLOE (&
aufleu &R M.

&Tyeorid (R): @S wmellev efleusmws Slemm LI(HeUnenL LoMHMILD LIHeUs&Te &HIpMF Hemel 3 H &L
FMJHSI6Tengl, @ &60TTeV 4,600T(H (N (LeUGID QASMSeumeTT LIMHMTSHEGemMm WM MIWD 2 LNl &Teuk &eir
2_(156u TS 60T M6oT.

L9l edT6u (B 6ueoTEUM M 6L TSI &FflWITeuTSI?

a) A LnMmmILd R @esor(hLd &ifl, R eteoTLIg A @)eor SFifluiment afleng &1,

b) A LnMHmMIh R @Tesor(GIh &Fifl, 46076V R eTadT LIS A @)6dT Siflulment elemgasLn 60V6v.

0) A aTedTLIG &If], 9L60TIT6V R 6TEOTLIS! Seuml.

d) A eTETLISI S56UmI, SL60TTeV R eTedTLIG! &If.

26. The National Agricultural Policy of 2000 aimed at:

1. Achieving 4% agricultural growth per annum.

2. Allowing private investment in agriculture.

3. Implementing price protection for farmers.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only ¢) 1 and 3 only d1,2,and 3
2000 9LLD 21,600TL9.60T G FIW GoUGTITEUOT Q& TETemss LI 6oreu (HeuetreuMMI6L eTems CHTEHSHINMS S
Q& TevoT(H 6TETS1:

1. LT[R &G 4% 6SleusF MW eUETTEF enW 3|60L56V.

2. alleuFmwsi e seoflWmy (PGS enl I F &5 60.

3. aleurmuisEns s aflemeu LMSISTLML QFWeLI(H S SIH6.

GG QEMH&SLILLB6TET Sammiserflev 615l Fflwmergi?

a) 1 lnmmILd 2 L (HLD b) 2 Lnmmith 3 ()LD c) 1 wmmib 3 @G d) 1,2, lnmmib 3

27. With reference to Pradhan Mantri Ujjwala Yojana (PMUY), consider the following
statements:
. It provides free LPG connections to households below the poverty line.
. Financial assistance is given for the purchase of the first LPG refill and stove.
. The scheme was launched in 2016 to reduce indoor air pollution and promote women’s
health.
Which of the statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
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WKogmer LS N 2_Beumeur Guwimegeorm (PMUY) LML CLgem&ullev, LN 6tTeu(HLD M) & 608 8 6m6Ts
55611601 WL M1 & 61T:

1. umIenng CHMLIY MG BB 2 dTem afH&HEHEHES @) B 6VeusF LPG @) 601600TLIL|&6M6IT 6ULDMEIG B M SI.

2. 1056V LPG BITLILS6L LM mIb GHILIY eUMfGalsn S BIS 256 eupnhs LGB mSI.

3.2 LM MMM LT&HUTLOLE GeMMLILSMHEGSLD QL6erserfler oL8rmes wgSeams GBS SeusmE&SLD
@hS5S5 SLL LD 2016 @6V QST MBS LILILLSI.

THh S M &S G 6T FflmeTeneu?

a) 1 lMmILd 2 L (BID b) 2 LnMMID 3 L (LD ¢ 1 mmib 3 LG d) 1,2, Lommild 3

28. With reference to rural employment programmes in India, consider the following

statements:

1. The Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS) was
launched by the Government of India in 2005 to provide 100 days of guaranteed wage
employment.

. Swarna Jayanti Gram Swarozgar Yojana (SGSY), a self-employment programme, was
subsumed under the National Rural Livelihood Mission (NRLM) in 2011.

. Both MGNREGS and NRLM emphasize promoting skill development and sustainable
rural livelihoods.

Which of the statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

@B Wmellev S muliLm CalemevaumlLiLg S LMIS6TL QUITMSSaleny, L9 6oTeu (L

31091 & 60185 5 60 61T &5 61 6011 WL MBI &5 6T:

1. LBEMTHLT HTHS CHFW K FmoLiLim CalmevaumuiliL] 2 5T6uT5S S LD (MGNREGS) 2005 3110

31,600T(H @\HBW {TFTL 100 [HITLGET 2 58 JeUTSHLOMeIT Gauemeval TUILIemL aULDMEIG S M & TS

QBMLBISLULLL I

2. HWQSTH6L B LLOT6OT 6rueuTeoor QW hS) G FTD 6rueUGTTerVE T GUITEETT (SGSY), 2011 JuLb 3u,600T(H

CHF W Kyl m eumpeunsmys S LSS 6T (NRLM) GLb @) 6mevord s LILIL L Gl.

3. MGNREGS oM milh NRLM @\ getor(hlLb Smetr Gobuim(® WM mILD Blemeuw meor S FmoLliL|m

GUTLDEUMS T IS em6T GLLI(H S SleUuens 6u6d W mis 516 60T m6or.

S M &ams Fflwmersi?

a) 1 lnmmid 2 (Kb b) 2 LnMmmith 3 ()LD c) 1 wmmib 3 1@l d) 1,2, ommib 3

29. With reference to the National Health Mission (NHM), consider the following

statements:

1. It was launched in 2013, integrating both the National Rural Health Mission (NRHM)
and National Urban Health Mission (NUHM).

2. It focuses on strengthening healthcare infrastructure in urban and rural areas.

Page 14 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

3. NHM has provisions for immunization of children under Mission Indradhanush.
Which of the statements is/are correct?

a) 1 only b) 2 and 3 only c) 1 and 2 only d1,2,and 3
CHFAW &HMHTIS HL LD (NHM) QSTLFUNS, LN6TeuBHLD N8 en a8 emerrs: & 66T U] b 6iT:

1. @5l 2013 @6V ASTLEBISGLILULL S, CSFW Krmuliym &&M5TrsS S LD (NRHM) whHmib G5 w
BE&ETLILM &HTSTIS H L LD (NUHM) @) JetoTemL LD 6 (I Gl 5 601600TS & S1.

2. @& BSFLULM oMmIb SrmulLmiigefley H&ETSHTT 2-6Ta L LenlnLienl eusyILILI( & SleuH 6y &euerrid
QFESS5I RS

3. NHM @8 151604 HLLSS6r Elb GLHenssErsE CHTUISS 0B GHS! 6ULN MR G 6uS M & mer
FHUMT(H &Hem6Ts 68 mevor (b 6iTemsl.

THhs SM&Eems Fiflwmerg ?

a) 1 L (LD b) 2 LbMMID 3 L (LD c) 1 wmmIb 2 LG d) 1,2, Lommi 3

30. Consider the following statements regarding the PM Dhan Dhanya Krishi Yojana:
1. It aims to improve agricultural productivity in 100 identified districts characterized by
low productivity, moderate crop intensity, and below-average credit availability.
. The scheme will be funded entirely through a newly created dedicated fund within the
Ministry of Agriculture and Farmers' Welfare.
. A key focus is on promoting advanced farming techniques, including precision and
climate-based agriculture, to enhance productivity.
Which of the above statements is/are correct?
a) 1 and 3 only b) 2 only c)1,2,and 3 d) 3 only
Kosw wHH K] serwm sfladl CUTReTT QGILITLTeT LI6iTeu(HLD 2|8 608 5 6m6Ts & 616011 Mg 6T:
1. GeOMBES 2 MUSS SBMeir, WgLmeor LU T eueTTESR WnmmIb & meErlsGLD &6 meuTeor &L 60T
60L& (GLD H6TenLD Q&TeooTL. 100 S]60)LWIITETLD &Mevor LILIL L omeuL L kg erflév efleusmuw
2 MUSHSHmemer CLILIMSSIUECSH @) 60T GHTHSLOMESLD.
2. GeuermevoTemLn LM MILD 6SleuF MUl G 6T HeL S MDFFSHSH MG 6T LT STSH 2 (HheumssLILLL @@ LNrsCws
BIS eevld @ H5S HLLSHMHGS (PWenw s BlH werflssLIL@ILD.
3. 2.MUSHSHMmener CLILLIMKSSIUSMNETS S6VedWLD LDMHMILD HMeuFHlenew FMJHS efeusFmwid 2 6TerflL
CUULL efleu&F T HBILLIMIGmeT 2618 @GalLLGH 60 (N&GH W SHeuerld QFSHSLILGSRMS!.
Cumaanlw Fammisefley g FRlwmersi?
a) 1 mmid 3 MWD b) 2 (M o) 1,2, mmin 3 d) 3 L (b

31. Arrange based on HDI Index of Tamil Nadu(2017)
1. Kanyakumari 2. Thoothukudi 3. Chennai 4. Ariyalur 5. Villupuram
SOLDBTL 19667 HDI G Uil 1g.60T i LiLemLufl6v euiflem &LI® & i mbi & 6iT
1. setreoflwm@ Lo 2. 1551519 3. Q& 6T6mI 60T 4. syflusyny 5. el
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a)1-3-2-4-5 b) 3- 2-4-5-1 c)2-3-1-4-5 d) 1- 2- 3- 5- 4

32. Arrange in Chronological Order

1. Hindu Religious Endowment Board 2. Public Service Commission
3. Communal GO 4. Staff Selection Board
smevauflen& g eurflensLLI () S Simi &6l

1. @H & FoWw MESLLeme6T eumifluib 2. 9|7 LIGUOT I WITETIT S4,60)600TLILD
3. UG LILJ6UITS 3| [J&T6D)6GU0T 4. uevoflwimery G5 ey eurlwib

a)1-2- 4-3 b)1-3-2-4 c)3-4-1-2 d3-2-4-1

33. Identify the Incorrect Pair (based on 2017-18 report)

a) Top District in Food Security Index - Thiruvarur

b) Top District in child development Index Kanya kumari

¢) Top District in Multi -Dimensional Poverty Index Dharmapuri

d) Top District in Gender inequality index - Nilgiris

SEUMITEUT () 60)600T60 L | 6MLLLITEITLD & TevoTeyLd (2017-18 9Infl S em & ul6tr 2j1q LILIemLul6v)
a) 2_eooTe) Ll LIMSISMUL GMIufL196) (n&H6V mell L LD - FBeUTeBHT

b) GBS aUeTIFH GMIUT 1960 (LNS6V DMeUL L LD SHeoreo WM& Lomif]

c) uev uflinmesor aumienn GMIuT 1960 (LNG6V OMeUL L LD ST

d) umederr &g siallerenin GmIuTl 1960 NGV DmeIL L LD B & i

34. Arrange in chronological order

1.President of Tamilnadu Congress committee 2. Erode Plan

3.Vaikom Satyagraha 4. Starting Tamil weekly Kudiarasu
smevalflensliLg eurflengl LM G Sk & 6T

1. s BI@H SRS TV SO LY Seneueally 2. 7FGrm(® HLLLb

3. MaUGSID FEHEHWTH TSI 4. GL9.|T& eT6dTM SO UMY @\ SLD G G ITL MG 86V
a)l-3-4-2 b)1-3-2-4 c)2-4-3-1 d3-2-4-1

35. Consider the following statements about Ramalinga Swamigal

Statement I: Ramalinga Swamigal's poems conveyed progressive thoughts, challenging
bigotry and irrational beliefs.
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Statement II: His work, Thiruvarutpa, faced criticism from orthodox Saivites, including
the Sri Lankan reformer Arumuga Navalar.

Which of the above statements is/are incorrect?

a) 1 only b) 2 only c) Both 1 and 2 d) None of the above
Fredinkis seumdlgener LMW LNeiTauIBLD SaM Mg en6Ts & 6w 6vT] U] Mg 6T

Fammil I: pedns Geurmilserfleir &e6lems &6t (MHECLITE & TeT &F\IH & 6060TE: M6 Q auerf1LILI(h & B) 6o,
&R LMHMID LGSSMeumm HLOLI & 60 & 5 eme6T Feumey G & LG 6uT.

Fammi ll: 3j6euTsl LIemL LILITET S (HeU(BL LT, @6unkiens ETS (55 S56UTSH o MI(NSG [HTeUeVT 2 LLIL
Lryeu en&FeursserflL LS (BH S 651078 60T I & emer 6f &) TG & T6voT LS.

GLOM&6T0TL. S M MIG 66V 6TS1 & 6EUMTETSI?

a) 1 (b b) 2 (LD c) 1 mmilh 2 @ revor(hLd d) GLOM & 600TL 6TSI6|LD @)6V6em6V

36. Consider the following statements:

1. Tamil Nadu’s Infant Mortality Rate (IMR) is 17 per 1000 live births, which is half the
national average of 34 as per NITI Aayog.

2. Tamil Nadu ranks second among Indian states in Maternal Mortality Ratio (MMR), with
an MMR of 79.

3. Tamil Nadu’s urbanization rate is 48.4%, which is higher than the national average of
31.5%.

4. As of 2023, Tamil Nadu has been recognized as the best state for achieving Sustainable
Development Goal (SDG) targets for health.

Which of the above statements is/are correct?

a) 1, 2, and 3 only b) 1 and 3 only c) 2, 3, and 4 only d) 1, 3, and 4 only
L 6dTeU(HLD SnM MIS60I16TE &5 6L 60T UL Ml & 6iT:

1. AP BITLI9.60T GLHens @mLiL] eSl& gL (IMR) 1000 2_uSl@eTeT LNMLIL&HEHEES 17 3485 2 6TaMgl, @) ! IS
SLCWITEH 6T LG G5 W Frmarflwimer 34 @6 LIMTE) 3,GLD.

2. GUMIG ML HTWINMTTSET @MUL NS5 T 6L @HH W LnmBlevkisGeafley SLDBITH @) TeuoTLTeug @) L& 56V
2 _eiTergl.

3. ODBITLLG.60T (S TOWINME S NS SLD 48.4% LG, @& C5A W srymarflwmer 31.5% 3 el

9B &OMEGLD.

4.2023 gulb 31,600T(H BleLEUTLILIL, &&TSTIS G MG T [H6016VWITET 6U6TTESF @) 6V8 (&8 emerT (SDG)
SlMLeUGMETeT FA\MHS LOMHleVINTs SLDBHTEH kG886 LLL D 6TeTsl.

GLOB6v 2_6iTelT Fa MG 6rflev eTemeu &iflWimeoremeu?

a) 1,2 lommith 3 (D b) 1 Lommith 3 ()LD 0 2,3 Mmmid 4 L_HILD d) 1,3 lnmmib 4 ol_(piLh

37. With reference to Tamil Nadu’s industrial parks and estates, consider the following

statements:
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1. Tamil Nadu has around 110 industrial parks/estates with developed plots and
supporting infrastructure.

2. TICEL Park is specifically promoted for the biotechnology industry.

3. Rubber Park in Tamil Nadu focuses on the production of synthetic rubber and latex-
based products.

4. ELCOT IT Park located in Coimbatore caters to the textile industry.

Which of the above statements is/are correct?

a) 1, 2, and 3 only b) 1 and 3 only c) 1, 2, and 4 only d1,2,3,and 4
SOIDBITL 96T QST MHLLBISTHSET M ML ASTHMCULMLSmETL QLM S5 eueny, LIl6iTeu(pLd
() M1 5601618 & 6L 6011 L MBI &5 6T:

1.5 BTLIG60 &KWMT 110 ASTHSIenm LLMBISTE 6T / LML &6T 6UETTHS L06060TS 6T L0 MH MILD 5160 600T
2 618 L L60LOLIL]| & (65 L60T 2_6IT6IT6uT.

2. OL&FG LIMTHS GMILILITEG LCWTQLGTTVY Q&M &HaHTS 2018 Gells s LGS mS.

3. OIDBITL Q60 2 6T6T FLILT LLBIST QFWMHens FLILT IDMMID Ceul L &6 &FTiHe SWTHlLL &emner

2 MUGH) QFIG 6 HeUeTd QFNGSIHMSI.

4. G mwbL S S&Nfl6v 9emLofh Si6iTem ELCOT S86u60 QS MSILEIL LI LEIST 26y6fls Qg mslenev LLTSHS)
QFEWRMSEI.

GLOB6v 2_6iT6IT FaM MG 6erflev eTemeu &iflWimeoTemeu?

a) 1,2 lomoild 3 oL (LD b) 1 LnmmIth 3 L (HILD 0 1,2 mmin 4 L_HILD d) 1,2, 3 WmHmin 4

38. Assertion (A): The Tamil Nadu government unanimously passed a bill for horizontal
quota in state medical colleges in the state assembly on September 15, 2020.
Reason (R): The bill was passed based on the recommendations submitted by the
commission headed by retired judge P. Kalaiyarasan.

a) Both A and R are true, and R is the correct explanation of (a)

b) Both A and R are true, but R is not the correct explanation of (a)

c) A is true, but R is false.

d) A is false, but R is true

oMl (A)SODLBTH T&H QFLILDLIT 15, 2020 {60TMI LOTBl6V FLLIDETMS S 6L IDMEBI6V O ([H S SI6udH
saniflsefe GenLnl L @815E0 LCFTSHTem6 (HLO6TS TS HlemmGeumnlwi .

&myerid (R): eleyQumm BH LS L9). SsemeuwpFeir HenevenlouileumeT Sy, emeuoTwilhd FOFLILNSS
urfibslenrserler 9 luemnLulléy @Hs LEFIST HlenmmECeuMMLILILL SI.

a) A lnmmIld R @uesor(Hid &ifl, GLosyiln R eTedTLIG A @)6dT Fifliment eflemdasLnmE L.

b) A LnMMIh R @ Tevor(hild &ifl, 1,60TMeL R eTedTLIGI A @ 60T Fiflimeot eflemd: oD 3(606v.

) A eTatTLIG &, 9L60TIT6V R 6TEITLISI &6UMITEOTSI.

d) A 6T6ITLISI SaUMITETSI, 24,6076V R 6TedTLIG! &Ifl
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39. Assertion (A): The Supreme Court, in the Indra Sawhney case, upheld reservations for
OBCs but imposed a 50% ceiling on total reservations.

Reason (R): The 93rd Constitution Amendment Act, 2005, was introduced to nullify the
Supreme Court's ruling in the Indra Sawhney case and extend reservations to private
educational institutions.

a) Both A and R are true, and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A

c) A is true, but R is false.

d) A is false, but R is true

Fammi (a): QHSTT Fammeo] aup&EH 6L 2 &&F BHIaTMLD, .19.9).55 @586 Ter @)L 515G 6mL 2 mIG)
QAFWIS S, SL60TTEL QOMHS B\ LR S5IHTHL 196V 50% 2 FFeurlbenLl NS5 5 8l.

&Tyewrid (R): @B TT Fammeol] eulp&&eL 2 &8 BHW6TMS S 6T LU J&5S Q&FWIWeaD, Seoflwmy
&euell Bl MIaI6TRISEHEGD @ LeSISSELaL elifleyL®ss6b 936ug TF WevenoliL] H(HHS5EF FLLID,
2005 S|P SLUUGSSLILILLGI.

a) A lnMmmILd R @uevor(mib &Fifl, Gosyild R etadTLIG A @6t Fiflwiment eflemgssin.

b) A lnMHmMID R @ TesorGID &Fifl, Qu,60TTev R eTadT LIS A @)6dT SFiflulmest elemgsasLh 606v.

c) A eTatTLIGI &, 94,6016V R 6TEITLIGI &6UMITEOTS.

d) A eTETLIS! S6UMITETS, L60TT6V R eTadTLIS! &l

40. Which of the following is/are the objectives of the Makkalai Thedi Maruthuvam

scheme?

I. Reaching healthcare to the unreached.

II. Allow residents to access health services while they are at home.

III. Bridging the gap in the treatment of noncommunicable diseases.

IV. Bridge the gap between hospitals and the people.

Which of the statements given above are incorrect?

a) III and IV only b) I, IT and IV only c) I, II and III only d) None of the above
L9 6dreu(HeustTeu MM 6L D& S emeT CHLY LD([HS SIaULD B L& B 60T CHITE: S LIS 6T eTen6u?

L. &H&ETHTT CFemel R eOLEHTSHUTHEHEE F&HTHITT CFen6Us:em 6T 6ULDMHI(S 56V,

Il. U GLILTETTS6T L1960 @) (HHGWCLNSI HETHTT CFeMEUHMET VIS 00 SH560.

. Q& TH M 6V6VITE GIBITUISEHE & TeT F1FEFeanaFuilev 2 6Tem @ 6L eueflenud &emnme Se6v.

IV. LO(H & S161L06M 60T EH & (S0 0G5S 6 & GLD @) 6L ulleumer @) 6L G eueflenls &M e60.

GGV QAEHMH & & LILIL (HETET Fa ) MIG 61160 6T6M6U & 61 M ITEOTEM6U?

a) lll ommid IV L (GILD b) I, Il bHMID IV DL (HLD

oI, oo I Wb d) Gumaanlweummlev ergia|Lilevemey

Page 19 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

41. Consider the following statements regarding the Samathuvapuram Scheme and
identify the correct ones:
. The first Samathuvapuram was inaugurated in Madurai district in the year 1997.
. The housing allocation in Samathuvapuram is 50% to SC, 25% to BC, 15% to MBC, and
10% to other communities.
. The scheme was launched during the tenure of Chief Minister M. Karunanidhi.
. Community facilities such as a common burial ground and a community hall are part of
every Samathuvapuram to promote social harmony.
a) 1, 3, and 4 only b) 1 and 2 only c) 2 and 3 only d) All the above
FOGsIQLTL SHLLID QG TLFUTeT L6Teu(HLD FaM MG eme6Ts &(HH S 60 Q& mevor® & lw meoTeumenm
3|60 WITEITLD &IT6U0TEYLD:
1.0 S6V FLOG GIaUL|TLD 1997 9LlD SL600T(H LD GIEMT LML L &H6L HMEHHLILILL SI.
2.5105 516U T5H 60 i HeusFs) 5IEHBH 50% SC, 25% BC, 15% MBC LommIb LM FeN&EBISGEFHEG 10% I, GLD.
3.@\655 GLLLD (NSH6VENIDFET (0.8 (H6UoT THIG UGN 6T oL F& HMVSH L QML MBS LILLLSI.
4. FeNS HVEEUITESSHMS GUILIHSSIUSMHTS R6UQTIH FLOSSIAILTSH NI QUTsIeUTsr @H&TH
LM MILD FeLNss L06ToTLLILD GLITEITM FeLNss 6UES) &6iT 2 6ITemeoT.
a) 1,3, nMMILD 4 L (LD b) 1 LMMID 2 ()LD
¢) 2 lnmoIh 3 LD d) GLM T S|eETSHSILD

42. Assertion (a): The AGAMT-II scheme ensures that all village panchayats in Tamil Nadu
receive infrastructural development within a five-year period.
Reason (R): The scheme selects approximately 20% of village panchayats annually and
provides funding based on infrastructure gaps identified through comprehensive
habitation surveys.
a) Both A and R are true, and R is the correct explanation of a)
b) Both A and R are true, but R is not the correct explanation of a)
c) A is true, but R is false.
d) A is false, but R is true.
FaMml (a): AGAMT-Il G LD SLALDBITLLG6D 2_6T6T | 6m6etTd & ST LIEHF T S SIS E5LD 8hS!
1,650T(H) & €15 & (S 6T 2_6T&H L LemloLiL] CLUMLenLL QLMIUmMS 2 MG QFWURMS!.
&myevorid (R): @\hSS G LD ,600T(HCHMTMID CHMFTWIOTS 20% STITLD LIEHEFTW S 515606
CaIHASBH S, elifleurmeor &L uiBLiL] OLUIESH6T CLNEVID S{EMLLITETLD &TEuTLILIL L 2 6T& L LemLDLIL]
@ enLQeuerflgerfler 9y1qLiLiemLulleL BIH W e eulpmiGH M.
a) A LnmmILd R @ pevor(Hb &Fifl, GLosyild R eTedTLIG A @)edr Fifluiment eNlemd &0 m@GLD.
b) A LnMMIh R @ Tevor(ILd &Fifl, 1,60TM6L R eTadTLIG A @ 60T Fflimeot eflemda1D 21606v.
c) A eTedTLIG &If], 9L60TIT6V R 6TETLIGI &6 MITETS.
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d) A 6TEITLISI SaUMITETSI, 24,6076V R 6TedTLIG! &Il

43. Find out the incorrectly matched pairs (schemes and their inaugurated places)
a) Chief Minister’s Breakfast Scheme (2022) - Simmakal, Madurai

b) Illam Thedi Kalvi (2021) - Mudaliarkuppam, Villupuram

¢) Nammai Kakkum 48 (2021) - Melmaruvathur

d) Makkalai thedi Marudhuvam (2021) - Alinjivakkam, Tiruvallur district
SUMTSL QLITIHHSH W ©) 6060078601618 & 600TL MWD (S)L.LMIG6T oM mID eummlesr Sleuds L L
B)\LM156T)

a) (NHVEMLDFF 60T STeney 2_6ooTe S HILL LD (2022) FIDINGG6V, LDGIEMT

b) @eveuld Gslq Ssevedl (2021) WHOWTIGLILLD, el Tl

¢) BLOEMLN &HITHHGLD 48 (2021) GLELLD(HEUS ST

d) D& &emeT CHLY. D[S SIeULD (2021) e F TS0, H([HEU6TesHT DMaL L LD

44. With reference to the Mid-day Meal Scheme in Tamil Nadu, consider the following
statements:
1. The scheme was officially implemented across Tamil Nadu in 1956 by N.d)
Sundaravadivelu, who was the Director of Public Instruction.
. The idea of the mid-day meal scheme originated in 1920 with P. Theagaraya Chetty
when he introduced it in a school in Madurai.
. The scheme aimed at increasing student enrollment and reducing dropout rates in
schools.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d1,2,and 3
SONBHTLIG60 LLHW 2 60oTeYs HILLID QFTLTLNS BLDEGSHE00TL Fa D) 15 606ITE & 6160 L HI& 6iT:
1. @5HLLLID 1956 QYLD 31,600TI46V SN SLD (PEPEUGID QUNTSIS SHevell @ WEGSBHITS @\ (BHS
6TEUT.19.. &+ [H & [T6ULL. GEUSYIGUITEL BB SGTTLILLTULNMS QFWLGSSLILLL SI.
2. HW 2 6uTeys G LSH 60T CUITEFeneor 1920 41D 1,600TL4.60 L. S MTSFTW Q&FLLY. 6T60TLIGUITT6V
W glemyuilev 2 6iTeT e L6aTeflufiéb MW SLULGSSLILILLCUTSI G medrnilw gi.
3. @5 HLLID nmewTeuj CFISHam&HmW B SFLILG Inmmib UeTeflseflev @enLBlHmev eSS 55 s &
GoMLILImg CHTH&INNSHE C&T6uoTL Sl
GG QEHMH & & LILIL (BTN Fan M6l ergil/eremeu &iflwimeorsl/&iflWimeoremneu?

a) 1 lnmmiLd 2 (LD b) 1 (oMmmith 3 oGl c) 2 InMmmIh 3 I (HILD d) 1,2 lommib 3

45. With reference to the welfare schemes introduced during Bakthavachalam’s regime,

consider the following statements:
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. The "Triple Vaccine Scheme" launched in 1964 aimed at protecting children against
diphtheria, tetanus, and pertussis.
. The "School Medical Inspection Programme" was introduced to ensure periodic health
check-ups for students in Tamil Nadu schools.
. The "Seed Multiplication Scheme" was launched in 1963 to address food shortages by
promoting the use of high-yielding paddy varieties.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 2 and 3 only c)1,2,and 3 d) 1 only
USSHUFFMS B 6T L Aulleh 9MWsLLMSSLILILL HOVSHLLEISET G0 S5 S BLDESH60TL oM MiS5em6Ts
55611601 LL| M1 &5 61T:
1. Q&ITEUOTENL. 3|60)LLILITGOT, GIL.L_L60T6IV LM MILD 885 (& 6UIT6T @)(HLO6VL 3,83 Wl 6u 6l (5 1H S
GLPHMSHEMETLI LITSHISTLILMS CHTHEMSHS Q& meurL "1q.0196T G LILE SLLLD" 1964 @) 6L
QEMLBISULLL SI.
2. sUlps udTeflsmerfley Ludlspib DMeTEUTS EHE S GSMILILNLL &mev @enL @ euerfluilev 2 L6v LIflC&Ts ement
QFleueamg 2 MIF QFWasSMH&Ts "Ldrel nBSSIeu Sy Wieysd HLLID" M WsLIUBSSLILLLSI.
3. P& & E:6 SHLD CH6V 66N & 86160 LIW6OTLITL 0L 268 (G el L1 & 60T eLp6uLD 2 6u0Tey Ll
LUHMTHGemmenl Bleufs s QFWausMETSH 1963 LD J1L600TIq60 "allens QLIHSHSHS HILLID"
QMTLBIGULLLSI.
GG Q&HMH&&LILILBHETET gammiserfleu ergi/eremeu &iflwimeorgl/&iflWmeoremeu?

a) 1 LmMILD 2 L (HILD b) 2 LnMMILD 3 L ()LD ¢ 1,2 mmid 3

46. According to the Tamil Nadu Rural Students Talent Search Examination (TRUST)
scheme, what is the annual financial assistance provided to the selected students?
sUOILBTG S@FTLlLMm wWmeTely HGimermleyd HLLSEHer (TRUST) LY, CHIHOSHSSLILILL
LOT6OOT6UIT& €158 3),600T(HICSHMMILD eULPMISLILIGILD BIS 2569 ereueuerey?

a) 3500 b) 1000 c) 1500 d) 2000

47. Which of the following age groups is primarily targeted under the 'Naan Mudhalvan'
scheme for free employment-linked skill development training?

a) 16-25 years b) 18-35 years

c) 20-30 years d) All college students regardless of age
'BITEOT (WHvaUeT BLLSGH6eT S @oeveusF GeousmeueumlliL] @enerssLULLL Smer GuUmL@GLU
LUWHS & &TE (NS ETEOLD WIS @608 E M6Ud & LILIL(HETET 6ul S eurlDL] 6THI?

a) 16-25 auW S| b) 18-35 eUWI&!

¢) 20-30 QWIS d) auwg NGHWnFLSleT ) oi6060T5 ! &6V LOTETTA T8 @ LD

Page 22 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

48. What are the names of the two student-friendly Children's Magazines being released by
the Tamil Nadu School Education Department?

a) Vaanavil and Thendral b) Oonjal and Thenkuruvi

c) Vaanavil and Thenkuyil d) Oonjal and Thenchittu

SOIbBTG UeTerld Hevalld Flemm LOMEUTEUTS Eh & & ME QeueflulBHD @\(H GL0oMHhen S & 6T @) &Lh & 6rfleor
QILIWIJE6IT 6T60T6UT?

a) eurmesreNlev LDMMILD Q& ETMEY b) eetEh&Fev LDMHMILD Q561G e

¢) aumerailey MHMID Q1&6TE& Wiy d) 2e1EhF6l InMHMID QS56TAL ()

49. Assertion (a): Cancer screening under the MTM scheme has been as effective as
diabetes and hypertension screening.

Reason (R): The percentage of women screened for cervical and breast cancer is
significantly higher than that of individuals screened for oral cancer.

a) Both A and R are true, and R is the correct explanation of a)

b) Both A and R are true, but R is not the correct explanation of a)

c) A is false, but R is true.

d) Both A and R are false.

gamm (a): MTM SLLgSer S yHmesmw uflésngener Brlle wHoD 2w) @USs WSS
uflGFTSHemeTemW LI GLITeVEE LIWSDIGITENTS TS 2_6ITeTS.

&MTyeuorid (R): &FLILL6mL UMl WoMmMIL WITUSL UOmICHMUGEsTs UFIGFTH&E&LILLL GLI6vors:erflesr
F56 510 euriieu LM MICHMWESETS LUFICEMGGE&ELILILL HLITHm6T 6L &6ull&FI0Me 3G &HI0ME 2_6TeTSl.
a) A LnMHmILD R @ Tevor(hLh 2_etoremin, GLOSVILD R eTadTLIG A @)60T &iflulmeot eNlemss &L Mm@ LD.

b) A LDMHMID R @ Tevor(HILD 2_600T6mL0, 4,60TT6V R 6T6dTLIG A @ 60T &iflWimeot elemgasLh 31606V,

Q) A 6T6OTLISI SRUMITETS), 24,60TT6V R 6T60TLISI 2 600T60ILN.

d) A lnmmilb R @ pevor(hLd &6UMTEoT60I6.

50. Which of the following statements about Tamil Nadu’s dialysis program is true?

a) Tamil Nadu has implemented the Prime Minister National Dialysis Programme (PMNDP) to
enhance Chronic Kidney Disease management.

b) The number of haemodialysis machines in Tamil Nadu has decreased between 2020-21 and
2024.

¢) Tamil Nadu does not provide dialysis services at Sub-district Hospitals.

d) Tamil Nadu only provides facility-based haemodialysis services and does not offer home-based
dialysis.

SODBITL L6067 LWmedSlerv SHLL b Ll NeTau@hd Fammiserlel 6Tg 2 6voTemLn?
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a) BreTULL SHobrs CHM Geumamemnenll CULLRSSSNHHTE SOLBHTH HWrsn whHfl CsHw

LWmed&ev G LGeng (PMNDP) Q& WeLLI(H & H U 6TerTsl.

b) 2020-21 WHMID 2024 && @emLuiley FSWIPHITLILL afGMaLWTelFen @) ulbS Imhigerfler 6reorevoll& 6o
GO DBSICTETSI.

C) SlemeuT DML L In(BSSIalnemersefley SLADBETH LmedF e Coemealsene alLpHIE6UH 60em6v.

d) sllbBTh s gl uilemer afGunmenLwmeifeav CFemeaisemneT L HIG AIPHIGHMS WDHMILD

619 BeuGLL LWIMeIF6mI6r) 61LD MG 6T 6VED6V.

51. Consider the following statements regarding the resistance against British expansion
in India:

1. The primary resistance to British expansion came only from deposed kings and their
descendants.

2. Agrarian unrest was a significant factor that fueled revolts against British policies.

3. The Great Rebellion of 1857 was the first instance of resistance against British rule in
India.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 only c) 1 and 3 only d) 2 and 3 only
@bHwmellev LNflL1q96aq Nlfleuns&ssH MG THFTMer THTLIL] QSTLITLITeT LIN6iTeU(BLD FaM MIS606TE
55611601 WL M1 &5 61T:

1. AL Ig6q eNifleums &5 S MG (NS eTemln W imeor TS T LIL] LIgeT F&&10 Qe ulwLILL L L0 60T6uT T8 6T Lo M mILh
seuFserlerr &S uler LIt BH S WLLHGCL 6UbHS Sl

2. L1964 Q& TETeN &S EHE:G 6B T 6T G656 & emeTs Snevoriql @@ GMILILINL 5588 &Tiyeollwms
ennbH s sl efeusFmuilserfledr GUIMTTLLLD.

3. @B wmallev LN 1969 9L T &G TR Fmeor TS TLILN6OT (&6 Ml&LDeuUTS 1857 94D 3L600T(H HLIHS
QU(BLD H6usLD 6TaUTE H(IHSLILIGHMSI

GG Q&EMH&SELILLHETET gammiserflev e1gl/eTemeu FflWmersi?

a) 1 lnmmiLd 2 (LD b) 2 I0L_(h\LD c) 1 wmmib 3 @G d) 2 inmmith 3 (b

52. With reference to Haider Ali’s rise in Mysore, consider the following statements:

1. Haider Ali became the de facto ruler of Mysore after being appointed as the Dalwai
(Prime Minister).

2. He initially allied with the British to consolidate his power in the region.

3. The Wodeyar dynasty continued to function as nominal rulers after Haider Ali took
control.

Which of the statements given above are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
@ flev mams T o 6eSlufletr T &EF emwil LM, LNeTeu(HLD Fa M MIGEMET 86U 601U b 6iT:
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1. mam s T 68 Heveurml (9FsLnT) 9186 BlWtl&EsLUUL L LNM & 60L0@ 60T 2 600T60LO W IT6oT

L G \WITEITITITEOTITIT.

2. /L TLUSH 6L 9 @LUUGHUN6 SaTE SIFEMTSHMS LIVLILDBSS 31, 6 C6u LT 65 L 60T Fol L 600t
UG SITIT.

3. mansT 9169 9 Aeanwl N955 LIMGLD 26 WTT U EFLD QLWIFeTalleuITeT S, FIWITeT 6T TeH:Ga
QEFwWeILILL gI.

CLG6v AEBMH & & LILILHETET &amiG6rflev eTemeu Fiflwimeremeu?

a) 1 LMmILD 2 L (BID b) 2 LnHMID 3 L (LD o) 1 mmib 3 LG d) 1,2, LoMmmild 3

53. Which of the following was NOT a consequence of the Treaty of Srirangapatnam
(1792)?

a) Tipu Sultan lost half of his dominions.

b) Tipu had to pay three crores of rupees as indemnity.

c) The Marathas received Coorg (Kudagu) as part of the treaty.

d) Two of Tipu's sons were sent as hostages to Madras.

L9l 6dT6u (I 6u 6OTEUM N 6V 6TSHI LOf I MG LILIL 1q.60TLD 61L& 8 B 6ot (1792) eflemenmeunss e MLIL6Sl6Vem6ev?
a) BILIL| HUHTET SH60TEl 2,F &5 BIG6 60 LITHenl @ LobHSTH.

b) B epedToy Gy epLIMUL @LELILTL e QFasHs Ceuevor Ul BhHsS.

¢) DML UIT&ET RLILBSSH 60T ([ LIGHUTSH FafEHans (L&) QLIMHMETI.

d) G el @) Tevor(h) LD8560TE 6T GILOLL[FITerU ™8, LI600T LIS 60 &S S6T TS el LILILILIL L 60T[.

54. Match the following battles with their corresponding results:
Battle Outcome

a) First Anglo-Mysore War 1. Treaty of Mangalore

b) Second Anglo-Mysore War 2. Treaty of Madras

c) Third Anglo-Mysore War 3. Treaty of Srirangapatnam

d) Fourth Anglo-Mysore War 4. Death of Tipu Sultan

L etreu(pLh CLITTS 606 jeuMM6ir Q&ML ITL{ 60 (L6 & EHL 60T QILIM(HS S 6 LD:
cumry eflemerrey

a) NSV YBFHCT-MDE:T CUTT 1. LOMRIGEEHIT @LILBSLD

b) @ [JeUOTLIT6U S S4BT CET-6MDEGT CUITT 2. QLT eLiLbBgLh

) eLNETMITEU S SLMBITHCE -G T CUTT 3. WfrmIs UL 1960TID e@LILIHSLD

d) BTEOTS MU G S HBITHCEUIT-60D G CUIT 4. B\ &6V 5 T60l 60T LOTEUOTLD

a) A-2, B-1, C-3, D-4 b) A-2, B-1, C-4, D-3

c) A-3, B-2, C-1, D-4 d) A-4, B-3, C-2, D-1
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55. Which one of the following was NOT a reason for the outbreak of the First Anglo-
Mysore War (1767-69)?

a) The British occupied the Northern Sarkars, angering Haider Ali.

b) The Nizam of Hyderabad formed an alliance with Haider Ali.

c) The British allied with the Marathas against Mysore.

d) Haider Ali attacked British forts in Madras.

L9l 6dT6u (B 6U 6OTEUM M6V 6TSI (LNSH6L LIS CEVIT-6MD @G T CUITIT (1767-69) Q6ULY.LILIS M S T6UTE: &ITT6U0TLD
B eLemeu?

a) mamsT edlemil CHMULILRSH W BIFCITSET QL& FF&HHTIHM6T &R TL6lSH6rT.

b) mams T 3je0ulleT CHTLISM S S HT6uoTlq.6oT.

C) MG HEHES TH TS I BIFCVUITSHET LDFTL LG UITEHEBL 6T Fol L 600l 60615 560TH.

d) emams 3169 QL ymeniley 2 amerm LNl 1969 CHITL 0L &H6m6ns &Ma R eOTTI.

56. Statement 1: The Treaty of Mangalore (1784) restored the territories captured during
the Second Anglo-Mysore War to both sides.

Statement 2: The treaty was signed because both Haider Ali and the British East India
Company were exhausted after prolonged fighting.

Which of the following is correct?

a) Both Statement 1 and Statement 2 are correct, and Statement 2 explains Statement 1.

b) Both Statement 1 and Statement 2 are correct, but Statement 2 does not explain Statement 1.
c) Statement 1 is correct, but Statement 2 is incorrect.

d) Statement 1 is incorrect, but Statement 2 is correct.

FaMml 1: @ IeTL T SLHBIGHCum-600@&T CUMHler CUMSE em&LILMMLUILILL LS5 & 6emeT L0 & eeh T
@LILBSLD (1784) @\ STLULNTHSH G WD LS L6555 8.

Famml 2: mansT 696G NFlLIgaq Fp&EHRHS W &6 Leflub HeorL FeauTenL & L LNME
CEMIaUELIHSSH ML @H& @LILIHSLD M&HQW (DS S TTSI.

L9l edreu(HeueoTeUM M6V 6T&HI &l meorsi?

a) FaMm 1 O Do 2 @resor(hid Fiflwmereney, GLAID FaMml 2 Snmm 18 leTé:GHMmE!.

b) DM 1 LDHMILD FoMmi 2 @ TeooT(HILD &Il ILITETEm 6, SLETTEV MMl 2 Fammi 183 ellaTsseilcvemev.

Q) Gl 1 FFlWIMETSI, SLE0TITEV SoMHMI 2 &HEUMITETSI.

d) MMl 1 HEUMTETSI, QLETITEV G MM 2 &FFUIM6TSI

57. Consider the following statements about Veera Pandiya Kattabomman:
1. He was the Palayakkarar of Panchalamkurichi.

2. He was arrested by Major Bannerman and executed at Kayathar.

3. His rebellion was supported by all the Palayakkarars of Tamil Nadu.

4. His minister Sivasubramania Pillai was taken prisoner during the battle.
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Which of the above statements are correct?

a) 1 and 2 only b) 1, 2, and 4 only c) 2, 3, and 4 only d) 1, 3, and 4 only
iy umevoTIq W L LQLIMIDLI060T LMW LSl6dTeu(BLD FanM MI&606TE & 6L 60T Ml 6iT:

1.9/6u1] LITEh&F MG Ml&&F udl 6T LITemeTw& & Ty,

2. GL0QT UMETHGLO6TTE eM& S QFWWLILLG SWEHSTMI6L S8 ed L LI L.

3. 9jeurs ReTFFFen SLALDHITLLY 60T S|6060TSH S LITEM6TLSHSTTTSHEHW0 2,85 HH60rT.

4. Gumfledr UG SjurGl enLFFT FeaugLiLNyweorlw LKeTemer FlemmLig&HasLILILLITY.

CLOM&600TL. FaM MG 6rfl6L eTemeu &Il WITeoTem6U?

a) 1 MM 2 L (HLD b) 1,2, InmHmMILD 4 0L (HILD ©) 2,3, InmmILd 4 L (HILD d) 1,3, InmHmILd 4 0L_(HILD

58. The legacy of Extremists in the Indian National Movement can be seen in which of the
following recent developments?
. Swadeshi Movement’s ideals are reflected in Atmanirbhar Bharat Abhiyan.
. Revolutionary nationalism of the Extremists influenced India’s post-independence
defense policies.
. Tilak’s concept of self-rule (Swaraj) finds resonance in India’s Gram Swaraj programs.
. Extremist tactics of mass agitation are seen in recent farmers’ and labor movements in
India.
Select the correct code:
a) 1 and 2 only b) 1, 3, and 4 only c) 2, 3, and 4 only d1,2,3,and 4
Sally CsAWaumgsefleor LTrUlwb @HESW CHAW QWESSS 6 GLDE 56T FLSLS S W
Bl& e & erfleL eTeueummI & mevor LI (H 6 6T 517?
1. &CEHH QUEHSB 6T &([HS 5856 &eirerflenmey @bSWIT (Atmanirbhar Bharat Abhiyan) &)L & &)L
L9 7 &\ L166) 8 G) 60T M 60T.
SallFaur@ sefler LA &r C5FWanslb &5HSHI5HHGL LNnEG @ HS wmeller LMsI&s ML
2 5B 56T LTHSSSI.
BeusT (NeiTemaUS S &HWMTLE HH5 S @\HH wWrmeller G Imo &HWTLF S G L niserflev
QeueMULIG &SR MSI.
Fally C5F WeumG serfler G T6TmeT TS FLIL] (NeMM& 6T FLELGS S W efleusFmulls 6t oM mih
QM 6UITETITE 6T GLIMTYITL L Mig6r6v &mevor Ll L () 6 66T M 6or.
SLhsseorLeaummiev Frflwmerr GMlufienL G5y Q&Wiwe]Lb:
a) 1 lnmmiLd 2 (LD b) 1, 3, nMHmMILD 4 0L_(HILD ) 2,3, InMmmILh 4 10L_(HILD d) 1,2, 3, inHmild 4
59. Why did the European planters in Assam request Curzon to create a maritime outlet
near Calcutta?
a) To de-promote Swadeshi industries

b) To reduce their dependence on the Assam-Bengal railways
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c) To improve the condition of European workers in plantations

d) To encourage British imports

1FTIS6L @ (BHS LEIMTULIW CHTLLESTITHET STFM6, HVHSHMTSHE SBHHE O &LCuNMT US55
BleM6ULLILD 2 ([H6U TS ESLOMMI 6§60T G& L (h &6\ & TEUoT LTI & 6T?

a) HCHF QSMPNLEHEMET GHOMLILIGDEHTSH

b) SIFMTID-QLMBISGTE @TuicvCeal g Sieufserfler FmyLileneT GenmLILIGMSHTSH

o) 8ermilw s mibfleumerygerfle alMp&Hems Blemevemll GOIDLIMSSI6USMHSHTSH

d) Nl 1969 @m&EGWnHemnw a5 GallILGMHETS

60. Which of the following were contributions of Ras Behari Ghosh?
. He defended Bal Gangadhar Tilak in the sedition trials.
. He was one of the prominent leaders of the Surat Split of 1907.
. He played an active role in the drafting of the Indian Constitution.
. He promoted industrial and economic growth through legal means.
Select the correct code:
a) 1, 2, and 3 only b) 2 and 4 only c) 1, 3, and 4 only d) 2 and 3 only
SLh& s eorLeaummiev merv Quammy] Casmadler LikigerflLiL & 6T wimemeu?
1. UM BRISTST Hevs G HLIHS CHFHICTMTS LN G &6leL SjaUf FMTLIMTS aUNHSMEH TS
LG TEUTITIY.
1907 @& 78 Lemalledr (p&S W Hemoveu T erflev 6 HeuI.
AHH W TR WevenInLIenL 2 ([H6UITE G aUB) 6V (P& S W LIMIG euRH &S TIT.
FLL aufiseafley Qamflcugienm LM MID QUTIHETTSITT eUeTIEFF enw 2ard; G el S5 miT.
grflumer GMIUW enL S CaHTHASH & &6y LD:
a) 1,2, Lommib 3 L (LD b) 2 LDMMILD 4 DL ()LD o 1,3, mmibd 4 LLHILD d) 2 ommith 3 L (LD

61. The slogan “Every victory of Indian labour is a victory for the nation” was first used in
the context of which movement?

a) Bombay Textile Workers’ Strike (1928) b) Coral Mill Strike (1908)

c) Ahmedabad Mill Strike (1918) d) Tata Iron and Steel Workers’ Strike (1920)
@B W Q& mSlevmer s erfleir eeu@eum@p Qeummiwld CH&F 5B 6 QeumMIWMEGLL” @S (PLP&ELID GLh

2 _6iTer 6TH S @) W& S SHS 6V (LNS6V (LPEMMWITS LIWeTURSSLILILL 5I?

a) (pLhemL QBFe] Qs TSlevmerI&6rfleT GalemneuBlMIG S (1928)

b) @& m6v A6V GeuemevBlMISSHLID (1908)

0) SIS TUMS L6 Calemeunl MG L (1918)

d) LTLIT @B & 6Ta@ QS TSleumaTy Galsmeublmigsin (1920)
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62. Consider the following statements regarding the growth of militant nationalism in
India and identify the correct ones:
1. The rise of education increased awareness but had no impact on unemployment in
British India.
. The reactionary policies of Lord Curzon, including the Indian Universities Act (1904),
intensified nationalist resistance.
. The growth of self-confidence and self-respect among Indians was a key factor in the
rise of militant nationalism.
. Abyssinia (Ethiopia) defeated Britain in the late 19th century, which inspired Indian
revolutionaries.
a) 2 and 4 are true b) 2 and 3 are true c) 1 and 2 are true d) All are true
BLh & & 600TL. 6UITE: G MG em6TL Seauelgd g FrlwmeTeumenma & evor L nlweyLb:
1. sevelulleir euemF&Fd eNHILILjeooTTemed B &N HH5 S Ay 6rmev LNl 196aq @)\HH wmellev
GeausmeveumILILNMH (G 6TH SN SLOMET HTHSBINLD G VM6V,
siFer KoY eT(hSS THTLIL QSBMETenSHSH6T, (GMLILITS @ hHS W LIL&EamMeVEHSNE FLL LD (1904),
CsFAWaMs aTHTLIenU 9855 8l.
AnhswisellenLCw SereoriblN&ens WMo Hwnflurans S & 55351, Qs Sl
CaHFWaUNTEHS G 6T 2 (HeuTsH &S B 6L (NEHH W STFETONS @) (BHS S
SR eoflwm (TS CMLILNwIm) 19840 BIHMTevoTIq 60T @ IS udl6v LNl L eneor CHTH&H9.55 51, @) B!
AQBH W NlhGHemev CLUTTTeHEF5 S &FS5HBTSHMHETT 2 5CUSHIONTS S|MDHSSI.
a) 2 LnMHMILD 4 Fiflwimesren el b) 2 nmmith 3 FiflwimeTemel

c) 1 moih 2 Fiflwimeren el d) SjemeTH SN0 FiflulmesTenel

63. Which of the following was a direct consequence of the failure of the “German Plot “ or
“Zimmerman plan” (1915)?

a) The formation of the Ghadar Party in India

b) Execution of Rashbehari Bose by the British

c) The decline of revolutionary activities in Bengal

d) Increased British surveillance and suppression of revolutionaries

"QRQFL6T S LI 3j6vevgl "GlbnFe6T S LID" (1915) CHmevallenL 5SS 60T CHIL 6Slenemeuns
B1& D15 S S 6T60T6ur?

a) @BHWMTell6L HTHT &L FUN6T 2 (HaumTsH &L

b) pmeiq ammifl Gumeng L1960 o7& ST&EH 0L gl

0) QUBIBTEN6L LT F&T BLaIl) &Hen&H&erfler aflpg s

d) N 19619 TF 6T SHevorssmevot|LIL| LDMHMID LT FSETTHm6T 3L & & 560

64. Arrange the following revolutionary events in chronological order:
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. Chapekar Brothers’ assassination of British Plague Commissioner (Pune)
. Lahore Conspiracy Case involving Bhagat Singh
. Kakori Conspiracy Case led by Ram Prasad Bismil
. Komagata Maru incident
B&EHaTL YILA ST Bleshaysaner smeu auflensuiléy 31(H1&&ea]Lh:
FCUST FCaHEMETIGH6T LNFL196q LNGars SHLslagereny LiGaTalle LIGQ&Tem6v G &FLIG6T.
UMeanl FHS GILLLD (LUHeUS FIH QGTLITL6mLWSI)
&55CsMfl #Hg GLLLb (Trbd Kpensg Weudley emsvemnuliev HeOLQLIMHMS)
CHMGLLIO(H FlhLIaILD
a) 1-4-3-2 b) 4-1-3-2 c) 1-3-4-2 d) 3-1-4-2

65. Consider the following statements:

1. The pledge to boycott foreign goods was first taken at protest meetings held
immediately after the partition of Bengal was announced in 1905.

2. The Swadeshi Movement remained confined solely to Bengal and did not influence
other regions of India.

3. Soon after its inception, the movement spread to other parts of the country, including
Poona, Bombay, Punjab, Delhi, and Madras.

Which of these statements is/are Incorrect?

a) Only 1 b) Only 1 and 2 c) Only 3 d) Only 2

LS etTeU(BLD FanM MG 6MEITE: &6 60T UMb 6iT:

1. 1905 @6v eumaismerLl L fleflemerr MG HLILILL 2 L CeorC [HEMLQLIMM & 600TL60T8 Fonl_ L 6185 6rfleL
QeueflBTLGL QUL &em6TLI L|M& & 6uotlLILIGM&mer 2 IS QLoms (L0 & 6T S56d6L T & LILLL gI.
5G5F QUSHSLID URISTITSSH 6L LHICL @\UBHSS. QBB Wmelsr LNm LGB &saflé 915 HTEHSHS5MS
gHUD S5 eNcvemnev.
Ohs QWSS QHTLBISLLLL eflenyellGeuGLL, LLEOTIT, LILDLIMWI, LIEFTL, QL6V6d LM mILD G & 60Tem 6oT
2 LuL prliger Km LGS & Ebs G0 LFellwgl.

O\hS FaMIGeTl6L 6T5I/6eTeM6U & 6UMITEITEm6U?

a) 1 LG b) 1 Lommith 2 I HIGLD

66. Consider the following statements:
. In 1902, revolutionary groups were established in Midnapore under the leadership of
Jnanendranath Basu.
. The Anushilan Samiti was founded in Calcutta in 1902 by Promotha Mitter.
. These groups immediately launched large-scale violent campaigns across Bengal upon

their formation.
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Which of these statements is/are correct?
a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) All 1, 2, and 3
LS etTeU(BLD FaM MG 6MEITE &6 60T UMb 6iT:
1902 SuLDh I,600TLQ.6V, EBITEUTIHITS LIMS Semevenloudlev Wl ermu,fléh UILS &[T & (W& 86T Ml mieu LIl L 6.
I FevetT FLAS 1902@\60 &H6L&ES S Mall6L LIGTTCLGT &S T 6L Ml mieuL Il L Sl.
B\HS & (08 56T 2_(IH6UITEITE L 60T 2L 60TLYLLIITE 6UMBISTETLD (WU GID QuIflw 9emelleuITenT 6u6iT(NEmM
WKp&&F Tk &eneTs & ITL kIS eor.
OhS Fammiserley eargl/eTemeu Flwmersl/&iflwmeTeneu?

a) 1 GG b) 1 lommih 2 1D HIGLD ¢) 2 nmmith 3 L HEL d) QlemeTHSID 1, 2 LoMHMILD 3

67. Consider the following statements:
1. The western Anushilan Samiti reconstituted itself as the Jugantar under the leadership
of Jatindranath Mukherjee, popularly known as Bagha Jatin.
. Bagha Jatin played a crucial role in revitalizing connections between the central
organization in Calcutta and revolutionary groups in Bengal, Bihar, and Orissa.
. Bagha Jatin successfully executed the Indo-German conspiracy, leading to the seizure
of Fort William.
Which of these statements is/are incorrect?
a) Only 1 b) Only 1 and 2 c) Only 3 d) All 1, 2, and 3
L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:
1. UMsT K&erT eTeorml LNFUWLTS MWLILLL QLEBHHTHTS WEHTLBlulear Heamevenuisy CLMEGS
ST V6T FLAS) & 6iTeM 60T LG THS T 6T60T LD MG TN S 18 G SITEOOTL Fl.
&85 G5 MelleL 2 6TeT 105 S W 9 emDLIL| &G eumsmerid, LYsmT whHmib erflemelléy 2 6ter YL &T
G WHEHEHSE G @enLulleumer QGMLILSGm6T LSSIUNT QL MIeUG 6L LITSHIT Q& 60T (1088 W LIMIG
RS STIT.
LIMSIT 28\ 60T @)hS W-QRQ 6T FGleanw QeummM&rinms mleanmGaummlermy, @ s 68lévedl Wb
CaTLenLenls en&LILMmM eulelESHs S5 Sl.
O\hS FahMIGeTl6L 6T5I/eTeM6U & 6UMITEITEm6U?
a) 1 MG b) 1 LbMHMID 2 WL HGLD ¢ 3 GG d) QemeTHSID 12I0MMmILD3

68. Consider the following statements:
1. In 1879, Vasudev Balwant Phadke organized the Ramosi Peasant Force in Maharashtra.
2. The primary objective of the Ramosi Peasant Force was to promote non-violent protest

against the British.
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3. The Ramosi Peasant Force aimed to instigate an armed revolt by disrupting
communication lines and raise funds through dacoities.
Which of these statements is/are correct?
a) Only 1 b) Only 1 and 3 c) Only 2 and 3 d) All 1, 2, and 3
LS etTeU(BLD FaM MIG6METE &6 60T UMb 6iT:
1. 1879 SLlDh IL,600TIQ60, UMTHGCHEU LIcVeUHS LILGCSH Ln&TITaqlqrmelley FmeLme afleusmuilseT LiemLemwl
goun@® Q&Wsmy.
FrCLME 2 eauf LenLulleT (NG eiTenln CHTHSHID I BITHCVW (HEEG TH TS 6U6OTIRMMUWIMM
TR T 218G LILISMESLD.
FrCLm& efleuFmuils6r LenL S&6u6L QSTLTL eulflsemneT &S 6eme6uLILIS 60T eLpeu(nLD,
QS METEMETWITSH 6T eLneuld BIS) BT (Hl6uS 6T eLneL (LD 94 WSCLHB W GRemTFFenls Sevor(h elens
CHMEH&HEMNSGES G &ITe0oTL.(HH S SI.
OhS Fammiserley ergil/eTemeu &Frlwmeorsi/&flw meoTemneu?

a) 1 L (MG b) 1 lnmmith 3 I HIGLD ¢) 2 inmmith 3 L HEL d) QlemeTH &I 1, 2 LnMHMILD 3

69. Consider the following statements:

1. Madanlal Dhingra, a member of the India House circle, assassinated the India Office
bureaucrat Curzon-Wyllie in 1909.

. This assassination marked one of the earliest violent revolutionary actions by Indian

nationalists abroad.

3. Following this act, London was completely abandoned by all Indian revolutionaries.

Which of these statements is/are correct?

a) Only 1 b) Only 2 c) Only 2 and 3 d) Only 1 and 2

L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:

1. @BBHWIT ameyev euLl L &&H 6T 2 mIL 1L 60T IT60T DG 60TEVITEL HIMITIT, 1909 @) 6L @) IH B WIT 3| VIEU6VS:
B &THWITeT &F&F6r-emeuedenl LIGGQ S Temev Q&EWSTT.
Ahs LHQs&Tmev QeauefliBmB &erifley @S W G5 WeumG &erledr 94 TLDLISTeV eueTnemm LTS &Iy
HLEULYLE 608660 660TMIMESLD.
AhHHF QFWemM6LS QGTLITIHSI, 6V6UITL60T O 6m6etTd Sl @)\ H S WL LS WmeTF&Hem ey Wmmlsvnmss
ensallL LIl LS.

QhS Fammiserley ergil/eTemeu Flwmersl/&FiflwmeTeneu?

a) 1 LG b) 2 DL_(HGLD ¢) 2 lnmmith 3 L GG d) 1 iommith 2 L HELD
70. Consider the following statements:

1. The HRA was founded in October 1928 in Kanpur by Ramprasad Bismil, Jogesh
Chandra Chatterjee, and Sachin Sanyal.

Page 32 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

2. The organization was established with the aim of organizing an armed revolution to
overthrow the colonial government and establish a Federal Republic of United States of
India based on adult franchise.

3. The founders of the HRA intended to pursue a purely parliamentary path to Indian self-
government without resorting to violence.

Which of these statements is/are incorrect?

a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) Only 1 and 3

L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:

1. HRA 9|&GLMTUT 1928 @6v &meirL,flev prblpems Weuidley, GRMCHaq FHH T FTLLI) LMHMmILD
FEG 60T FeOTWmeL G CWITITEL BlMieuILIL LGl
&MTeveflg Slou STFMHEIGHMSS SM6BQAWMIHSI, euw sl aubHCHTT eurd @ iflenuller g LiLiemLuSlev
owfl&Es RESR W DMHleVEISET6ET Sl LTS GLqWTen& HlMIe|6usmesmer 9w gL LTl Fenw
gHUr® QFWIWLD CHTESS ST @)\ HS 6oL BlmieuliLL L Sl
HRAGUT 5] MI6U6UTIT & 6T 6U6IT(LNEMMemIL HITLITIOE @HH W &FWTLS &G Wmnilewilb IHITLT(EH L0 63TM
UmengenwLll LNerLmm e Bl eoriy.

BO\hS FahMIGET60 6T5I/TeM6U & 6UMITEITEm6U?

a) 1 L (HGL b) 1 LMD 2 DL HIGLD ¢) 2 lommith 3 I HIGLD d) 1 inmmith 3 L HEL

71. Consider the following statements:
1. The assassination of John P. Saunders was justified by the revolutionaries as
retribution for the unjust lathi charge that led to Lala Lajpat Rai’s death.
. The killing was seen as a response to the insult of having a respected leader’s death
inflicted by an ordinary police officer.
. Despite expressing regret over having to kill, the revolutionaries maintained that such
actions were necessary to dismantle the inhuman colonial order.
Which of these statements is/are correct?
a) Only 1 b) Only 1 and 2 c) Only 2 and 3 d) All 1, 2, and 3
L 6dTeU(BLD FanM MIG6METE &6 60T UMb 6iT:
1. eUITELIT VRIS TTuUletT LTSS MG utleUGSHS BIWTWIOMM SLGWLY GHMEFTLIMES LLYleu kGl
flglome gmesr L. FmeuoTL FerSler LGQ&Temey LFL G WmeT F&emmey BlwmuliL@SsUULlL Sl
@@ LFlwWmemns & &I &eameveufleT LDTaUTS s @(h EMgTresT CLmeSev JH &Ml ghu® S W
3|QULDTEUTS B 60T 6T H TellemeuT WIS @S Q& Tem6ev LMTTSHSLLILL SI.
SISl LOFeuTESH MG USG5 QFleflss CLTH WD, el TLmeTomMMm &mevenlll 6 (DkIME
&EMMUSNES ©)5S5608 W [HLEULLE &S 6T J|euF WD eTedTm LFLSAWmen 6T euedlwmis S eoriy.
O\hS Fammiserley ergi/eTemeu Frlwmersl/& il meTemneu?

a) 1 L HGW b) 1 lnmmIh 2 L HIGLD ¢) 2 lnmmi 3 L HiGL d) 9|emeoTsH Sl 1, 2 InMMILD 3

Page 33 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

72. Which of the following Constitutional provisions uphold the idea of secularism in
India?
. Article 14 - Right to Equality
. Article 25 - Freedom of Religion
. Article 26 - Right to Manage Religious Affairs
. Article 30 - Rights of Minorities to Establish Educational Institutions
Select the correct answer using the code given below:
a) 1 and 2 only b) 2, 3, and 4 only c)1,2,3,and 4 d) 1, 3, and 4 only
@ BB WTallev L0GEFTTLI6TemLD 6T60TM &(HS MG 31,5115 G0 LNeTau(hld S TFWwevenioliL] 6B &6iT eTemeu?
KWley 14 - F0G s16u 2_flemiln
Nfley 25 - b HSHH IO
Lfley 26 - 105 eNeuSTIMEI&Hem6T BIFeuSE &GS 2 flemin
LN ley 30 - 66l Bl MI6U6UT IS 66T [HlMIa|6usMasmer & miLimeTenLoudleorflesr 2_1flemin g6
EC amT@&&LIULB 6T GMIUTiemL I LweaTUR S S Filwimer UG eanevsd C5THAHH & &H6]LD:
a) 1 Lmmih 2 1oL BHID b) 2, 3 LMHmILD 4 L0 (HILD 01,2 3 moib 4 d) 1, 3 bmomild 4 1oL (HID

73. Consider the following statements about the characteristics of a secular state:
1. The state permits the practice of any religion.

2. The state remains neutral in religious matters.

3. The state imposes taxes to support a particular religion.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
@G WNSEFTTUMHM STFE6T LI6ooTL&6T LiMmmIw L 6Teu(HLD FaM M8 em6Ts & 61 60T Mg 6iT:

1. 0& 6THS DS HMG WD Sl LI 68 I INHER M.

2. g adlequnisefley s HHBleMmeLWTS @) HESH M.

3. @ eMUYLL BeHms ASHEs T aflGamer NS EHRMSI.

CLCev AEMH & & LILILBHETET Sa MG 6rflevL eTgl/eTemeu &Fiflulmeors?

a) 1 InmmiLd 2 Il (HLD b) 2 LnMmmith 3 ()LD c) 1 wmmib 3 @G

74. Consider the following statements regarding secularism in India:
1. The term "secular" was included in the Preamble of the Indian Constitution through the
44th Constitutional Amendment Act, 1978.
. The Indian state does not recognize or support any religion but provides certain
concessions to religious institutions.
. Unlike Western secularism, Indian secularism allows state intervention in religious

matters to uphold fundamental rights.
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Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

QBB Wmellev GFFTTL6TenD QGTLTLT6T LN6iTeu(HLD T MG 6eM6ITE & 616011 b g 6T:

1. "IDSEFTTUMM" T6OTM Q&ML 1978 LD S1600TLY.60T 44 UG TFWeVenOLIL] B HhSHHF FL. L& B 6ot
eneub @HH W STFAWevenniLNedr (psaemguiley CFIHHLILILL SI.
AHBW T& 6THS NGHMS WD SBS&EFHESECMT 9LV 2,518 8CaUIT @) 6L6M6V, JL60TITE I0G
BlMIGUGITIEIS €158 Flev & V160155 6M6IT 6ULNTEIGH M SI.
CLM&ESHH W GEFTTL6Temnn CLIMVELEVTIO6N, SiqLiLienL 2 [flenln&emeT HBlemeuBlMisS s @\bS W
wLaFFETFLITemWD 105 aflagwhkigGefley ST 6T SeneuuilienL DG ERMSI.

CLG6v ABMH & & LILILBHETET Sa MG 6rflev eTg1/eTemeu &iflulmeors?

a) 1 MM 2 L (HLD b) 2 LoMMILD 3 DL ()LD c) 1 wmmib 3 I GlLb d) 1,2 lommib 3

75. Who among the following was known as the "Lion of South India" and actively
participated in the Swadeshi movement?

a) Subramaniya Bharathiyar b) V.O. Chidambaram Pillai

c) Subramaniya Siva d) E.V. Ramasamy (Periyar)

L etreu(p LU 66y "G & 6tTeol1h S W SIMIS D" TeiTml S60p&SLILGLT InMHMID &CHF @ W& S 56V
Sallynmes LBICsEMMEUT WITH?

a) &Ly 6ol LmTF&wImy b) au.2_. AsLDLITDLeiTemerT

o) &Ll yweollw Seumr d) FF.Qel prwngmd (@uiluwmrg)

76. Consider the following personalities and their contributions to the Indian freedom
struggle:
Person Contribution
a) Subhas Chandra Bose 1) Established the Hindustan Socialist Republican
Association (HSRa)
b) Bhagat Singh 2) Founded the Azad Hind Fauj (INa)
c) Lala Lajpat Rai 3) Opposed the Simon Commission and died due to police
lathi charge
d) Chandrashekhar Azad 4) Assassinated Michael O’Dwyer as revenge for Jallianwala
Bagh Massacre
Match the correct pairs:
L edTeu(BLD Y EHEMOGET LM MILD @HH W &FSHS T CUTTTL LSS 6L euFserledr LMk &erflliL & enerns
55611601 WL M1 &5 61T:

BT unigerflliLy
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L. . 1) @bssvgmer Gemaedlevl flulieflser SCFTFIGWagemerr (HSRa)
a) &UIMeq FbS\ T GLIMerv .
Bloiedleormiy

b) L&E G 2) 9L5M5 anlhs G LeTR-23 (INa) BloieSleor Ty
) 6LITEVIT VR LIS [T 3) M &FL60T SN QQ.6M6TT TR FTHSTIT LMMIL CUIMeSev HLQWILQUITeV @ MIHS T
. . . 4) LTeSlWeTeUmeLIT LIME LBHQ&HTmevsHE LILKaUTHEIS 600G CH 6 @' L6
d) FHSTCEFET &S ..
UGG &Tem6L QFWSITT
a) A-2, B-4, C-3, D-1 b) A-1, B-2, C-3, D-4
c) A-2, B-1, C-3, D-4 d) A-4, B-3, C-2, D-1

77. Which of the following statements regarding Swami Vivekananda is TRUE?

a) National Youth Day is celebrated on January 15 every year.

b) Swami Vivekananda is best known for his address at the Parliament of the World’s Religions
in Chicago in 1893, where he introduced Hindu philosophy to the Western world

c) He explained three pathways to attain Moksha — Raja Yoga, Karma Yoga, Jnana Yoga

d) Gandhiji had called Vivekananda the “maker of modern India.”

sl eflGeusmerhHs T LUMHMIw LNeTauhLh SammiserfleL T8 2 6uoTenin?

a) GEH W @) eM6TEhHT HeuTld R6URGIM(H eooT(HILD 836vTeulf] 15 Bi60TmI Q& Tevor ML LILIGSH M.

b) &reurmsl eNCousmeTBS T 1893 QD LevoT(H FHTCHTN6 FLHS 2 608 NG MBIGET60T BHITLTEHL06TM & H 6V
AW 2 enIH&ETes WD LNFLILDTETa], SiBIG el CLMESH U 2 0RMES QHS &55161505
SN WsLLGSS ey

Q) GLTLFHMS DL 6USHMETET LN ULl &Hemer SjeuT ellemeHH e - TIMey GUWIMET, HIFLD GUWITSIT, €hT6oT
Guimasm

d) sTHH e aflGeus e b ey "Heeor @ bE ulmeledr Liem L LILITETT" 6T6e0ImI S6MDESTH.

78. Which of the following statements is TRUE about the Indira Gandhi Peace Prize?

a) The Indira Gandhi Peace Prize is awarded solely to Indian institutions working on rural
development.

b) The Indira Gandhi Peace Prize specifically excludes contributions in the field of disarmament.
c) The Indira Gandhi Peace Prize is given for contributions to peace, disarmament, and
development.

d) Only government organizations are eligible for the Indira Gandhi Peace Prize.

ABSTT &MTHS G L Ufle ummw NeTauIBLD FohMI& 660 615 2 60oTemL?

a) @BHIT &THS enG Ll Lflag @ymiolim Gmumliqev Lsvoflyflub @b Blmialearsisens @ L GG
QUPBIGLLQS S

b) @BHIT &MTHE G Lfle, UHsH GomLiLgs Slemmuiey LiliseflliL&emer GMlLILMS ellevsGH M.
0 @BHTT &MHSH SemGH L LUfle, SmG), 9G5S GenmLUIL oMM GOIDLITL LY M & MeT LinIg6rLIL &5 Eh 85

QAIPBIGLLUGSR M.
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d) 978 BloeueTmger L GICWL @HHTT STHE LB L LUFl&H&EGS & &S5 U{60)LLI6.

79. Find the missing term in the following proportion 2 : 3: 22: ?
SLhseoTL. RS FL05 H 6L 6 (HLIL L. 6TE00T60600TE &ITEOOTS 2 : 3: 22 ?
a) 23 b) 32 c) 22 d2*3

80. Rs. 1,245 is divided among 3 persons so that if 10, 15 and 20 are subtracted from
their shares, then the ratio of their shares become 3: 4: 5. Then their shares are
respectively

15.1,245 elpeto BLFSeflemLCw LNflesLul@etengl, 10, 15 WMHMILD 20 &3 (WNMGBW 3| 6uTserflesT

LINI& &erfleL &L &8 mel 96T erfler LMk & erfletr eSS0 3: 4: 5 91,8 LOMMILD 6T6ol16L D euTserledr LimkiE & 6T
WwenmGW

a)3415;%310; X 520 b)X310; 3520; R415

c) ¥415;3520; 2310 d)310; %415; 3520

81. Divide Rs. 680 among A, B, C so that A gets 3 times more to B and B gets 4 times
toC

A-5& B-23L1 GLIM6L 3 LOLMIGLD, B-&& C-@L1 GUIM6L 4 DL MIGLD GlemL &G0 oM. 680-3 LNfl55men,
S|UTSH6T QUMID Q& TS (NenMELL.

a) Rs. 160, Rs. 40, Rs. 480 b) Rs. 480, Rs. 160, Rs. 40

c) Rs. 480, Rs. 40, Rs. 160 d) Rs. 160, Rs. 480, Rs. 40

82. In how many years will a sum of money double itself at 18.75% per annum simple
interest?

a)4 years 5 months b)S years 4 months

c)6 years 2 months d)6 years 5 months

UBLSH MG 18.75% eTedTm Sevflaul Ly 6NE 55 H6v, @ (H C\&IT60 & LITEITSI 618 S 60160T 6 (L1 6rfl6L

@ UL lUmELDh?

a) 4 QU(HLMIGET 5 DM MHIGET b) 5 QU(HLMEIGHET 4 LOMSHMHIGH6T

C) 6 QUIBL_MBISHET 2 DTS HBIS6T d) 6 QU(BHLMBIGGET 5 LTS MIGH6T

83. In how many years will a sum of money double itself at 20% simple interest?

a) 4 years b) 5 years c) 10 years d) 20 years.
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R QST WTETSI 20% HevllauL Ly 6955 H) 6V 678 560160 3,600T(H & 6rfl6L @) (HLO L 61 & TELO?
a) 4 91,600T(H &6IT b) 5 o,600T(H & 6iT ) 10 3,600 (H) & 6T d) 20 91,600T(H) & 6T

84. From Tiruchy bus stand if we buy 3 tickets to Karur and 2 tickets to Pudukkottai, the
total cost is Rs. 85, but if we buy 2 tickets to Karur and one ticket to Pudukkottai, the
total cost is Rs. 50. Find the fares from Tiruchy to Karur and to Pudukkottai.

S HEF CLIIBIH S Hlemev & 60l (HIHS! &M (H5 S CLNGTM LTS L H&EHLD L SI&CHTLenL & (& @) Tevor®
LW eooTEFE L (H & @6LD QUITMEIS QOIS S8 &L L600TLD e1h. 85, JL,60TT6V, &0Mh(H& (S @) Tevor(h LW 6vore L (h & @BLD,
USISCHTLEMLE (S @(H LIWITEEL(HLD 6UMTKIS Q0TS S8 8L L6UTLD h. 50 94L& LD. HHFR NS [BHS SemT
LMHMID LSI&CHMTLEL QF6L6V &L L 6U0T IS 606118 & IT600TS.

a) Rs. 15, Rs. 20 b) Rs. 17, Rs. 23 c) Rs. 19, Rs. 31 d) Rs. 30, Rs. 20

85. If a particular amount distributed to each of 14 students is Rs. 80 more than the
amount distributed to each of 18 students, find the amount

@ GMHUILL Q5 Tangseml 18 L0MaTau & EH 8 S LNH s QsTHLILMS CUITH SCH Q5 MTeangeml 14
LOMeooTeUT & E658& LNfl5 81 Q&ETH STV 6(Ih LOTEUTaU I &G €. 80 ST HIOME R L &E&H MG 6Tevllev D HS
QBTN &M &ITEUOTS

a) Rs. 5040 b) Rs. 3150 c) Rs. 2520 d) Rs. 4200

86. Find the following statement about Surface Area of a frustum is correct ?

1.c)S.a) = 1/2(sum of the perimeters of base and top region) x slant height

2.T.S.a) = c)S.a) + Area of the bottom circular region + Area of the top circular region.

a) Only 1 b) Only 2 c) Both correct d) Both wrong
LS 6tTeU(BLD FanM MIG E6ET @) 6088 600TL S B 6T LimLILrlL Lmn ergl &ifl W meoremeu 6T60rLI60 &8
&euoTLnilwe]Lb

1. @) 60L& 8 600TL & B\ 60T uememLIFLIL] = 1/2(CLO6L LoMMILD BLp eul LG erfledr & mmereyserfleiT ga b 6v) x
Fmywy

2. @\60L5:5600TL & B 60T QLOMS S LI LMLILITLIL = @)60L &8 600TL& 60T eUemeTLITLIL] + GLo6L euLl L LILgLiL +
S eul LUy

a)1 0L (Bb b) 2 LDL_(HILD ¢) @uevor(hin &Fifl d) @uesor(HILD Heum

87. The income in 3 months of a person is same as his expenditure in 4 months. If his
annual saving is 600. What is his monthly income?

6@ (5 L06vl & fl6T eLNEITMI OIS 6U(HLOITETLD 3|6uTl6iT [HITEIT(S LOMEH QFVEYE S FLOLD 6T6ul6V 3|6U(HemL W 6U(HL
CaAlLIL] emp. 600 91,8 @\ (HIHS 6V 3]6uTfl6dr LOMS EUUBLOITEUTLD 6T6U6U6ITEY?

a) 200 b) 300 c) 250 d) 600
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88. A man borrows Rs. 2,550 to be paid back with compound interest at the rate of 4% per

annum by the end of 2 years in two equal yearly instalments. How much will each
instalment be?

6@ (5 L0601 & 60T eMh. 2,55023 @) TeuoT(h) 2U,600T(H & 6T (NLg.eT6L @)\ (H FL0 &6Uem6uoTserflél G (HLOLIS SL(HDLILGWITS
91,600T(H & (S 4% IS D Fol B UL QU6 &L60T QLMISBMITIT 6T6vl6V, 626U GUIT(H & 6L 60I600TLLD 6T6L 6UEITEY

B\ (&G LD?

a) Rs. 1,275 b) Rs. 1,283 c) Rs. 1,352 d) Rs. 1,377

89. A person’s present age is two-fifth of the age of his mother. After 8 years, he will be
one half of the age of his mother. How old is the mother at present?

@@ BHUN6T SMHCUTMS W U S Seul STWmHleT euwSH ey BHG 6V @) Fevor(®) LOLMBISGTS 2 6TeTSl. 8
UBL MBS &8585 6urfler auw g, Seul STW M6 euwSH 6L LTHWITS 2_6Temsl erevflev &mwlmilesr
SMHCLIMTeMS W 6UW I 6T6OT6OT?

a) 42 b) 40 c) 45 d) 18

90. 300 men working in a fort had provisions for 90 days. After 20 days 50 men left the
fort. How long would the food last at the same rate?

@(H CHITLemLUll6L Gouemev LIMTE GLD 300 L06vl & TEHEH G 90 IHITL5 658G G5 606U WITET 2_600T6Y G\LIT(H 6T
2 6iTengl. 20 ML &EHSHGS LNME& 50 CLIT QF6oTmieNlL L 6uTi. LES (LD 6TET 2_600T6Y 6785 6m6uT IHITL_&@EH&E eU(HLh?
a) 160 days b) 84 days c) 210 days d) 80 days

91. 10 days and-left the job. In how many days, A alone can finish the remaining work?
a) 5 days b) 5% days c) 6 days d) 8 days

A eTeTLIOUTT 6@(1H Geuemevemiul 18 HITLGerfleuilh B eTedTLIOUT G Gauemevemd 15 HITLSerfleuilh Q&wleur. B
3% Ceuemevenil 10 HITLSH6T QEFW SN LG eNevGHMTT erevflev, A LOLHILD LSS UN6TET G6ueme6vem LU
TG emetT HITLGeflel Q&FWIG (LG LILITH?

a) 5 BITL&6T b) 5¥2 BTL_&6T ) 6 IBITL_&6IT d) 8 BITL&6T

92. An office opens at 9.00 a.m. and closes at 5.30 p.m. with a lunch interval of 30
minutes. Then the ratio of lunch interval to total period in the office is

@ S VI6EUGVSLD STtV 9.00 L06T0T& (S QS TLMEIG L0Memev 5.30 LO6fl&H G (WLgeULEMSI. @) emL Gl 2_6uoTey
@) 60 L_Gouemer 30-BILSIL MG 6T 6T6vll6L 2_600T6Y @) 6ML CouemeTs: (GLD, QLMSS I eI6Uevs CHISSH M EGLD 2 6TerT
& 51D

a) 1:17 b) 17:1 c) 3:18 d) 2:17

93. If a clock strikes once at 1 O’clock, twice at 2 O’clock and so on, how many times will

it strikes in a day?
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PO SUSTTID @@ LOEU5E @ MM, 2 L06TUT15E QW MM, 3 LOETUEE CLPETMI LNENM 6TEITMEUTMI
F Mg eUQ6UT(H L6008 G0 62691 eT(DLIL|LD 6TeufleL (B HTEM6L & &HIQHTTLD 6T5SH6M60T (LNemM 62691
eT(pLIL|LD?

a) 48 b) 78 c) 156 d) 300

94. On selling a chair at 7% loss and a table at 17% gain, a man gains Rs.296. If he sells
the chair at 7% gain and table at 12% gain then he gains Rs. 400. The actual price of the
table is

BTH&TSemW 7% HOgLSH MG, CLuengenil 17% @evTUSHMGLD el eNMHMTe Sj6uly ep. 296
@eVmULELAMTT. @engCW BTMHHTES 7% @VMTLSH MG CamR12% @evTUSH MG eNHmme, ojeuif
QUMD @6UITLILD e15.400 6Teuil6L CLoemEZudl6dT 2 600TemLOWIM6oT 6l6emev

a) Rs. 1,400 b) Rs. 400 c) Rs. 2,400 d) Rs. 800

95. A tank can hold 50 litres of water. At present only 30% of the tank is filled. How many
litres of water is required to fill 50% of the tank

a) 5 litres b) 10 litres c) 15 litres d) 25 litres

6@ (H &600T600f TS QSHITL19 Ul 60T Q& TeiTameTey 50 6O L& 6T 94L& SHCLMS IH6L 30% & 6v0T6v0f [
BT LA wWeTergl erevflev, SIF6L 50% FH6voTeuot (] BlemmL @) 6OTSILD 675 5 em6uT 60l L [J7&6iT G&6emeu?

a) 568l Lp b) 10 e9L_L[J o) 15 0Ly d)25 0Ly

96. The temperature at 12 noon at certain place was 18° above zero. If it decreases at the
rate of 3° per hour at what time it would be 12°C below zero?

a) 12 Mid night b) 12 Noon c) 10 a.m. d) 10 p.m
H60OT LIS 6L 12 10600118 (S @(H @) L& B 60t QeuLliLiBlemney LU,RSwgems 6flL 18°C 9§ & Y&, GleuLILIBlemev
06wl & @ 3°C 651D &6MMIHESTEV 6T8 S 6060T LD 60T 18 (& 3{6uellL &3 6T QeuliLBlenev URLBlwgens el 12°C
S MMEUTHE) (H5ELD?

a) 12 meierflyey b) 12 [H6voTLIS6V c) 10 am d) 10p.m

97. If 6 men or 8 women can finish a work in 12 days. In how many days 9 men and 12

women will finish the work?

a) 4 days b) 3 days c) 6 days d) 5 days
6 S1,600TSH 6T (S]) 8 QILIGUUTS: 6T 6 (IH Ceuemeueml 12 HITLG6rfl6L (NG LILITITS 6T 6T60l6L 9 21,600TSH @BLD 12
QLIGUOTS @B LD 3{6UGC6UEM6VEML 6T 8 60160T HITL&6rfleL (LI LILITIT&6T?

a) 4 BITL&6T b) 3 BITL_&6T C) 6 IBITL_&6T d) 5 BITL_&6IT

98. Find the next number 1,1,2,3,5,8,13,21,34?

1,1,2,3,5,8,13,21,34, eteorm) QS TLIfl6L 2 [(H &G 6TEUOTEN 600TE: &5IT6UOTS:?
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a) 50 b) 55 c) 60 d) 65

99. In the following sequence of instructions 1 stands for run, 2 stands for stop, 3 stands
for go , 4 stand for sit and 5 stands for wait. If the sequence were continued, which
instruction will come next?

44545345314531245453453

a) Wait b) Sit c) Run d) Stop
Netreu@plb QsTLFeuflens @GmILILN6TLL 1 eTedTLIGI 62 (), 2 6T6OTLI I 16V, 3 6TedTLIGI GLIIT, 4 6T60TLIS 2 L &IT(H,
5 eTeOTLIS QUMM @\ SQSTLTauNlens @eueumm Q&ML (BLD erevfleL &GMILILN60T LI S|H\S S TS U(BLD?
44545345314531245453453

a) QT b) 2 &M o e® d) mlev

100. Among the residents of a street, 65% speak Tamil, 52% speak Hindi, 40% speak
Malayalam, 30% speak both Tamil and Malayalam, 32% speak both Tamil and Hindi, 25%
speak both Hindi and Malayalam. If 10% speak languages other than these three
languages, then what is the percentage of residents who speak all three languages

@ Q5 Halev euB LILIeuFserflev 65% CUT HLAWLD, 52% CLT @\HS\ WD, 40% CLIT DMV TET(LOLD
CUSGRMTTSET. 32% CGUIT SLA(1WLD @\HS WD, 30% CUIF SLO(WDLD LDV WITETINLWD, 25% CGUIT @HH Wb
LDemeVWITET(LOLD, 10% @ Lhewn et Qumblseneargselly MM QLMHGHen6TW LD CUSFTHMITISHET 6Tevrl60
eneirml QMPlGEemeT b CUFS Q&S 6UTE 6T 618556 F&6igL10?

a) 10% b) 80% c) 90% d) 20%

101. The ratio of the volumes of a cylinder a cone and a sphere if each has the same
diameter and same height is

el LLb LnMmMIh 2 Wb Gy LM I 2_6T6m 2 (H 66T, FalbL] LDMMILD C&ITeTd B 60T & 60T 616 8 61fl 60T
& 51D

a) 1:2:3 b) 2:1:3 c) 1:3:2 d) 3:1:2

102. The product of two numbers is 432 and their LCM and HCF are 72 and 6 respectively.
If one of the numbers is 24 then the other number is

@\ (B eT600T8; 61l 60T G\LI(IH & & MLIEVEIT 432 LOMHMILD 3|emeuserfledr LS. F).10. LoMHMILD LS.QUIT.6U. (emmMGL 72
LMHMILD 6 94L& LD. 3|6LQ6U6TTSH 66V 6 (H 6T600T 24 6T6uI 16V LDMGMIT(H 6T6TOT

a) 18 b) 22 c) 36 d) 48

103. If a and b are two non-zero rational numbers and (2 + V3)/(2 - V3) = a + bV3 then the

value of b is
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almMIb b SLHwWerr @BURLBWnmm NG S M) 6T6voTSH6T LM MILD (2 + V3)/(2 - V 3) = a + bv3 erenflév b -6or

LOGLIL] &IT600TS:.
a) 4 b) 7 c) 6 d) 8

104. Consider the following statements:

1. During the Harrapan period, the use of silver was more common than gold.

2. The weapons produced by the Harappans were mostly offensive in nature.

Which of the above statement(s) is/are correct?

a) 2 only b) 1 only c) 1 and 2 both d) None

LS 6tTeU(BLD FaM MIG606TE &5 6L 60T U] IS5 6iT:

1. anIUIUT SHTusHev hsHms el Qeudrefluilerr LWeTUMH B &IMTE @) (HHS .

2. @OLLGTS6T SWTHHS WS EIG&6T QLHLDLITILD &8 EGLWD &60Tenln 618 T6EUoTL6mel.

GLOG6v 2 6iTeT FaM MG erflev et Filwmeorsi?

a) 2 I0L_(LD b) 1 (D 0) 1 lMmMILh 2 @revor(hLd d) @ueoor(hLd @)6L6m6V
105. Which of the following Harappan sites was found the earliest evidence of surgery?
a) Dholavira b) Kalibangan c) Mohenjodaro d) Harappa
L edTau(BLh QM ITLILIET SerTmigeriley 6T HS TID 9 miemel TG &emnaull6ir o1, TDL QLS TTLOMS

sevorL MLl LgI?

a) G meumadlym b) &merfl LIl & 6ot 0) QM&HEESTCTT d) el

106. Consider the following statements with respect to the Consumer Protection Act,
2019:
1. The Act introduced the concept of "product liability", making manufacturers, sellers,
and service providers liable for harm caused by defective products or services.
. Mediation is now made a mandatory first step in every consumer dispute under the
new Act.
. The Act empowers the Central Government to appoint a Chief Commissioner for
Consumer Protection as the head of the Central Consumer Protection Authority (CCPa).
Which of the statements given above is/are correct?
a) 1 only b) 1 and 3 only c) 2 and 3 only d)1,2and3
BISTGUMY UMSISTULEF FLLID, 2019 QSTLTUMS LN6Teu(HLD Fah Ml &606TE & 6U 60L& 6iT:
1. @bhs&F FLLID "swumiliy QUTMILIL]" er6drm) SHHmE M WSLUIUGSH WS, @S &emmum@® 6Ter
QUITIHLGET 96V6V S CFeMEUBETTEL gMLIBHILD BI85 EHE S 2 MG S WITET 86T, 6510 LI6w 60T L IT6IT 785 6T
LMHMID CFemeU 6ULPMEIGHITSHMET QUTMILICUMSEF QF LR MSI.
2. UHW FLLSH 6T BLh eeuQeun® BsFCaumy KyFFameruiiguib 106 SH weuglh GLIGCLITSI &L LITW (NSH6V

LI WITs LrHmLUl G eTersl.
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3. 05HW BISTCUTT LMTSISTLIL] 31,60600T WSS 60T (CCPA) &6016V6UTITS HISTCEUTT LIMSI&TLIL| 8 8Teor
SHEM6ELENLO I, eMmetTLen T BlWIAES @ H&HEF FLLID ST J&HES SH &ML eflERmsl.
GG QEMH&&LILILBH6Tem samml Serflev et FHlwmersi?

a) 1 (b b) 1 tnmmith 3 ()LD c) 2 InMmmIh 3 I GILD d) 1,2 oMb 3

107. The famous dancing girl found in the Mohenjadaro was made up of:
a) Terracotta b) Steatite c) Red limestone d) Bronze
QLTaMEHEFESTCTTeN6V &meoor LILI(GILD L&SLDAUMM HL6UTL QLIEUIT §l6mev 6T 60T M6V Q& WIWLILILL SI?

a) QLpGs L b) erGLemL L ) FaullL] & evoTeuoT MO d) QeuevoTEHeVLD

108. Match the following
List-I List-II

Harappan settlement River
a) Lothal . Indus
b) Kalibangan . Sutlej
c) Ropar . Ravi
d) Harappa . Ghaggar
e) Mohenjodaro . Bhogao
QUTBS SIS

UL 1g wev-| LI 1g uiev-li
QUL G Cwmmid 153
a) GeuIMg 6V 1. A
b) & merflLImi & 6T 2. FLQevY
c) Gpmuy 3. yefil
d) amyaum 4. BT
e) QUMM EhFSH T 5. GUIM&Mel

a)54321 b)54231 c)25143 d45231

109. Which one of the following represented the royal secretariat during the Sultanate
period?

a) Diwan-i-Wizarat b) Diwan-i-Barid c) Diwan-i-Insha d) Diwan-i-Arz
&G MeTSH 66 HMVEHH L ITF QAFWVESHMS LNTH B S SIeuILB S S WUy Wimi?

a) Heumedr-@) -l FMrsH b) Bleumesr-@-Lmiflg ¢) B6uTedT-@)-@)0TO IT d) Bleumedr-@)-3yeru

110. Consider the following statements:

1. Muhammad bin Tughlaq created a separate agricultural department, Diwani-i-Khalwat.
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2. Gold coins or dinars became popular during the reign of Alauddin Khalji after his South
Indian conquests.

3. The Indian classical work Ragadarpan was translated into Persian during the reign of
Firoz Tughlaq.

Select the answer from the codes given below:

a) 1 and 3 b) 1 and 2 c) 2 and 3 d)1,2and3

L 6dTeU(BLD FnM WIS 60I6TE &5 6L 60T UL I & 6iT:

1. &SI 6T 518568, Beumeoil-@)-&6veUs eTeiTm & 6ol NeUF TS SlemMmenl 2_(IH6uTE S 6or Tij.

2. Q5 6tTent1 B W Qeumn & EHs &L LNME SievmeyS et &evuN6ir oLl & &TeVS B 6V ShIG [FIT6U0T LI M 6T
SlL6L Gl Heormiy LNFLIGULD60IL[H G 60T

3. @BS W LurFLURlw LML LILITET FM&STL6T SLNGCTTev SIS%ars:&H 6T SR8 &meus e LTTEs
QumAuile QLMPOAUWTSSLILLLSI.

SC Aam@H&&LIULBG6reT GMuiG &efledl (B g LIS amevs G5 HASHH &80 LD:

a) 1 lnmmiLd 3 b) 1 LoMHMILD 2 €) 2 LoMMILD 3

111. Who was the author of a book Kitab-ur-Rahiah?

a) Amir Khusrau b) Zia-ud-din-Barani c) Ibn Batuta d) Alberuni
GLmU-2_ F-panWiT eTedTm e Bredlesr oA flwi wmry?

a) ST Gev b) enSlwiIm-2_&-5) 607- LI y6vor] o) @uer-Ul LT d) 2J6LQLI(H6vf]

112. Which of the following statements about Humayun’s exile and reconquest of India are
correct?
1. After losing to Sher Shah Suri, Humayun sought refuge in Persia, where he received
military assistance.
. The Persian influence is evident in the Mughal court’s architecture and administration
after his return.
. Humayun recaptured Delhi from the Sur dynasty immediately after Sher Shah’s death
in 1545.
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
QeLn T, 6ofl6or HIT(H & L8860 LM mMILD @)HS W memneu L6voT(HLD 608 LILIMMIGS6L Limw L9 edTeu (BLD
Fahmiserflev a1zl Frlwmersi?
1. G&j&m GfluiLb Csmhm VNN, an~LMWer LTTFSESH0 SEGHFL LGSHSTY, ShEG T @TTEDieu
2 geallemwill QUMHMITE.
SauF H LW LNeTeTy (D&MW S TFeneUUll6T &L 19 86&m6v oM MILD BlIFeUNsSS 60 LMTTEs
QFLUTEG OF6allaunssd Q1S M.
1545 @6V Q6 T6qmell6dT LOFetuTsH MGLI LNM G 2 L 60TIq IS Qy°LOImUL 6T QL euedlemw &
UL &S H O [BH S LS6voT(HID 608 LILIMM6OTITI.
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a) 1 wmmid 2 (KD b) 2 oMM 3 L (HILD 0 1 MM 3 I (HILD d) 1,2 lnmmilh 3
113. Match the following local officials with their functions during the Delhi Sultanate:

Officials Functions
a) Amil (1) Maintained law and order in cities and regulated markets.
b) Patwari (2) Collected revenue at the Pargana level and oversaw tax assessment.

(3) Maintained land records and assisted in revenue collection at the
c) Kotwal
village level.

(4) Handled judicial matters and acted as the chief judge at the
d) Shiqdar
provincial level.

B 66l Fevg Mol GG 6T GUIMEI BLDHH MDD 2 6TeMTL T | eVI6U6TEeM6T 3| 6ulT8 6rfledT Lieoor] & @b L 6o
QUITH S 515:
AL il:To QEFweLImT®H & 6T
(1) B&JRIGET MM RUBIGURSSLILILL Fhengseflél FLLLD (0HEiens
uprmiflggsev.
(2) LTS TETIT DL L& B 6V 6uHeuUml 6U@Ee9 5560 Lnmmib eurfl LG LIS emL GLMUTTenel

a)Lflev

b) UL eurrifl L.
Q&FWSHev.

(3) Bl LB Cau@SemeTLl LIFTHSS560 IMMILD ST Sj6emelléu eu@Heu Tl 6uEe0&s
2 5656V
(4) 55 S z160m QUM IS EM6TS 608 WITEUOTLITIT LM MILD LOMETEuT 0L L& 56V

c) G&IML6Umev

d) &g my J3 KN
Senevenlo BHLSWTE Q&FWeLLILLITHT.

a) A-2, B-3, C-1, D-4 b) A-3, B-4, C-1, D-2
c) A-1, B-2, C-3, D-4 d) A-4, B-1, C-2, D-3

114. Consider the following statements regarding the Keeladi excavation site:
1. The artifacts found at Keeladi suggest that the Tamil civilization had an urban culture
as early as 6th century BCE.
2. The Tamil Brahmi script inscriptions discovered at Keeladi indicate a literacy culture
that predates Ashoka’s inscriptions.
3. The findings at Keeladi have no connection to the Sangam Age.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
S SISLPMILEY SemGHeamG LI LMW SBLh& & 6uoTL. 3|8 608860 6T &([HS5HB 6V 6\ & IT6IT(Er M & 6T:
1. Siuilév ST &&LILULL SameVlIQUTIBLSGET SO HISHflewn G (p 6 S4LD HBITM M ITevor LY 60T
WHUGSH WL BHFTLULM STFFTIEHM S8 G &IT600TL.(5HSH ST Fa MG 60T M 6OT.
Sruuid sar@GUnssuulL Sl KTl aws SIS &G 6L H & 6T 3G mssifler
SV SEHEEG (PHMSW SHevallwnmley HaTEFTIS S & &8 60T M 6or.
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3. 81 ST LILSEFEHE FhisETeVSH L 60T 6THE Q& TLIFLLD @) 6Vemev.
GG QMO &S LILILB6Tem 9 MEeans&eaflev srflwmeraumenm CHT6ey Q&FUIWaLD:

a) 1 LMmmILd 2 oL (HILD b) 2 LnHMID 3 L (LD o) 1 mmib 3 LG d) 1,2, Lommild 3

115. Consider the following statements regarding the recent discoveries at the Marungur

archaeological site:

1. A 13 cm-long iron knife was discovered, providing evidence of early iron-working
technology.

2. A conch shell was unearthed, suggesting maritime or ritualistic significance.

3. The site is located in the Sivagangai district of Tamil Nadu.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3

1. w@EREgl6L 13 QF.15 HeTnmeTr @UBLOL S &5 5 &evoT(h LIN.&8&LILL B 6TeNg, @& 4 TILSTev @) (HLDL]
QS M 6L BIL LIS S 60T &IT60T WIS M6 6ULPMEIEGEH M SI.
@(H FRIGETET QUTIHET HeuorGLEIQGEHLILILL S, @& SHLOUFTT S6V6VGl FLMEIG (D& WS S6UE 55
&H&ERDS!.

3. @556 Flausnkiens DML LS H 6V S|60L0MHSI6TenSl.

CLOG6v 2_6iTel FaMMIG6rflel FHlWITaTenel 6Temeu?

a) 1 lnmmiLd 2 L (HLD b) 2 lnmmith 3 L (HILD ©) 1 MmMmID 3 L (HILD d) 1,2 lnmmiih 3

116. Assertion (a): The discovery of a pottery sherd with the word "Puli" inscribed in Tamil
at Thulukarpatti indicates the presence of a literate society in ancient Tamil Nadu.
Reason (R): The Tamil-Brahmi script was introduced only after the Sangam Age, influenced
by northern scripts.

In the context of the statements above, which of the following is correct?

a) Both A and R are true, and R is the correct explanation of a)

b) Both A and R are true, but R is not the correct explanation of a)

c) A is true, but R is false.

Famml (A): SINGSTULIQUIN 6L "L|60l" eTedTm SLAILDEF Q& TV eYIL 60T Q1LIMNI & & LILIL L LO600T LIT60 60T 62119 60T
SeoT(HLIg LI, LpemowimerT SOl & FepSsSHH 6L aTWHSM6Y Q(hhHms S &TLHISH M.

&myeorid (R): SO LI-Lgmdl eTW&H Sl FmIs STVSS MG L LNMES LALLM 6T g 518 &6l 6T &MTH 88 mT60
2 (HeUMmeorsl.

CLMH&HEU0TL. Fa M MIGEMETL QLTS S, FFlWmer LGemevs CHT6ey QFLs%:

a) A lnmmILd R @ revor(b &ifl, Goevild R ereoTLIZ A-efledT Fifluiment edlemgsssLn.

b) A lnmmMIb R @Fevor(hD &1fl, 160Tm6eL R eTetT LIS A-al60T &FiflwimenT aflemg:asLn 3{6v6v.

o) A &1fl, 9u60TmeL R Heum.

d) A eumi, syeormeu R Fifl.
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117. Consider the following statements about the Sangam Literature and its chronology:
1. The First Sangam lasted longer than the duration of the Second and Third Sangams.

. The Pandya rulers were the primary patrons of all three Sangams.

2
3. The Second Sangam is the only one whose literature has been entirely lost.
4

. The First and Second Sangams were conducted in cities that were later submerged into
the sea
Which of the above statements are correct?
a) 1 and 4 only b) 2 and 3 only c) 1, 2, and 4 only d) All of the above
FRIS @SS WL IDMMIL F6T Smevalflend LHMIW LNeiTaUIHLD FaM MG 606TE & 6U 60U Mg 6iT:
1. SH6L FMHIGLD @) TEUOTLITLD LM MILD PLNETMITLD FhIGEIG 6Tl Hmevdeng 6SlL HevoTL S&meuld 51955 5.
2. LIT6OoT LYW 4, L G LI ITEITIT & 6T eLOGOT M & MGl &5 M1 &5 61l60T (LD & 60T6mLD L|IT6U 6V T8 6lT.
3. @ EUOTLITID &FMISGWD L GG @) V&R WhIGemeT WHMIaInms @LHsieNl LSl
4. 1056V DM MILD @)[J6UOTLITLD &I MHIG 6T LIN6OT6T T &L 6VIT6V CLNLNS 1.8 & LILILL [H& T EIS 66V [HL&&LILIL L 6uT.
CLOM&600TL. Fa M MIG6TTl6L eTemeu FflWITeuTem6U?
a) 1 LDmMILD 4 L (HILD b) 2 LMMID 3 L (LD
) 1,2, Hmid 4 G d) CLMFnMUI DTS SN

118. Identify the wrong statement about Mudumozhi Kaanchi stated below:

a) Mudhumozhi' means 'Pazhamozhi, Kanchi means 'Nilaiyamai'. This shows Nilayamai

(uncertainity)

b) Mudhumozhi Kanchi was written by Koodalur Kizhar

c) There poems are from 'Ammai enum Vanappu' mentioned by Tholkappiar

d) Mudhumozhi Kanchi is considered to be the forerunner of the book Aathichoodi

The statement

BLPE&EHTEVID G mISGefley WPWHAWLTHS &TEHE GNHS QF LG &6 @b QF WS Saummeareasg C5T&
WL eTadTmMeL LILPQMLY, STEHTF 6T6dTMIT6L BlemevWiMemin. @& LILQMIuiev Blemeuwlmennem s
G WFE DG
QG TWH W] Fnl QTS GO
QBTOSTUILIWT Samilh DD 6TETERIN aUaTLILI6 @)LILITL6VS&6T SiLMHIGLD

2SS G4 BTLEEHSE (NETCETTY. PSS &TEhE)

119. "Found the skill of hands there and the power of foot here" The meaning of this line
in Kambaramayanam'.

1. Breaking of Bow by Raman 2. Liberating Agaligai from curse

3. Killing of Thadagai 4. Victory over Ravanan

a) 1 only b) 1, 2 only c) 2, 4 only d) 1, 2, 3 only
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"60 & 6UGEUUTEUOTLD | MBI(S & 6U0TGL 60T &ITEV 6L6TOTEUUTLD @) MBI(S & 600TGL6OT" 6T60TM) & LDLITITLOITW 60T LIML6V eurfl
2 6T & SID QF WIS eTedTevr?

1. @6 SV S Sl 2. 91569605 &L NlICLOMF6UTID QUMM S

3. MLem&emW auslh Uiflhs sl 4. @\[JIT6UGTOTEM 60T G\6U6OTM 1

a) 1 L@ b) 1,2 L (HILD Q) 24 WL @D d) 1,23 L@

120."Namaarkkum kudiyallam Namanai Anjam" - Identify the poet who had composed the
poem. (I am not a slave for anybody. I am not afraid to Yama Dharman)

a) Thirugnasambandhar b) Thirunavukkarasar

c) Manicka Vasagar d) Thirumoolar

"BHTLTTH G GLGWeCEITLD [HLOEMEIT B|EHCEFITID" 6T6TMI LITLGWI6UT WITF?

a) H([HEHTOTF DB b) B BHTE&HEHTFT C) LDIM600T1 & & QUMTEF &[T

121. Match the Following with the Correct Meaning:

a) "Mundhaiyirundhu nattoar koduppin nanjum unbar" — Love

b) "Neerinramaiyaa ulagham pola" - The gentle nature of chasity
c) "Alli laayinum virundhuvarin uvakkum" - Refined / cultured behaviour
d) "Saadhal anjen anjuvan saavil" — Fear of separation
QML QUTBCeTT® QUIMTIHS S18:

a) WHensWBHS BHLCLTT Q& TH LN 6T H(Eh&+LD 2 600TLIF - 1. HTH6L

b) BfledrmemOWIT a6vssLh CLIMeV - 2. &ML 60T QLO6LESIW6L

) 316060 eumrullswiLd &9 (B IH Gieufl6oT 2 618 LD - 3. peoll BT&I&T

d) FT5H6L 26HCF6IT I (ehareuedr Fmeiley - 4. 9 fley o &&FID
a)4321 b)2314 c)3124 d3214

122. In the Kural “Ozhukkam vizhupandh thurandhaarkku yaarmatrum
ilzhukkamaivathaam pira”, what is the correct meaning of the word ‘ilzhukkam’
(BWwss10)?

a) Mistake b) Discipline c) Sorrow d) Laziness
"@RUWEEL lWLUILDB SIMBSTFTEES WTTLNMHMID @ WEHEEamneugTd Nm" - @merfley '@ (W& &1D’ 6T6dT LIS 60T
QLT 6T eT6dT60T?

a) Halm b) &L &&ID ) SleTLLD d) @& mibLIev

123. According to Thirukkural, what is the mark of a house without poverty?
a) Wealth b) Children c) Guest’s presence d) Charity
B ([H&GmerleirLLy, aumienln G 6V6VMS 6L 19.60T 6L WITETLD 6T60TEUT?

a) QFeValLD b) GLO1H60) S 56T o) e BEeoT 60T QUH 5 d) &meoTLd
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124. "Virundhokka vaiyagam thangenba vaiyaththu, araththokka saalbudaiyaar maattu.".”

—What is the central idea of this Kural?

a) Hospitality builds heaven b) The world exists for those who host guests
c) Good people don’t eat alone d) Dharma starts with charity

" (BHOSTHS MEUWSGLD HHICSETL 6maUWS S, MSOSTHS FTLEMLWITT LTL®B." - GmerfleT enwws
&5 (55 S 6TEOTCOT?

a) ABHESHMIDL QEFTIHEHEMS 2 (HEUTHGH M b) e BHESHTIDL|LD HVECVMIHESTHGEI 2 V5D 2 6Teg!
) BLEVAUTSHET FHeoflWmss FTLILI (G eUFH 6vene6v d) 70D QB MeooT(h Q&F T BHS QSTLEIGHMSI

125. "According to Thirukkural, who is the guiding light through suffering?"

a) Friends b) Those who follow the path of virtue
c) People of the same age d) Elders

B\ (58 G merfledr LILg," SIeTLSH 6L eulflGTL(HLD Qeuerfl&gFb wmy?”

a) [H600T LIT&6iT b) @imLbeud LNedT LM mILIeN &6

) BHBIGET WS 2 60 L LIGUT&HET d) Quflewmy

126. “Ozhukkaththu neeththaar perumai vazhukkadhu” - What is the core message of this
Kural?

a) Even well-behaved people can make mistakes b) The glory of the disciplined never fades
c¢) Discipline can destroy a person d) Discipline is difficult to practice
"PWESHSS BHSTT QLHNW UWRSSHTS" - Gmerler (&S WIDMeT Q&FUIS) 6TetTeor?

a) [H6V6V BLG60 S Q& Te00T 6 J&HEBHLD Seum Q& UIWIGVTD b) @& n6TamTel 60T L|SLD Bl6016vs B (H 5 LD

0) RS RMHeUmT N EEHEFa(HILD d) @W&&ID GenlLNIgliLg AFnmn

127. Consider the following statements about the Rowlatt Act agitation in Tamil Nadu

1. The Marina Beach meeting in 1919 marked one of Gandhi's first mass gatherings in
South India.

2. The Madras Satyagraha Sabha was formed to coordinate anti-Rowlatt protests.

3. V.0. Chidambaranar led a violent protest against the Rowlatt Act in Madras.

Which of the above statement is/are correct ?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d1,2,and 3

SUIDBTLIG60 QIeTeul FLLLI GUITTLLLD G5 SI LN6Teu(BLDd N8 60 s eneTs: &6 6ol b g 6T

1. 1919 9ulb L600TLL6V QOO L M&E M Fal L LD QG 6dTeur1h S Wmaileév &mh S uSl6iT (NSH6L Q6 (G Q60TE

FoLLMIS66L e6eTMMEGLD
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QLLITEV FSHWMTR TS FeoLl QemeuL. FLL rHFLIL CUTTTLLSMS 6 (Hh S 606007 &
S|MGESLILLLSI.
.2 FHLOLTTTT Q&FaTeneoruiley QeTevl. FLL GG MG 6TH T T6ur eusiT(penm CUMIMTLLESH MG
56M6V6DL0 55T IS 6uT ITIT.

CLMSEUOTL. 6THS FaM Ml FHlWITETem6U?

a) 1 lnmmiLd 2 ol (HLD b) 1 oMmmith 3 ()LD ¢) 2 oMmmIb 3 (LD d) 1,2 lommib 3

128. Which of the following statements are correct regarding the agitation for the removal
of Neill’s statue?
. James Neill was involved in violent reprisals during the Revolt of 1857.
. His statue was initially installed at the Mount Road in Madras.
. The statue was removed immediately after the 1857 revolt.
. The statue was moved to the Madras Museum in 1937 under Congress rule.
a) 1, 2, and 4 only b) 1, 3, and 4 only c) 2 and 3 only d1,2,3,and 4
H6L Flemeveml & MH MU MHETer CLUMTTLLLD GM& S LeTeu(pld Fammigertley a1 Frlwmersi?
18579410 o4,600T(H) G eTF&FA UG 6or GLIMSI GL3Lherv H6L euUETINEM MW TEoT LILSIUITMHI(GLD [HL6U1Y.8 60 & & 6rfl6L
FOULLTYT
eurs Flemev (PS6916L LOGTITENV D66uorL CITL L6V Ml mieu Il L SI.
IhS Flemev 1857 R eMT&FF &G LI LNM(EGS 2 LTI ITE: S|&MHMLILILL I,
B\HS Flemeu 1937 QLD 9I,600TLY.60 STEIG Tev 4L FUdletT BLb QF 6iTem 60T I (BHMHBIGTL FWSHSH MG
LmrHMLIULL SI
a) 1,2, Lnmmith 4 10" ()LD b) 1,3, InMHMILD 4 0L_(HILD ¢) 2 InMmMID 3 0L (HILD d) 1,2 3 wmHmid 4

129. In the 1937 elections, which of the following was a key reason for the Justice Party's
defeat?

. The Congress party boycotted the elections.

. The Congress party participated in the elections for the first time.

. The Justice Party failed to address the concerns of the rural population.

. The British government imposed heavy restrictions on the Justice Party's campaigns.
a) 1 and 3 only b) 2 and 3 only c) 2 and 4 only d) 1 and 4 only
1937 gub o600 CHTHLGeM 6L, BH & &L F ulletr GameL6N & & Mo (LN &S LI &5 ITIT6U0T 61 & 61T 6T6M6U?

STRIS TV &L G5 T568erflél LIKIGH M6l 6Lemev.
STRIA TV &LF WHaTW S0 CHTg5eua6 el LRGCHMMSI.
B8 & &L S\rmuLliLm & sefler G emmaemeT Blaufs s Qewwsg Seumlelll L.
WL geq 9irs BH & & A uller KgFFmyrmsefley &M enwwmeT &L HLUTH &6 eSS 5 51
a) 1 LnmmILd 3 L (HILD b) 2 LoMMILD 3 DL ()LD €) 2 LoMMID 4 10 (HILD d) 1 iommith 4 ()LD
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130. With reference to Dheeran Chinnamalai, which of the following statements is
incorrect?

a) He fought against the British in the Kongu region.

b) He initially collaborated with Tipu Sultan.

c) He was captured and executed at Kalayarkoil.

d) He was known for guerrilla warfare tactics.

B 760T &) 6OT6uT LD 6MIEVEM L QILITMIS & 6U6en(T, LN6iTeU(BLD Fo MG 66 6181 &6eUMTTSI?

a) Slal Q&M UGH UL obmIRCWTHEHEE TH T ML GLITTTIY60TTT

b) olauF LI &S TEIL 60T STIDLISHE) Fnl L6001 6M6US ST

0) Slauf &S QFWWLILL R STemnemulmyCasmuilev 6redTm @)L SH 60 STEGH 60 LILIL L TI..

d) sjeuy Q&Mifleveu GUTT (EMMEEHEHE GQLIWFQLIMDMET.

131. Which of the following were contributions of Yusuf Khan as Governor?
. Reviving temple endowments
. Defeating Hyder Ali
. Encouraging weaving industry
. Introducing Mughal revenue policy in Madurai
a) 1, 2 and 3 only b) 2 and 4 only c) 1,2 and 4 only d1,2,3and 4
L) 63T 601 (IH 61 60T 6U (D) MU 61T WL &I & TEOT L EBHT TS B\ (HHS S 6UT QF IS LIMG6TLIL|&6T Wmeneu?
1. Gsmuilel 9IME L LEMETS 66T L|SILILI S 860
2. emamgy edlamw G555 60
3. QBFey QTlemev 268 (G685 60
4. LgImTUI6L (NSEVITW GUIBEUTII Q& TeTemn & em MW & LILIH S S 6V

a) 1,2 lommitd 3 (LD b) 2 LnMMILh 4 10 ()LD o) 1,2 mmib 4 0Bl d) 1,2 3 wmHmid 4

132. Which of the following parallels can be drawn between Ambujammal and other
freedom fighters?
1. Like Sarojini Naidu, Ambujammal participated in both political and social reform work.

. Like Durgabai Deshmukh, she was involved in drafting legal reforms for women.

2
3. Like Aruna Asaf Ali, she went underground during Quit India Movement.
4

. Like Kamaladevi Chattopadhyay, she was instrumental in promoting handicrafts and
women cooperatives.
Select the correct answer using the code:
a) 1, 2 and 4 only b) 1 and 3 only c) 2 and 4 only d1,2,3and 4
SO LGSO IOTEHL60T BLh& & 600TL. LOMM &HSHH L CUTTTLL afyFserfler erihs LIMigefllenu LI Leumn?
1. Fermglenfl BT Heneaill CUMVEa, DL|QWIMTEHLWL SFERIW IMHMID Fens ETRHSSLI
UenoflSerfleL LIBIGSHMHMITI.
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SITSTUM CHaq (& ema L GLITeLGE, GILIGTITS @h& & T &L FJ S (555 M & 60 6T 2 (Ih6U T8 (& 6UH 6L
@ eu(pLD FFHILILLITH.
S|([HEUUTIT SLFLI S e0lemwiL] CLITeLEEU, QeueiTememGeur QeuerlGW M @)W &8 S T 6T CLIMSI @) 6U(HLD
&60)6UL0 60) (N 6L ITEOT ITIJ.
SLaMTCsH FLGLTUMSWITWeneuLl] GLMTeuEeU, 608 65 6060TLIG LITIH L& 6T LOM MILD G\LI6T0TSS 6T
Sl HMmeysener GBS SIS 6L @6eul (N&S W LINIG euSH &S TIT.

MWLl LweaTU®SS Frlwmear LUGlamevs CHTHAS M &&e]LD:

a) 1,2 DMMID 4 L (LD b) 1 LoMMID 3 L (LD ¢) 2 LnmMID 4 LD d)1,2 3 wmhmib 4

133. Consider the following statements regarding K.B Sundarambal:
1. She was the first Carnatic musician to act in Tamil films.

. She was conferred the Padma Shri in the 1970.

2
3. She was the first playback singer in Tamil cinema.
4

. She was the first woman artist to receive a State Artist Pension from the Tamil Nadu
government.
Which of the above statements are correct?
a) 1, 3 and 4 only b) 1, 2 and 3 only c) 2 and 4 only
Ca.\.&hgymboumer Lmnlw LNeTeu(BLD FaMMISHem6TE & 61 6oL MBI g 6T:
slh Feflnmellev HL9G5SH NGV SIHTLE ) enFE He06V(EhT @) 6UTEITeor.
@6euEE 1970 @ 6L LSS Nl(HSI eULPMBISLILILL SI.
50l Fevflnmefedr (n56L LI eoreoreoofl LML) @) 6u T8 TeoT.
50l s JTFALOIHHS WMHleL &a6evEhT UiaLSHWLD QLIMM (LPS6V GILICHIT &6M6VEHIT I, 6UITH.
CGLOG6V 2_6iT6T Fa M MG 6rflev e Frflwimeorsi?

a) 1,3 LoMmMILD 4 DL ()LD b) 1,2 nmmILD 3 WL (HILD €) 2 LoMMID 4 1D (LD d) 1,2, 3 mmilbd 4

134. Sornammal’s activism during the freedom struggle was aligned with which of the
following philosophies?

a) Marxist revolutionary thought b) Gandhian non-violence and rural empowerment
c¢) Socialist agrarian uprising d) Armed rebellion inspired by Bhagat Singh
&SHH L CUTTTLLSH 6T CUTEH Q& miyevorinlomenleir QW eLIMBH&S6T L6iTeu(pLd 6THS &5 Sl 6u 8 &I 60T
860 60T (5B (B 155 60 ?

a) LTSGR W YTLA&T FHSeneor b) BTHH W P em&F O BFTliLm HEH&TTLe6Tlss60

o) Gemreds aflausml erp&Fd d) UBSFBIST FIHSEILLL U585 HeTisa

135. With reference to Meena Krishnaswamy, consider the following statements:
1. She was actively involved in the Self-Respect Movement in Tamil Nadu.

2. She worked for the upliftment of women and promoted gender equality.
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3. She served as a member of the Constituent Assembly of India.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
6o S\ (1H61q.600T&6u TLAl LIMH NI LD &8 600T L. Fa M) M1 & 60I6TTE 8561 60T LL M1 &5 6iT:
sUlL&ESS 6 Hwnflumangll CUITTLLSH 6 SeNFomes FELULLITH.
@eul QLeuuTs 6rfl6tT (NETCOTMMSH B M&MTEH YLD, LITed6or Flng Fleusems CLLbL(H S Fl6usHME&TH LD
Leooflw T ndl 6ot T,
@6l @S W TR WevenoLiL] FenLulleT 2 L1 eor e Lieuolw b nleormi.
GLOB6v 2_6iT6lT FaM MG 6rfleL eTgi/6Temeu FHlw meoTsi/& Il meoTem eu?

a) 1 InmmiLd 2 ol (HLD b) 2 LnMMith 3 ()LD ¢) 1 wmmib 3 I GlLb

136. Consider the following statements about Captain Lakshmi Sahgal:

1. She was born in Madras and studied medicine.

2. She was a close associate of Mahatma Gandhi in the Quit India Movement.

3. She contested the Presidential election in 2002 as a Left candidate.

Which of the above statements are correct?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only

CaLIL 6T v LAl &Fmas6ev LMW LN 6iTeu (LD &a.(h MG 6eM6TE 861601 MBI & 6iT:
QFeremerrullev MBS LOHS Sieuld LIUNeTM6UT.
Q6u6Tem6TWCET QeueaGU M @WEHSSH6V D& TS0 &THSH Ul QB@HEISW Fal L meflwms @ wHsT.
2002 9ulb 91,600T(H HEOLQLMHM GLGWTEHS SemevelT C5T56960 @ L SIEmfl Geul LImeTymssLl
CumLIquil L.

CLOG6v 2 6iTelT FaM MG 6rfley 6T FlWmeorgi?

a) 1 LmMILD 2 L (HILD b) 1 LoMMID 3 L (LD €) 2 LoMmMID 3 DL GILD d) 1,2 ommib 3

137. Consider the following events and arrange them chronologically:
. Kuyili discovered the Silambam teacher was a spy
. Kuyili was appointed commander of the women’s army
. Kuyili performed the suicide attack
. Kuyili saved Velu Nachiyar during a night attack
Choose the correct order:
LletTeu(BLD B8 D6 & M6 &(HS H 6L Q& meuoT(h Sjeumenm &mevauflenF Ll eurflensLLp S SImn&6lT:
1. Aevib AW @ 2emeumer eTeiTLeMN S S &uied &evorO LN G TT
2. QUeooTE 6T LemLudletr SemUSH WS Guiled Bt GeLILLLTT
3. 5MOEHMMVS &MTHEG M6V &Udledl LGS 6ur Ty
4. @\T6YS HME SS9 6T CLMGI Cousyl HTFFRWMTenT Guiled smlLmmlermy

giflumer aurflenFenw s CHToyQAFILS:
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a)4-1-2-3 b)l1-4-2-3 c)l1-2-4-3 d)2-1-3-4

138. Which of the following statements regarding George Uglow Pope's contribution to

Tamil literature and language is/are correct?

1. Pope's Tirukkural translation is credited with preserving the authentic cultural essence
of Tamil literature.

. Pope worked as a missionary in Tamil Nadu and focused solely on religious texts in his
translations.
. Pope's translation of the Tirukkural has been one of the most referenced translations

in global Indology studies.

Select the correct answer using the codes below:

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3

SUlh @evs&H WD LMHmMID QLTPEEG TR 2.6C6um CumULier uniseaflL &GM&Hs LeTeu(bLh

gammiserflev erg Frflwmers?

1. GumUL6T S H&GM6T QLMBQUWTLIL SLELD ©)6v8 5 W & B) 60T 2600760 L0 W 60T LI6voT LIML G
FMJHMGL LITSH&THS QLGN & Fwgl.
cumrl By Wagerilwmes UssoflwmmmleT Ty WM MIb Sjeurs QumhlauwrLliLserfley 1ng
BIeuaserleu LD HIGLD SeUETLD Q&F syid H6uTITI.
Curliierr S e EGmefler QLMBAQLWFTLIL 2 eusearmeilw @ hSweillwe S uleysefley oS0
GOIUINLOUl L QurPlQuUWFLiL&erflev e6TmmESLD.

SCLp 2 6item GMIUIH HemerLl LwWeTL®G S S SFiflwmer LS emevs G5 HASH &8 LD:

a) 1 mmid 2 0K b) 2 oMMt 3 oL_(hILD ©) 1 MmMID 3 L HILD d) 1,2 lnmmib 3

139. With reference to Iyothee Thaasar, consider the following statements:

1. He rejected Hindu dharma for its justification of caste inequalities.

2. He converted to Buddhism under the influence of H.S. Olcott.

3. He was involved in the Self-Respect Movement activities .

Which of the statements given above are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
SICWNGH) SMEFFT QSTLILITS, LN6Teu(HLD FaD M8 M6T 86U 60T L MhI & 6iT:

1. @bs& ST FTHW gHMSSTPasEemear BlLMULLESSWST e S BlITTsFSST.
2. eTE.6TeN. SLEVBMLIYET STEHHHTEL LIS 0SS H MG oM 6o Ty,

3. sFwwlummsg QWES LI HME S 660 &eiTeneor FHLB S S & 18 meuorLITH.

GG QEMH&SLILIL DB 6TET Fammiserflev ergl Fiflwimerg?

a) 1 lmmild 2 10 (HLD b) 2 lnmmith 3 L (HILD ¢ 1 MM 3 L HILD d) 1,2 lnmmith 3

140. Which of the following books was authored by Robert Caldwell?
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a) A Comparative Grammar of the Dravidian Languages

b) The History of Indian Literature

c) Manimekalai: A Tamil Epic

d) The Principles of Hindu Philosophy

etTeu(plb LSS &MmIG6T60 TMTUFTL &Teu(H G 6U6L 6T H WS eTg?

a) HrmailL Quomidlserler spliLf (h @) 6v8 & 600TLD b) @ MBS W @) 6VEGWI QITeVTMI

¢) enoflGLn&Bemev: sp(h SLAlD &STULwLD d) @bg Quuiulweder Camum® e

141. Which of the following statements about the Theosophical Movement are correct?

1. The Theosophical Society, founded in 1875 in New York by Madame H.P. Blavatsky and
Colonel M.S. Olcott, shifted its headquarters to Adyar, Madras in 1882, and drew
inspiration from Hindu philosophical traditions like the Upanishads, Samkhya, Yoga,
and Vedanta.

. The movement, under Annie Besant’s leadership, established the Central Hindu College
in Benaras in 1898, which later became the foundation for Banaras Hindu University,
but it did not advocate for women’s education.

. The Theosophical Society aimed to promote universal brotherhood without distinction
of race, creed, sex, caste, or colour, and opposed child marriage while advocating for
the uplift of outcastes and improvement in the condition of widows.

a) 1 and 2 only b) 1 and 3 only ¢) 2 and 3 only d1,2,and 3

YWywwEmer @uaésib Lmlw KeTau@bh sammisserley ergl &iflwmers?

1. DemmeuL6rV S LDEMOWITIT LOMMILD SHITEOTEV 6TLD.6TEN.SLEVGITL L ECWITTTEL 1875 JLLD 24, 600TL.60

BluwWriseeu mloeuliul L LNFDLW @ITer @WELD, 3|8 60T &6M6V6NI0ILS S 1882 94LD S, 600716V

QL Fmenledr 6L WMMISGHEG WMHMw g, GO 2 LIFILSBI&ET, FTBS WD, GWMST LMmIb CalgmHeLh

cumerm @\h& S5 SIeU InTL&efledl (B 2 6CausIh QUMM SI.

2. 9|6irent] QLEFGTL »lhemowlmifledr Hemeveniouileir GLb @\HS @) W& LD 1898 9y Lh ,600TLq.60 LIGTITT Fl6vL

LSS W G\Hs saosnflenw Blmielwg, @8 LNeTer T LIGTTI6 @) hS! LI6L 8 6meu s & L0 8 g 5 6or

9195 S6TIOMS MNlW .

3. 971DLD @BITeoT @ WSS @) 6uTLD, 0G0, LIMeSleurd, &FMH) 9jeveu gl BIMLD & WeummlesT GeumiLIm@®

@ 6veuITnel 2 euseaTmelll FCHEMHTSSIeUGHmS CUILIM S SHeueng CHMTEHEHINMES S Q&MeITL Gl, GLosyILh

GLHMG H(HLOUITSHMS THTHS5 S, 3CH CHISH L &FTH eflevd s LILILLauFserfledr GWLUM®E LMMILD

el emeusserfletr Mlemevemwl GLLOLIMSS UTHILLSI.

a) 1 nMmmId 2 L HILD b) 1 (ommith 3 (LD c) 2 IoMmMI 3 0L HILD d) 1, 2 InmHmild

142. Statement 1: Tiru.Vi.Ka founded the first labor union in Madras, marking a

significant step in India's labor movement.
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Statement 2: He wrote a detailed commentary on the entire Tirukkural and published it
as a single volume.

Which of the following is correct?

a) Both Statement 1 and Statement 2 are true.

b) Statement 1 is true, but Statement 2 is false.

c) Statement 1 is false, but Statement 2 is true.

d) Both Statement 1 and Statement 2 are false.

Famml 1: B (3.609.8 QFaTemeruilél (NHL QAGMTHETETT FMhsSens Blmieleor T, @5 @) H S wmeleor
Qamfleumeny QWESESH L @@ GOILNLSS5E885 LIenws GM&EHR M.

Fahml 2: BBHSGSMET WWeusSm& Lo elifleumeor efleTd & e eng T B @CT QASTSHWMTH QeueuiLLm.
L9l edTeu (B eueoTEUM M6V 6T FrlWMTeoTSI?

a) FaMmm 1 HMID Sl 2 @reord &ifl.

b) Do 1 &, SLETTTEL FnMHMI 2 FHEUMTEOTS.

Q) FaMm 1 HEUMTETSHI, QLEVTTEV S MM 2 FFIUITEOTSL.

d) Samml 1 IMMILD SaMM 2 @ Tevor(hlD &eUMTeTen6l

143. Which of the following is the primary reason to end the Swedheshi Movement in a
short period?

a) Cruel activities of Britishers on the leaders of Swadeshi Movement.

b) Aggressive incidents and attacks by the agitators on the Government offices

c) Strike against the administration of coral spinning Mill owned by Europeans

d) Attitude of Moderates

L etraupeusoreumnilevL T8 &HCHHF QW& SHGHMS G MHB W &TeVs F6V (N19.68 (&8 6\ & TevoT(H 6u (IH6U S M &5 IT6oT
(NS ETEMLNS &ITIT600TLD?

a) HCHH QUIEHS SevaliseT g S BIGBCMWTSH6 6T Q& TEGTLMeT HL 6l 86N S6T.

b) ATEFMHIS VIS MHIGET LG HemFFR W meriseflerr &S Tl FhLeUBISET DHMID &8 ESH60&H6T

Q) CIMUIINWTHEH&HGE QEFTHSLOMET LIQETLILITeNM BIML| 3606V BlFaTSHSH M@ eTHFmer Galemnaublmigsin
d) W Beum G &erlei oi8m1E e m

144. Which political movement, not aligned with Dravidian ideology, was founded by two
leaders who left the National Party?

a) Tamilnadu Labours Party b) Swatantra Party

¢) Thamizh Desiyakkatchi d) Thamizharasu Kazhagam

SrmeilL 55 MHE S SIL 60T @) 6m6euuTLITS 61HE TF W @SS, CEAWE &L R el ®
QeueflGw MW @) TeuoT(h &eM6VEUTSHETITEL Bl MmIeULILILL ZI?

a) BLLDBTER Qs miflevmery &L &) b) HSHH TS &G

o sUllp CERWSHHTL R d) s T& &HLp&LID
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145. Rao Bahadur Sir A.T. Pannirselvam was a leader, who previously served
in the Governor Erskine's Executive council.

a) Swarajya Party b) Congress Party c) Justice Party d) Samajwadi Party
Jmel UGS &I ¢.19. LeTafTaFeald @b Hem6VaUTTE @BHSITIT, S6UT (6T EBHIT
eTerL & eufl 6T BlTeUMSH & & (Well6v Liesoflwmmnileormiy.

a) SHWITRWE &G b) &THIG TV &L G o Bs& &G d) FlIomReTly &G

146. Which of the following factors did NOT contribute to the decline of the Justice Party
in the Madras Presidency by 1929?

a) Loss of support among the depressed sections of the society and minorities

b) The Self-Respect Movement under Periyar becoming more radical

c) The elitist and pro-British outlook of the Justice Party

d) The rise of the Indian National Congress in the Madras Presidency

1929 gu1b 31,600TL 66l 6L G\ &F6OTEMEUT LD TS T6uoTS Hev BB &8 L Full6tr aSLh &8\ & (& L9 60T6u (IH 6 6oTeUM M6V 6TS
LI & 6rfl & & el 6L 6t 6u?

a) @M &sUUl L Kiflellery nmmilh A miuimereniowileTiflen_Cul o5 Tene6l @)\LP& 560

b) Quflwmler Senevemnuiley FWWFlWmeng @ w&HsI0D Gain FellFnenL &6V

o BH & SLAWIET 2 WFGLY IMHMILD SBISH G S5 T6) 06T LILITETenLN

d) QFGTEmET DTS TETS HleV @ BT CHFW &THIRFendler erwnsH

147. What was the main controversy regarding Robert Caldwell's classification of the
Dravidian language family?

a) The idea that Dravidian languages should belong to the same ethnic group

b) The argument that language should not be used to determine the origin of a race

c) The tying together of philology and ethnology

d) The classification of Tamil as a classical language

FrUFL &meu@ G eusvederr GlrmallL Qmls @ WU auamsLUUT® GMISS WSS W 6SleursLh 6redreor?
a) HrmailL QuP&6T @G @) 60TéH G (Wemald CFJHEemeal 616 &H(HS5 S

b) @eTEH 6T GHMTMHMEHENS BlTeooTuNG8 QULOTLSemUILT LILITLB & 5880 LTS 6T60TM 6UTHLD

o Qumblulwe mmild @erelllls) L&A WaIMenm @)6N6ETS SIS O & MeTal S

d) sl @ QFLALMAWTS amsELILIMG &S H6

148. Select the correct statement(s):
1. The political group that became the Justice Party was the South Indian Liberation

Front.
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. The Madras Native Association later transformed into the South Indian People’s
Association.
. Madame Blavatsky participated in the Home Rule Movement.
. Soundarapandiyan presided over the first Self-Respect Conference.
Fflwmer samenms G5 HOSMH &&Ha]LD:
1. B8 &&_AWns nrrlwu TP & W A ererlhH W 69(H S emev (LD 6dTeoT6vor.
2. QFeTement LLT6 s FhisLD LI6iTeuT ] Q& 60Teul 1[HH W L0& & 6T FMIGSLIONS LMl SI.
3. GLOL LD LAeTmeuLl6rv ) SetTeor TG @ W &S5 H 60 LIBICHMMITH.
4. Q&FEITIH S T LI ITEUOT LY.L 60T (LNSH6L &WIN W memn s WOMBITL LY MG &6M6V6mnLD &IThIS 6or T,
a)l,2 b) 2, 3 c) 3,4 d) 1,4

149. Match the following aspects with their descriptions:
Actions Reasons
a) Arivu Vidutalai Iyakkam 1. Anti-idolatry protest involving Ganesha
desecration
b) Ravana Leela 2. Movement to liberate the intellect
c) Self-Respect Conference, 1929 3. First public outline of self-respect principles

d) Desecration of Ganesha Idols 4. Anti-Ramayana narrative by Periyar

QFWe6L &ITIJ600T LD
a)oifley afl(HFHemev @) W& &0 1.8 BTwWsT Flene 2 el LIl 2 L LIL &L6a6T TS T CUTFmLLLD
b)@ 7 meuevor 6SeuIT 2.3iMemeu eN(H NG EGSLD @) W& &LID
o&wwflwmeng WMHTH, 1929 3.&wlumeng Q& meTen s & 6rfl6ir (N&6L QLIMGIaUTeor eT6md: &L
d)flBTwsT Aeameuger 2 enLLiL]  4.QUIlwWmKleT Tmmwenr TS FLIL H605
a) A-2, B-4, C-3, D-1 b) A-1, B-3, C-2, D-4
c) A-4, B-1, C-3, D-2 d) A-3, B-2, C-1, D-4

150. Which of the following best describes the ideological foundation of the Self-Respect
Movement launched by Periyar in 1925?

a) Gandhian principle of Sarvodaya and Temple Entry

b) Revolutionary nationalism and armed struggle

c) Eradication of Brahminical supremacy and caste hierarchy

d) Integration of Hinduism with modern science

1925 gulb 31,600TIq.60 QUMM QASTLBIGLUULL SWnflWwmang @WEHSESH 6T P &55THS 3195567505
N etreupeuetTaumnilev ergl FpLiLims efleunl&ES mei?

a) SMTHEWIG6T 6T FIGaMTHWIT Q& TeTema LoMmILD Camulley HemLpey

b) UL Hsr CSAWeIMSID IoMMID SLUSL GUITTTLLLD
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o) Nymnesr QL& &&M0 InMHMIL FMH L Blenevenwl eLdl& 560
d) @bgl IS5 Heier oimledlisvL_ 65T 6 (hBIG) 60)600TS 55 60

151. With reference to decisions taken by the Self-Respect Movement, consider the
following:
. Rejected the Varnashrama Dharma as exploitative.
. Accepted the Puranic stories as metaphors with moral lessons.
. Promoted atheism and the scientific temper.
. Opposed Hindi imposition in Tamil districts.
Which of the above statements are correct?
a) 1, 3 and 4 only b) 2, 3 and 4 only c) 1 and 2 only d1,2,3and 4
swoflwmamg QWSS B S5S (NLG6YS&6T QSTLTLTS LI 6dTeu (heueTeuMenms & 6w 6vllW] b & 6T:
1. UFOTTEITID HTLOGH MG FT6uorL 6V LO&& G eTedTm BT Ta 6%,
2. I IT600TE &60& 8 6M6NT S|MABMIL LIMTLHGISGe6TS Q& TeuorL 2 (1H6U MBI 6T TS 6 M Mi&G6 & TevorL gl
3. BISB&HHmG WD 3MleflWel L06uTLILITETenI 6mW WL LD 26a18 & 685 5 .
4. 8D WmauLlLsefley @S Seufllienu TS TS5 SI.
GLOB6v 2_6iT6IT FaM MG erfleL eTemeu &l meoTemeu?

a) 1,3 MmMID 4 DL (LD b) 2, 3 LDMHMILD 4 WL (HILD c) 1 wmmIb 2 DL (LD d) 1,2, 3 mmild 4

152. Consider the following statements regarding the Whistle Blowers Protection Act,
2014:
1. The Act allows anonymous complaints to be taken up for inquiry if substantial
evidence is provided.
. The Act empowers the Central Vigilance Commission (CVc) to receive complaints of
corruption from whistleblowers.
. The Act protects whistleblowers only in cases related to central government employees
and not state government employees.
Which of the statements given above is/are correct?
a) 2 only b) 1 and 2 only c) 2 and 3 only d) 1,2 and3
2014 9u1b 916007 NIF6L LIGETTW TS ET LIMSHISTLILE FLLLID QG TLFLIMer LN6iTeu(bLD Sa M MG 60 6Ts
55611601 WL M1 & 61T:
1. 6Ol FLOMEIT 94,5 T MIG6T 6ULPMIGSLILILLITE, QUWT GMUIULINLTS LS TT8emer 68 &F T 60 60ors S
M S H&Q&TETeT @ hS5EF FLLID SVLHER M.
2. 26106V LB MTTHEMETL QLMICUS NG L0 H W 26TL060 & 60018 TEUoT1LIL] 31,60600T WS T MG (CVC) @\HhSHEF FLL LD
G &M HeflsRms!.
3. D5HW TS 2B WIFTHET QSHTLITFLTET USG5 6rlev L HICL HHau6v Qg FleflliLauFHemneT @\hHSH&F

FLLLD UMSISETHES M, OMHI6V 978 2erSIWT8 6T 3606V,
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CLGev AEBMH &S LILIL B 6TeT gammi SerfleL 6T Frlwmersi?

a) 2 L (HLD b) 1 LLMMID 2 L (LD ¢) 2 LnmMIb 3 LD d) 1,2 ommild 3

153. Fill in the blanks with the correct options:

The proposal to rename Madras State was first presented by in the , but it
was ultimately passed in the , leading to the renaming of Madras State to Tamil
Nadu.

a) Bhupesh Gupta, Rajya Sabha, Tamil Nadu State Assembly

b) Bhupesh Gupta, Lok Sabha, Tamil Nadu State Assembly

c) Annadurai, Rajya Sabha, Tamil Nadu State Assembly

d) Annadurai, Lok Sabha, Tamil Nadu State Assembly

Frflumeor 69 (B LILIMIS @5 L60T G&ITIqL L. @)L MI&eM6rT MITLIL&5:

QLT LOMBlevs 6T QLW MY oMM MI6USMETET (NeTALmLSley 31,6V @6V (NG TN SH606L

WETEMEUS S LILILL G, SL60TIT6V &I @) mIF uflev @6V BlemMGaumMLILILL I, @ &l L0SITITerV
LrElevsams SALDBITE eredrml WLMAUWIIL aulfleu &5 S5 Sl.

a) LLGBLIOY @GLIGT, IDMBlevBIGaTemnal, SLELBTEH LOMHlev &L L D6TMmLD

b) L,ELEY GLISM, n&&6aTemal, SLOLBTH THle FL L D6TMmLD

C) 9| 6U0TEOOT MGI6MT, LOMBl6VMEIGHETem 6, HLALPHBIT(H DTHBl6V &L L L06STMLD

d) o|600T6roTTSI6MT, D& G eTenel, SLALDBHT(H FL L L06TMmLD

154. Which of the following statements about the Charter Act of 1833 is false?

a) The Act made the Governor-General of Bengal the Governor-General of India.

b) It allowed the East India Company to continue its commercial activities in India.

c) It deprived the Governors of Bombay and Madras of their legislative powers.

d) It attempted to introduce open competition for civil services and allowed Indians to be eligible
for government jobs.

1833 9ylb JL6v0T(H LILLWE FLL1b umnlw LNeTeu(hLh Fo M MIG6rleL TSI &eummeTSI?

a) (b @FFL_LLD QUMIGTETESE 60T 56M6VemLn LEHHMT @)HEH UIMTel6T Hemevemin QLEBHTTES BlWLESSS.

b) BL&RBHH W &HLDQ LT QBHWTel6v 60Tl 6160 & HLEIL.GHMSHHMETS QSHTLY S8 AN SHHS.

€) @& LhUMU LnMHMILD Q& 60TemenT Sb,@BBI&eMer FLU L Wmmih SH&TIHEIG6ETL LG5S

d) Gl9.eminLl Liewot & eh &8 mer QelsrflliLemLwimet CUTLIQeml SIMWSLILGSSaD, @HHUITEET O TFTHIS
CoUmEVEHEDSH G &E&GH WL MLLGITSHETTS @) (H5HE I INT&HEH6|D & (NWETMmSI.

155. Which of the following statements about the Simon Commission are correct?
a) The Simon Commission was appointed in 1929 to examine constitutional reforms in India.
b) The Commission had only British members, leading to its boycott by all Indian political

parties.
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c) One of the recommendations of the Commission was the abolition of dyarchy in the provinces.

d) The recommendations of the Commission were directly implemented through the Government

of India Act, 1919.

&FL060T SL8l6aq60T LIMNMIW BLh& & 600TL. FaM mi&erfleL 6T FrlwmeTsi?

a) @BHwmelev TFwevenioliL| FTHBSSBIGN6T LT MW 1929 @6V &6 &Hilaqed BluWb&HSLILL LS.

b) slagesflev LNl 196q 2 miINeTT&H6T L HCLD @IBHEHTT, @S MeTES @ HSH W TF UL &L FH6TTa D

LM& 8600116 &LILMSMHE alPlalG S5 S,

¢) Inm&mevor B G efley @rlenLwml Senwl eblliLig sidlagenfler Liflbgiemnraefley eermmin.

d) ou,60)600T WIS F) 60T LI H &I T&6T @BEIW T&F FLLLD, 1919 eneuld CHITIQWITS QEFWE LB SSLILIL L 6.

156. Match the following:

Column A (Provisions)

Column B (Details)

a) Introduction of representative

institutions

1. Empowered the Viceroy to issue

ordinances

b) Beginning of decentralisation

2. Restored legislative powers to Bombay &

Madras

c) Creation of new legislative councils

3. Bengal (1862), N-W Provinces (1886),
Punjab (1897)

d) Recognition of portfolio system

4. Member-in-charge could issue final

orders

e) Ordinance-making power to the

Viceroy

5. Nominated Indians to legislative council

A (FOUT@ &6iT)

B (6 6uIy i & 6iT)

a) VI & B &) & 161 B M6 6vr 1 & 61l 607
SMpsID

1.96uEnE FLLBIGSE NMUILNES TP TTlEES

SIH&EMTh S6eflGH5 S

b) SIBGMFLI LIFeU6VITE S S B 60T Q1S ITL& &0

2. LbUmW LMMID DS TTeU©E @ &FLLLSwmmild

OB GTIMHIGSET LS6UoT(HLD 6ULPMHIG LI LI L60T

<) UHW FLL CLO6VEM6UEEMET 2_(IH6UITE (&S 60

3. QUMBIGITEMLD (1862), 6uL.CLOM(S LOITE TEOUT IG5 6iT (1886),

LIEh&FTLI (1897)

d) CUTFL&SCUMeSIGWIT S emLoLIemL

S8 af 5560

4. QUL 2 M6y @ MIB) 2 5576 &H6ene6rT
WL &seumin

e) MUATTE S S uFTF FLLLID @ummih

SIB &My

5. FLL Cevemeus S HlWLneord QEFWwLILILL

QBB W FSer

a) A-5,B-2,C-3,D-4,E-1
c) A-3,B-4,C-1,D-5,E-2

b) A-2,B-5,C-4,D-3,E-1
d) A-5,B-4,C-3,D-2,E-1
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157. Which of the following statements accurately describe specific provisions found in
the Constitution of India?

1. The powers and responsibilities of Municipalities are outlined in Part IX-A of the
Constitution.

2. Emergency-related provisions are included in Part XVIII of the Constitution.

3. The procedure for amending the Constitution is detailed in Part XX

a) one statement alone b) two statement alone

c) three statements

etreu(pld SFFWevemLIL] LIGH & @EbL 66T &Fifl Mg GLIT(H b S W 6TeT SaMmiden e &6vorL 5

1. b&EITLE &erfletr SIFHEHMTIMHISEHLL QUTMILIL&EHWL STFwevennlilfer LGS IX-A @6 CHMILLBH &
STLL LU (b eiTement.

2. 9UEFTSHITV QG TLTLIMeT e& & 6T TR wevennILNedr LIGS) XVIII @60 C&F78 & LILIL (b 6ITerTer.

3. AT FWeven oL LIS B (55 SI6USMHSHITET HevL (Pemm LIGH XX @ 6v aflfleuns g samUiul G 6Tengl.

a) @@ SOl LGILD b) @Ueoor(® FnDMISHET L GILD

C) eLNEOTMI Fon MG 6T d) gsIld QUTHIHES 6l 6vem e

158. Identify the incorrectly matched pair from the following:
Parts of the Constitution Articles Covered

a) Part VI - Articles 152237

b) Part IX-B - Articles 243ZH-243ZT
c) Part XXII - Articles 340-342

d) Part XIV-A - Articles 323A-323B

s sl QUTIBHSTS )60 60060 WS & 600T LMl WieyLD:

LIMT&s MBI & 6T 2 GTTLER W &FJ5 S5 &6T

a) LIM&LD VI FIHSI 152-237

b) LUM&LD IX-B FI&HSI 243ZH-243ZT

¢) Lm&LD XXII FIHSI 340-342

d) LumssLh XIV-A FJ& Sl 323A-323B

159. Which of the following statements regarding the Dhar Commission and its
recommendations is/are correct?

1. The Dhar Commission supported reorganisation of states purely on linguistic basis.
2 The Dhar Commission emphasized administrative convenience over linguistic
reorganisation.

3. The recommendations of the Dhar Commission led to strong public resentment in

South India.
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4. The Dhar Commission report led directly to the creation of Andhra Pradesh without any

further inquiry.

Options:

a) 1 and 2 only b) 3 and 4 only c) 4 only d) 2 and 3 only
ST &L8l6q60T LnMHMIL G 6T LHSIenTas6eT QS ML LIMTer LIeTeu(blo & ens & erflev eTgl &Fiflwimeorgi?

1. Qum@eurf] 9 litemLullév WMFHlVKEIS 6T LMIETmLLILMS STT SullaqeT 215155 5.

2. iy sdlaqer Qumteurd] LmErenwlienu eflL BlFeauns eusSenw eued iy mis S W sI.

3. &y silageufler LINbHSenTs6T QgerefhHwmeallev QUNSILGES6flenL G &HILW S [BLISG enw
gHUESH WS

4. Y &10169.60T IMEHNS 6THS N &FTTem6uuTW LD @)6V6VITLO6N CHITIGWITS SLHH T IDTHlVSMS 2 (HeUTHS
RITOITGT:T-F- 18

a) 1 LmMILD 2 L (HILD b) 3 LMMID 4 DL ()LD c) 4 LG d) 2 lnmmith 3 L (D

160. Which of the following statements regarding the States Reorganisation Act, 1956 are
correct?

1. The Act led to the merger of Ajmer into Rajasthan.

2. The Act created the new Union Territory of Laccadive, Minicoy and Amindivi Islands by
detaching them from the Bombay State.

3. The number of states was reduced to 14 and Union Territories increased to 6 after the
Act.

4. The distinction between Part A and Part B states was abolished.

a) 1 and 2 only b) 3 and 4 only c) 4 only d) 1, 3 and 4 only
1956 3410 o4,600T(H LOMEBleL LOMIFFOOLILEF FLLID QGTLITLITET G1h& 8 600TL FaM MG 6rl6v 618l &Fiflwmeorg?
1. @ &FLLID BB TITREVS T LT @) 60600TS S 6ULSl6UESHS Sl

2. @&FFLLI Lbuml LrElLsSH O BHS KVM&GEEUULGH &S5 ea|, Weflamil mHmib oiudleorig.eil

e &6t eTeiTm LS W weollwer LNFCsHEFHmS 2 (HeuTHR W GI.

3. Qh5EF FLLSEH MG LIMG oMbl & erfleir eTevoTeonl 18 emas 14 94,86 LD, w,eoflwedr L7 GCa & mi g erfl 6ot
6T60OT6UUI 560 & 6 31,5 61D GMMBHLILILL SI.

4. UGS A LHOMID LGS B LOMHlVREISEEFSHEG @ enLullevmer Ceumum®p @U&EELILLL SI.

a) 1 nMmHmId 2 LG b) 3 LnMHMILD 4 0L HILD c) 4 0L (LD d) 1,3 inmmith 4 ()b

161. Arrange the following princely states’ integration into India in correct chronological
order:

1. Junagadh 2. Hyderabad 3. Kashmir

LSl 6dTeU(BLD &LO6IV G ITEUT IS 6M6IT @) IH ) W T L 60T @) 6m6u0Ts S1& FIlWmenT &mev euflem&FLiLILg
auflenglL(H S S18.

1. oINS S 2. MBI MTLITS 3. smaqliy
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a)1-2-3 b)1-3-2 c)2-1-3 d)3-1-2

162. Match the following Constitutional Amendments with the territories they dealt with

List I (Amendment) List II (Territory/Action

a)10thConstitutional Amendment 1.Dadra and Nagar Haveli

b)12thConstitutional Amendment 2. Goa, Daman and Diu

c)14thConstitutional Amendment 3. Puducherry

d)7thConstitutional Amendment 4.States Reorganisation

LetTeu(pLb TR WevemLIL|S B (HS S MISM6T 3|6016U 6018 W TeuoTL. L7 GG & MG @5 L66T QLI5S I8:

LLIqWweb | (B[S SLD) UL qwev 1 (97 Cs&Lh/BL6ULY. 860 &)

a)10 eugl SITFFWevenoLIL] B(HS S0 1.5TS&IT IDHMID H&T QNGCeued
b)12eug SIFFWevemollL] H(H&SLD 2. GG ITeUIT, LITLO6IT LOMHMILD 60 W,

A)146ug SIFFWevemLIL] H(HS SO 3. 4mEGHFT

d)76ug SIFFWevemollL] H(H&SLD 4. IDMEBlVMRIGET LDMIFTemLOLIL]
a) A-1, B-2, C-3, D-4 b) A-2, B-1, C-3, D-4

¢) A-3, B-1, C-2, D-4 d) A-1, B-3, C-2, D-4

163. Which of the following statements is/are correct?

1. The Jammu and Kashmir Reorganisation Act, 2019 bifurcated the state into two union
territories.

2. The Dadra and Nagar Haveli and Daman and Diu (Merger of Union Territories) Act, 2019
created a new union territory.

3. The Andhra Pradesh Reorganisation Act, 2014 led to the creation of Telangana.

a) 1 and 2 only b) 2 and 3 only ¢) 1 and 3 only d1,2,and 3
LetTeu(pLh Fam mi&erfleL eTgi/eTemeu FHlwmeoTsI/ & W meuTem eu?

1. QLW-&TaYST LM FmOLILE FLLLD, 2019 LOMHlVS MG @ Tevor(h W,eollwedr LNy CH&FhIG 6T
NS5 8.

2. 5ISIT LMHMIWD HSFT anGeaued LMMID LITLOET oM MILD emL W, (weoflwedr LIy Cg & migerfler @)6mevorLiL])
FLLID, 2019 e LS W weflwedr LNyCHFsems 2 (Heums:H W .

3. BT LMIETenOLIL] FLL LD, 2014 QGBI TETIT 2 (H6UTEH S ULS6UESGEH S SI.

&8l (15 LI LI MBI &5 6iT:

a) 1 LnMoILd 2 L (I b) 2 LHMID 3 1oL (HILh ¢ 1WwHmih 3 L HILD d) 1,2 moib 3

164. Which of the following best represents Dr. b)R. Ambedkar’s view on the Directive

Principles?

a) He viewed them as legally enforceable and integral to the executive functions of the State.

b) He considered them unnecessary as they duplicated the Fundamental Rights provisions.
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c) He equated them to the ‘Instrument of Instructions’ issued to colonial Governors under the
Government of India Act, 1935.

d) He believed they would eventually override Fundamental Rights through judicial activism.
975 auPN&ETL G QEMlpenmsaer LM LrsLF L9.957.31bCL & & 160T &(H& 60 LI 60Teu (15 61 60Teu M) MI6iT
18 Apuunsl KNreHued&Es ms?

a) Yemal FLLLILLTEILDMS B L (NenmLUIL(H S S8 T UemalWTHaLD, S| TF 6T BITaUTsH Q& W evLITH & EMHL 60T
62 (IH 161 59 60) 600T [5 55 60) 6L LI TS ) LD {61 TT (BT 60T .

b) oemal g LiLiemL 2 flenn allFseneT HHEVEILILIGTE enal CHmalMMeneal 6TedTml {6l &(HS 60T T
c) 1935 @y ld o600T(H) BB NT&HEF FLLSH 6T B &HTevenll il SLEBHISHEHEHEG QULPHISGLILLL '9ime) Mg 560
SLAUGTITLD' 6T60TMI 6T Sjaumenm LI LITH.

d) sjemer @G ullev BHGSIemm QFWELLITL Q6T eneuld g Llieml 2 flenlngemneT LTmID 6TedTml ey
BLOLY 6o T,

165. Which of the following statements about the enforceability and purpose of Directive
Principles is FALSE?

a) Directive Principles are non-justiciable, meaning they cannot be enforced by any court for
their violation.

b) Article 37 of the Constitution mandates that the State must apply these principles in
governance and law-making.

c) Courts have declared that any law framed based on Directive Principles is automatically
constitutional and immune from judicial review.

d) Though non-enforceable, Directive Principles help courts interpret whether a law is reasonable
in the context of Articles 14 and 19.

wrplevs Qameatan s uileT autflamL® QBN Wenm & afler QF W LIRS SIW0 SeTenln LMMIL GHTHSELID
umMw eTeu@pld Fammisefley I8l Seummersi?

a) QABEMIWeME G ML LITH&6T HH DTS STV QFWLIHES (LDIQWITEHem6 (non-justiciable), Si&TaUG! |6 m 6o
ISOeISETES 61HS BHLGTHSSTID SHeuDHEnD HOLWODULGSS PIGWTS!.

b) AP wevennliLg &L LGH 6T 37aua1g Liflal, ol & whmin FULlwummisedle 9Ts @hss
Garlumbsaerll LweTUGSS Ceuetor(hh eTeorm &L LenemWllQ&Hm&.

o) @plwenms CaHmLLMH &erler g litemuiey @ummUiL@LD Th&HEF FL LN SrermsGel

SR Wevenn g FLLSH MG 2 L LIL L gl eTedrmild, BHSSiIemm o puiieNedmha ellGILIL L& eTedTmiln

BH L0eTMmISG6T 3 nflefl & SieTermenT.

d) BemL(WenmLILRSS (DIQWTSS! eTeTmmavid, 14 inmoib 19 eugl Lifleysserfler @&Lpedlev e &L L LD
BIWITWILDTEOTS T 6T6dTLIen S allaTdhGH6aUs M & eUBSTL (KD CaHMLUMH&H6T HS D6TMHISHEHEHE 25 65 60T M 6.

166. Match the following Articles with their Subject Matter
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Column A Column B
a) Article 42 1. Humane conditions of work and maternity relief
b) Article 48A 2. Protection and improvement of environment
c) Article 44 3. Uniform Civil Code
d) Article 39A 4. Free legal aid and equal justice
B &E MDD &L (560 T8 6m6T 3|6umnledr LIML LG LITIHESL 60T QLITIHES 5 5.
auflens A suflens B
a) IS 42 1. 6B MLILDMET GoUem6V FlemeVemLD& 6T DM MILD & LIGLIMI Bl6UITF6uorLD
b) e91&) 48A 2. HMHMOTL LUMSISTUL whHmib Guwbur@
c) NS 44 3. Egmeor A allev GMIUTH
d) a9 39A 4. @QeveusF FLL 2.5 nmmib & HH
a) A-1, B-2, C-3, D-4 b) A-2, B-1, C-4, D-3 c) A-3, B-4, C-1, D-2 d) A-4, B-3, C-2, D-1

167. Assertion (A): The Community Development Programme (1952) was launched to
improve the standard of living in rural India.

Reason (R): The programme aimed at providing constitutional protection to Panchayati
Raj Institutions.

a) Both A and R are true, and R is the correct explanation of a)

b) Both A and R are true, but R is not the correct explanation of a)

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): |rymulym @HHWmeiley eumpsiEeanss SI5Hems CULLIGSSIUSMHEHTS Feips CbUTLBH 5
SLLLD (1952) QB TLBISLILLL SI.

&myenorid (R): @\hS G LLD LIEHSFTWS S [JITL Bl MI6U6ITHISEHSH S 3| JF WeuenloLiL] LIMTSIS&TLenLU
QULPMIG NS CHMTEHHINMTHES Q& Te0oTL Sl.

a) A lnmmILd R @ uevor(Hb &ifl, R eTedTLIG! A &8 meor SFiflwimeor elemd &L,

b) A lnMHMILh R @Jevor(HID &F1fl, 9160TMT6V R 6TedT LIS A &8 TeoT &FiflWimest elemd: a0 3(6V6.

) A &1fl, 9L60TmeL R Heuml.

d) A Beumi, speormev R &ifl.

168. Which of the following statements about the Swaran Singh Commaittee is true?
a) It recommended 10 Fundamental Duties, all of which were accepted.

b) It recommended 8 Fundamental Duties, but 10 were included in the Constitution.

c) It was formed in 1978 after the Emergency.

d) It suggested Fundamental Rights be made non-justiciable.

erveurevor G &1l 19 LImHMlw LeTauhLD Fammiserfley eTgl &iflwmeorg?

a) @& 10 SIIQ LML SLemnGmeTL LU HEHenTHE S5, Ml 3 em6aTdH SN M mIsQ & meTeTLILIL L 6oT.
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b) @& 8 S LILINL & HLemngGenerll LflbSenTsHssl, 260Tmev 10 SjTH weveninlitNey C&FF&&LILIL L 6.
0) @5l 1978 @6V TIORTRHG L LIME& 2 (HhaumsasLILLL G,
d) @l litemL 2 flemngeT BlUmUlILBSS WU WTSSHTEH ,&ELILL Caletor(ID 6TedTml g L HSIenTss Sl

169. Which of the following is NOT a valid criticism of Fundamental Duties?
a) They are too detailed and exhaustive, overwhelming citizens.

b) They are vague and open to multiple interpretations.

c) They are seen as redundant and moralistic.

d) They were criticized for not being enforceable initially.

etreu@pLeumMMlev 618l S LILIeMLE &SLemlngeT Lmmlw Fiflwimer enFFeord 9j606v?

a) lemal W& LD ellifleumeoT LDMMILD (LD (LD EMLOWITEOT, 58 LILILG UITEIT (&L 05 & 6.

b) oemel Qgefleummenal DMHMID L6V aN6eTE&HBISHEHEGHS FHMHSHMe.

) 9emal CHEMAIUMMENAILITHELD (D& FH WITETen 6 T&He LD LIMTE8 1L [H ) 60Tmeor.

d) 9emal STDLUSH QEFWOLBISS (NLUITSemel 6fedTml eI & & &L L 6oT.

170. Which of the following landmark Supreme Court judgments recognized the Right to
Privacy as a Fundamental Right under Article 21?

a) Maneka Gandhi v. Union of India (1978)

b) K.S. Puttaswamy v. Union of India (2017)

c) a)K. Gopalan v. State of Madras (1950)

d) Kesavananda Bharati v. State of Kerala (1973)

edreu(BLh THS 2 &&F BHWeTm SHLIL FT58 21 @ 6T SLb Hevl 2 flenwnemu SjgLliLemL 2 flemwwns
SIBGs5551

a) GLOET&T &THH) Vs @BG W eeorluiLd (1978)

b) G&.et6N. L L &reumLdl Vs @bB&Ut epedTmiluiLh (2017)

) g.65%. C&HIMLIMEVEI Vs QLOL_[FITeN LOMBleuld (1950)

d) G&FaUmerTBS LITTS Vs &6 0MBlevld (1973)

171. The doctrine of ‘proportionality’ in restricting Fundamental Rights under Article 19
was emphasized in which of the following Supreme Court judgments?

a) Anuradha Bhasin v. Union of India (2020)

b) Shreya Singhal v. Union of India (2015)

¢) Romesh Thappar v. State of Madras (1950)

d) Indian Express Newspapers v. Union of India (1985)

5551 19 @ 6ir GL1p g LiLienL 2 flemnganeT SLBHLLM S SHeuBH 6L 'S & TF TS S 60Temln’ 6T60rm
CamLum® Weraubd ahs 2-&& BHnerm SFlysefley eueSlymissLuLrL &1?

a) WITTHT LTF 6T Vs @bS W eeornlwild (2020)
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b) eVCTWIT FIMIGTE Vs @B W epedTdluiL (2015)
¢) GrmGLeq STLILIT Vs QIOLJT6V OMHBlevld (1950)
d) @BHIT eTEHeNLITeN QFUISH S TETEH6T Vs @HH U spedTmlulh (1985)

172. The Supreme Court’s interpretation of ‘public order’ as a ground for restricting
Fundamental Rights under Article 19(2) differs from ‘law and order’ in which of the
following ways?

a) Public order is a broader concept than law and order, encompassing societal stability.

b) Public order is narrower, requiring a direct threat to state security.

c) Public order and law and order are interchangeable terms under Article 19(2).

d) Public order restrictions are not subject to judicial scrutiny, unlike law and order.
TFAWevenioliL] eNG) 19(2)-60r ELp SjgLILIenL 2 flenlngenens &L (LG & S516USMEITET (H &ITJ6U0TLOMS
'QUITE @I UMM 2 & BSneaTms Heor eflardasin, LeTeu(pld eThg eulflsGerfley 'FLL LD oM mib
PWRIEG qaTUBBGHS Caumu@RMS?

a) QILIMG! (DI 6TeOTLIGI FLL LD LnMmILD (WM el LITHS SH(hSS TG0, @S Fend 6VH J5 5 60TemLn6mLL

2 GTETL &R WIS

b) QLTSI Q(LMBIG eTeiT LIS GMISHVTETS, @& SIT&F UMHSTUINDG CHIY SIF&FMSHmMeV gDHLGSS Ceuesor(hLb.
¢) TR WevemDLIL] e 19(2)-60T BLD QLTSI @(LOMHIG WMMILD FLU L LD IDMHMILD (W0MEIG G el

66T MIGHC SHITEOTMI LDMTMMTEHLI LIW6TLH & SHHFnIq Ul Q1&F TMEET.

d) FLLLD InMMILD (LRI GLIMEVEVEVITINGY, QILIMGI (WM& S BLILTHS&6T BRHSImm 2bUl6 8@ 2 L LIL L el

3|6V6V.

173. Consider the following statements regarding the State of Kerala vs. N.M. Thomas
(1976) case in the context of Article 16:

1. It upheld that Article 16(4) is an exception to Article 16(1).

2. It ruled that reservations can be provided to promote equality of opportunity.

3. It introduced the concept of creamy layer in reservations.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 only c) 1 and 3 only d) 2 and 3 only
TR WevemoLiL] 6NE) 16-6tr LSl etreorevorludlev G&IT6rT LOMBl6ULD Vs 6T60T.6TLD. SITLO6NV (1976) QUL &S
QSMLIUIMeor LN6iTeU(BLD T D) MISH6M6ITE & 616011 MHI & 6T

1. SIrPlwevemnliL] eSS 16(4) eTeorLIZ NG 16(1)-5E @H NlHeNleVE (S 6TeiTM 9IS 2 MIT QFWSFI.
2. g aumilenu CULUBSSIUSNHETS @)L @515E (M UPHEIGLILILVITLD 6aTm 315 §Tlueflsssl.
3. QL @8I&ELIq60 RfIS Ceuwli] 6TeTM &([HHMS S AMWSLILGSS W SI.

GG QEHMRG&LILILL Gammiserlev ergl/eremeu Fiflwmenrsi/&iflwmeoreneu?

a) 1 lmmILd 2 L (HILD b) 2 L0L_(h\LD ¢) 1 wmmib 3 LG d) 2 lnmmith 3 L (LD
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174. Consider the following statements regarding the division of powers:

1. In a federal system, powers are divided between the national and regional governments.
2. In a unitary system, all powers are concentrated in the national government.

3. The division of powers is always explicitly stated in a written constitution.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
BlFeuns SSH&TTL LTy QSTLTUMS LIN6Teu(HLD Fa. DM EM6IT & 6U 6011 Mg 6T:

1. gL LTLE (pemnmuiley, GHA W & &G DMTBI6V S{J&HSHEHS G0 @) enL G S & ITITHI & 6T

L9 &5 & L1 L1 () 83) 66T M 60T.

2. @DHePWTLE pemmuiley, S|emerTsH &l SIBSHMIHISEHLL CHFW HTFILLD & 68 &L [H S 6T meur.

3. 9IH&EMTIL LG FTey TUICLMSID 66 NS LILLL SFFRlwevenolilfléy QeueflliLemL WM

S MUILILL(H&GSLD.

CLGev ABMH &S LILILBHETET sammiserflev ergi/eremeu &iflulimeorag?

a) 1 lnmmILd 2 L (HLD b) 2 LnMmMith 3 ()LD c) 1 wmmib 3 Gl

175. Choose the incorrect statement

1. The term ‘federation’ has no where been used in the Constitution.

2. The Indian federal system is based on the ‘American model’

a) 1 only b)2 only c) Both 1 and 2 only d) Neither 1 or 2
SaUMITET SaMenm C&HTHOSHH & &6]LD:

1. 8l LTL&) eTedrm Q& meL OFFWeuemoLIeL eTmIGW LweTU®R S UL 6vemev.

2.@6HHW F&LLTLE (pemm 'S|0wiflés tmHiflenw’ SiqLiLeLIWITSHS 6\&TeooTL Sl.

a) 1 L (b b) 2 (LD

¢) 1 mmih 2 @revor(hLd d) 1 916V6VS 2 TEHIALD @)6V6DI6V.

176. Which of the following pairs is incorrectly matched?

Article Subject Matter

a) Article 247 Power of Parliament to establish additional courts

b) Article 249 Power of Parliament to legislate on Concurrent List in national interest
c) Article 253 Legislation for giving effect to international agreements

d) Article 250 Power of Parliament to legislate on State List during Emergency
etreu(pld CRmiq&erfleL 678 HeumTe LI QUITIHSSLILIL Hl6iTemgl?

FI5 5! eflaquild

a) FUSEI 247  Fa(H)Sev BHIDGTMHHIGENET Bl BITLTEBIMSHMESG H ST

b) FT65 249  CaHHW Hevenflev QUIMEILT LIL1q.ued6v FL LD @UIMm BITLTEHLTMSH MG SIS STFLD
Q) FIHS 253 FHaCHF RLILBSHISGEFHS GF LeVagelld Q&THILLSMETET &FLL LD

d) 9fley 250 seusrmleneuuller GUME! WOMBlevLl LILIquwiedlev FL LD @uImmIlD HFH&TTLD

Page 69 of 79

Contact : 95005 85211/70100 99341
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

LM TEBLO6TMSH M ES 2 _6Ters.

177. Which of the following circumstances can the Parliament legislate on a matter in the
State List?

1. When Rajya Sabha passes a resolution in the national interest

2. During a National Emergency

3. When a State Legislature requests it

4. To implement international agreements

a) 1, 2 and 3 only b) 1, 2 and 4 only c)1,2,3and 4 d) 2, 3 and 4 only
etTeu(pBLh 6THS @ LhBlemeuserfley LMmleull LIL LG wedl6L 2 6Tem (h eflaq WSS 6V HITLTEHLO6TMID FLL LD
@ubm Yigujb?

1. G5FW HLVWIGHEHTS JFTRW FUT SFLOMerd HlenmEeummIbCUTS)

2. G5\ W 9eusy mlemevulledr GLIME

3. @@H LOMBlev FLLIOGTMLD CHMIfl&emna emeus &LLGLMSI

4. FTUCSHEF @LILIHSMIGMET HlemmGeummILbEUTSI

a) 1,2 LOMmMID 3 L (LD b) 1,2 LbMHMILD 4 WL (HILD o 1,2 3 0momib 4 d) 2, 3 loMmMID 4 L GHILD

178. The Fifth Schedule of the Constitution, there is a provision for restricting or
modifying the application of a Parliamentary law in a Scheduled Area. Who is empowered
to issue such a notification?

a) The President b) The Parliament c) The Governor d)aorc
AHH W STF WevenlnILN6dr B meugl L Leuenevorulledr GLb, e(H LIL QU160 LIS S ullsyierer
HITLITEBHLO60TM &FLL&H 6T LIWeTUMLenL SLOLULUBSS 36vevgl LMHMWenngd: & (b HUm@H 2_6Temgl.
391558 W sMlellienu QeuelWiL SIS &ML QuUMMeuT WTF?

a) GYWITEHS SEOeve] b) (BITLMEBLOGITMHLD <) SLEBHT d) a 9{6beugi ¢

179. Regarding the legislative relationship between the Centre and the States, consider
the following statements:

1. Subjects requiring uniform laws across the entire country are placed in the Union List
2. Subjects where uniformity is preferable but not mandatory are included in the State
List.

3. Subjects that permit regional variations and diverse approaches are listed in the
Concurrent List.

Which of the above statements is/are correct?

a) Only 1 b) 1 and 2 only c) 2 and 3 only d)1,2,and 3
LSH W WMHMILD LOMBlVEISEFSHEG @) 6nLUlleumeT FLLLO6TM 2 M6 & 6T GMIH S, LN6iTau(bLD Jah Mm% en6Ts
55611601 WL M1 & 61T:
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1. BT WPeuGILh FFmeT FLLKIS6T CHemeuliL(BLD 69laq bk s6T epedrmlwil LI 1guwedlev

606U & & LILIL (b 6T6IT60T.

2. Egmeor HetTemln 68l(HLOLIS S8 &S] SL60TTEV SLLTWINMM eNaqWmi &6t mmleul L 1guwedlev

C&FIT& & LILIL (b 6iTeIT6uT.

3. 9D S W CaumiLITB &6 LIVE6 M | ETDIE(NMMEBMETIL LD S{DINH &GS allaqUmnkigG6r QUITsIL
UL 1gwedl6L LILIguwedL LU B 6iTerTent.

GLOM&6U0TL. Fa M MG 66V 6T81/6Tem6u &IflWITeoTemeu?

a) 1 LG b) 1 LoMMID 2 L (LD ¢) 2 LnmMId 3 LD d) 1,2 Lommild 3

180. Consider the following pairs of subjects and the lists in which of them is incorrectly
paired

1. Public health and sanitation Union List

2. Labour welfare State List

3. Drugs Concurrent List

4. Insurance Union List
a) 1 and 2 only b) 2 and 3 only c) 3 and 4 only d) 1 and 4 only
JLpmeug L Leuemevorufleir G @MU L LIl @ eiTer L6Teu(hLd eTaqUmkig 6T IomHmIb LIL g weuserTley ersi
SaUMTEL QUITIHS S LILL B 6TensI?

1. QUIE &SMSTFLL MM SILIL|Tey e@eTMlwLl L IqWev
2. Qg TSl6UITEITIT [H6V 6T LmEleul LILIQUI60
3. OB IH B1 & 6T QUTEIL LIL 16V
4. mULlSE e@6oT M WL LI 19 U160
a) 1 lnmmiLd 2 L (HLD b) 2 LnMmmitD 3 oG ¢) 3 IMmMID 4 10 (HILD d) 1 lnmmith 4 ()b

181. Consider the following:

1. Black-necked crane 2. Cheetah 3. Flying squirrel 4. Snow leopard
Which of the above are naturally found in India?

a) 1, 2 and 3 only b) 1, 3 and 4 only c) 2 and 4 only d1,2,3and 4
L9 6dT6U (H 6U 6TTEU MMM &5 &5 6 60T :

1. &BUY HWHS O&NeEE 2. AAmGams 3.UMmEEGID 3 enfley 4. ueNEFF MGG
Cumaanweummiey sTemeu @) h S Wmeilev @)W MHens WM & TeoorLiLI({H S 6drmeor?

a) 1,2 Lommib 3 L GILD b) 1,3 LoMHMILD 4 L0 (ILD €) 2 LoMMID 4 10 (HILD d) 1,2,3 lnpmiLh 4

182. Which of the following have coral reefs?
1. Andaman and Nicobar Islands 2. Gulf of Kutch 3. Gulf of Mannar
4. Sunderbans

Select the correct answer using the code given below:
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a) 1, 2 and 3 only b) 2 and 4 only c) 1 and 3 only d1,2,3and 4

L9) 60T 611 (I 61 60T6U (D) MI 61T 6TEUMH N6V LIGUGTLILITEMM & 6T 2_6iT6IT60r?

1. SBHSIOMET BIHCHTUMT BoYH6T 2. HL&F UEMETEGLIT 3. LOGITEOTITIT 6UEMGTEGLIT 4.8[55J6U60TS &IT(H) & 6iT
GG AamH&&LIULBG 6T GMIuTiemL L1 LweaTL®R S S Filwmer LS eanevsd C5THAHH &S50 LD:

a) 1,2 Lommitd 3 ()LD b) 2 LnMMILD 4 1D (HILD c) 1 wmmib 3 I GILb d) 1,2 3 mmibd 4

183. Choose the right matches among the following:

(1) MMR Vaccine - Maurice Hilleman

(2) Rabies Vaccine - Baruch Blumberg

(3) HPV Vaccine - Harald Zur Hausen

(4) Hepatitis B Vaccine Louis Pasteur

a) (1) and (3) are correct b) (2) and (4) are correct
¢) (3) and (4) are correct d) (1) and (2) are correct
L9 656U (B 6u 6oTEU MM 6L FIlWITEOT QLIMT(HS S B S emens G5 Ta|QAF W e]LD:

(1) MMR 5QLILLS - wriflerv anfleév Lo 6T

(2) Grlilev HHLILLE - Lrem& LIeTQ LTS

B)HPV 5HULS - M FTEVL. 6ruel) Q® G& 60T

4) QamuenLLgev L9 5HLULE auruSlerv LImervLiy

a) (1) nmmid (3) FrflwmeTem ey b) 2) LnmmiLd (4) FiflwimeTeney

¢) 3) LnMmILD (4) FiflwimeTen el d) (1) nmoId (2) FiflulmesTen el

184. With reference to the composition and independence of the Election Commission of
India, consider the following statements:
1. The Chief Election Commissioner (CEC) is equal in status and receives salary
equivalent to a judge of the Supreme Court.
. The Constitution prescribes a fixed tenure for the Chief Election Commissioner and
other Election Commissioners.
. The removal process of an Election Commissioner is the same as that of the Chief
Election Commissioner.
Which of the statements given above is/are correct?
a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d) 1 only
QBB C5TH6L 1606007 S H 60T S{eMOLIL| LM MILD &SHBTHOSL QUTDISS6UenT, LI6dTeuBLD & DMl
55606118 55616011 L M1 & 6iT:
1. Hem6VenIn g CHITH6V L 6m6uuT T (CEC) 31H&H6TVH 6L FLownmeoTauJ LMMID 2 &&F B nerm BHLSH &G
FLOLDTET FLOLMHMSL QUGS MITI.
2. HEM6VENING CHITH6L JLemeuoTlif LM MILD LM CHT56V 3I6M6uuTW T8 58 (& T FWevemoLliL] (b
BlemeuwimeoT LIS 6N & & Meus6mS MlTeoTuilsE & msl.
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3. 2 CH TS ILeM6UTW N H&(GLD QFWINMM SHeMeVeNLNS CHITH 60 I1,6M6U0T W emITLI GLITeT M.
GG Q&HMH&&LILILBH6Tem samml &erflev et FHlwmersi?

a) 1 lMmILD 2 L BID b) 1 LbMMID 3 L (LD ¢) 2 LnmMIb 3 LD d) 1 LLGD

185. Find the wrong statement

1. The process of fertilization takes place in the seminiferous tubules.

2. Sertoli cells provide nutrients for spermatogenesis.

3. Leydig cells secrete testosterone.

4. Acrosomes are absent in sperm cells.

a) 1 only b) 2 and 4 only c) 4 only d) All of the above
BLh & 60T Fa M MG 660 HEUMTETEUMEMME &ITEOOTS; :

1. b B eI6UTE S Bl&DaTeTS QFWleaQLTav GLpeuaerley HenL QLM M.

2. QFFCLMeS QF6La6T ellH S 2 (HeuMTHHSBH M EGHSH G566 TET 2_600TeY, L L &60 5 I 6rfl& &) 60T M 6or.

3. Q6VIY & QFGVSET QLEVGLITEIVICITITENEUTE &[T 8 5\ 60T M 60T.

4. 916CrTCEFMD b g QFaGaflel @e6vemeu.

a) 1 L (LD b) 2 WMMIWD 4 DL (LD b) 4 LB d) GLOM&H600TL 3{6D)I60TSH SILD

186. Consider the major power stations of Tamil Nadu and select the correct pairs from
the following statements?

1. Thermal Power Generation — Ennore 2. Hydroelectricity - Papanasam

3. Nuclear power generation — Kalpakkam 4. Wind power generation - Aralwaimozhi
a) 1 and 2 only b) 3 and 4 only c) All of the above d) None of the above
SO0 &5 B 60T (L0 & G W LA 60T Bl 6016V LLIMEI & 6111 60 60T &5 (1 & B 6L Q& TevoT(h SBLD& & 600TL. Fa D M1 & 61Tl 6L Fflw et

@ emeuTullement CHTHASHH& &AL ?

1. 9eoreLLl 60T2_ (H LIS B — 6T6EUOTSTDI T 2. BTAl6r 2 MHUSS) - LUITUBITEFLD

3. 9|t MUSH) - &HEULIMESLD 4. MMM 6T 2. MUISS) - Sy FeLeUmIALmLS
a) 1 lnmmiLd 2 (LD b) 3 LnMHmILD 4 LIl ¢) GLDM&600TL 3|6M60TS SILD d) ergiallevemev

187. What is common among the following bird species?
1. Crimson-backed Sunbird
2. White-bellied Treepie
3. Nilgiri Thrush
Choose the correct answer from the options below:
a) These are endemic bird species of the Western Ghats.
b) All the above species are critically endangered.
¢) These birds are seasonal migrants from the cold Siberian region.
d) Each of these birds has recently been designated as the state bird of a different state.
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BLh & G 600TL. LIM6meU @) 60TmIS6rflel QLIMSIeUTS &meuorLlLI(Heug! 615I1?

1. Q&FBBIM WNSIGS Q& meoTL & fluliLmeneu

2. QeueiTemem-euuilmi LOFLI LIMeme6u

3. be@r srag

GG 2 siter (B LILIMISele0 (BHS FHlwmer LGemavs C5ITHA S M &&e]LD:

a) @emel CMGSH QSTLIFH nemeuuiley SmeooTLiLI(BID 2_6Tesh LIMenel @)60T IS eTMELD.

b) GLOMGHETOTL 3{60)60TE &l @) 60THISEHLD LIS S TET Blemeuuilev 2 6TarmeoT.

o) @LILmeneauGHeT Geflihg enaLflwl LGS Ul EHE LIHeUsTeunIS6T e LIeuDQLWTHE Q&FeULIem6.
d) @B5 LIMenaUG6T eelQaumermiin FLSLIGH 60 GQausiGalmi LOMBlevs & 60T IDMBleVLI LIM6Em el mdh

Bl & s LLL (Q6TerTeoT.

188. Find an example for Inertia of direction among the following?

a) A competitor in a long jump race runs a short distance before jumping in order to jump a long
distance

b) Passenger leans to one side while going around a curve in a moving vehicle.

c) Leaves falling from a tree after shaking its branches

d) Fruits falling down after ripening

SLESUTLUMMIET Blen&F Mlemeulns B M&:TET 25T J6Uurs M & 6voTL M8 ?

a) Bermh Smesor( 6L CUITLIqUIev 2 aTem GUITLIqWITerT Betor ST &meoor(HeUS D& TS, ST &Tevor (b Lb (L 6o
Anls s @GHSH6v

b) @G QUTHETSH6L aUmETLITenS U6 QFeusvln GLIMSE LIW6 W 6@ LISSHIDMES FTIIS6.

o) Bemearsenar 2 asH W Ller nJsHedmha FCw ellwpLb @) emevsen

d) LWSsLN6r G afl(wld LILpBIGET

189. Find out the incorrect statement about the physical properties of metals among the
following:

1.All metals are solid under normal conditions of temperature and pressure.

2.Metals can be drawn into thin wires.

3.Metals generally have high melting and boiling points.

4.Metals are poor conductors of heat and electricity.

a) 2 only b) 4 only c) 1 and 3 only d) None of them
2_Geunmsmigenledr @ wmLIwey LI6torL& 6T LMW &6eumITer FaMenma: & e6vorLmleyLb:

1. FMSMJ6oOT QUL LOMMILD 3|(10 &S BlemeuGarileir Gl 9| 6meTd FH 2 G6UITS IS EHLD B L LD TETEm6M.

2. 2 GEUITSHEIGEMET QILN6LEOIW &L GETTS @) (D& SH6VITLD .

3. 2. GEUMEHMIGET QLITHIUTSH T & 2 (HGHBlenev LDMMILD Q&TH Hlem6evTHeM6Nd G & Tevor(H)6IT6IT6UT.

4. 2_GeUMTSHMKEIGET QeuLILLD WMHMILD WO ETETTS S 60T GLOMFLDTET &L & H) 6.

a) 2 0L (LD b) 4 bl (HLD ¢ 1Mo 3 LG d) ersieudleemey
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190. Statement [A]: Metals can be hammered into thin sheets due to their property called
ductility.

Reason [R]: Malleability is the property of metals that allows them to be shaped into thin
sheets without breaking.

a) [A] is true, but [R] is false

b) Both [A] and [R] are true; and [R] is the correct explanation of [A]

c) [A] is false, [R] is true

d) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

Famml [Al: 2 CeVITEHEIG 6T euMneir QFFHLh6 S & 6iTemLn eTeor LILIBILD LI6uor L)6dT & TIeuuTLoms: Gl 6L6d W
SELITEH 19658 (NIQU]LD.

STIerD [R]: H&LITEGLD &60TENLD 6T60TLI S 2 G6UITS IS 606IT 260185 TL06V GILD6LESIW &TETSHETTS
6ULLEUEMN G S I MWING) &G LD LIGUITL] Y& LD.

a) [A] #1f], S0 [R] Houm .

b) [A] LDMHMILD [R] @Tevor(ID &1l ; LnMMILD [R] S4,60TS [A] S:85Meor SFifluimeot ellemd: &0 oy, GLD.

o) [Al seum , [R] &ifl .

d) [A] oML [R] @ TesorQID &Fifl , 26T 6V [R] 2u60T& [A] S8meor Fiflumenr aflemg: oL j6vev.

191. With reference to the SCOUT Program under the Naan Mudhalvan initiative in Tamil
Nadu, consider the following statements:

1. It is aimed at providing international internships to postgraduate students in Tamil
Nadu.

2. It focuses on emerging fields such as Data Science, Artificial Intelligence, and
Biotechnology.

3. The program is implemented by the Tamil Nadu Skill Development Corporation (TNSDc).
Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
51011058 B 60T “[HIT60T (NG 6V6U6IT” B L &H 60T GLh QFWeLI@G LD SCOUT S LGems LI QLIS S 6UenTT,

B &E600TL FaMMISGeTleL e151/eTemeu FflWmeTsi?

1. @HS5S G LID SLOLDIBITL LY &YI6T6T (LD SIBl6M6v LOMEUOTEU TS E5 8 (S FTeuCHF @) 6T Feoradlll auLpmi(Geuen s
CHM&HINNES Q& TeuoTL SI.

2. @8 Hrey siMlelwey, QFwWMmens HBievorevormley LMmih 2 ulfl Qe mNleLBIL LILL CLIMTETM 6U6TIHLD

1M 6fleL HaueTlh QFNSSIRMSI.

3.0\h55 HLLSMS SODBTH HmeT CLLUTL{H Blmieusrbd (TNSDC) QFWaLB S SIS MmSI.
CLOMH&H6U0TL. Fa M MIG 66V 6TF1/6Temeu &Fiflwimeorsi?

a) 1 lnmmiLd 2 (Kb b) 2 Lnmmith 3 ()LD ¢ 1wmmib 3 Il @GlLb d) 1,2 lommib 3
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192. Consider the following statements regarding the programs under the Naan Mudhalvan
initiative:

1. Kalloori Kanavu is a career guidance program targeted at students who have completed
their class 12

2. “Uyarvukku Padi” was launched to reduce the dropout rate after the 12th standard.

3. Both programs are supported and coordinated by multiple government departments and
the Tamil Nadu Skill Development Corporation.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
IHITEOT (NS 6VEUETT (LN EOTIPW MBI U 6T GLD 2 6iTaT L L MBIGET QS TLITLIMer LN6Teu (LD Sa MG 6068

861 60T U 11 & 61T:

1. vl &6oTeY 6TeoTLISI 12- 941D QUG LIL] (P95 S LOTEUUTEU TS M6 @) 6V& & THE Q& TeUTL @ H QS MLl
auflETLHS56L G L LD 9 @GLD.

2. "2 WJeY&E UL 12-94b euGLILEE L VNG @ enLBlhme alSs55mes GmmLUILISMETS
QEMLBISULLL SI.

3.QHh5% @UeoT® HLLBISEHLD LIV &S Slemma6T nMmoid SLNDBHTH Hmer CLLUTL(H& L& EHSHTeV
25H1&E LG & (5 b S 60 6voT8 8 L1 LI (h) 8) 60T M 6oT.

GG QEHMHG&LILILL gammiserfley ergl/eremeu Fifluimereneu?

a) 1 mmid 2 (Kb b) 2 lnmmith 3 L (HILD ©) 1 MmMID 3 L (HILD d) 1,2 lnmmith 3

193. With reference to the "Niral Thiruvizha" initiative in Tamil Nadu, consider the

following statements:

1. The initiative encourages final-year engineering students to address real-world

technological challenges posed by government departments and industries.

2. Selected student projects receive funding support through the Innovation Voucher

fund.

3. The second edition of Niral Thiruvizha was launched in collaboration with academic and

entrepreneurship organizations, including Anna University and Startup TN.

4. All awarded teams in the were converted into registered startups.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 1, 3 and 4 only c) 1, 2 and 3 only d1,2,3and 4

“BlFeL BN T” WWHFR WL QUITIHS S 660, BLD &S 600TL FammiSGetleL eTemeu Flwmeremeu?

1. @bs HLLID, TS SemMEET InMMILD QG TV MMEET (LNeiTem6US S QG TLHI6L HIL LI & 6UIT6V & 6m6IT
Fuomefle s @ mIS o4600r(H QUITMIUNWEL LOMeoTeU T8 M6 2018 G668 QSTLMBIGLILILL S
CoIHASMH &S LILILL I0meorell] G L KIS EH& G Innovation Voucher Fund suruilevms IS wgeil
ULPRIGUUGSRMSI.
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3. BlyeL HHNLDIT 2.0 | 600TEU0TIT LIS EMEVE NS LD LM MILD Startup TN GUIMETM Hevedl LnMMILh A mYSI6L
(WN6m6uT GeuITT 5] MI6U 60T MhIG 61l 60T Tl L TeOOTEMO U6V Q& ML MIGSLILIL LS.

4. ufle QUMM S|METH S (& (L5 EDHLD L] SIHMI6U6UTHBIGETTS (Startups) LIS 6 Q& W LILIL L 6or.

CLOMH&H6U0TL. T M MIG 66V 6TZ1/6Temeu &Fiflwimeorgi?

a) 1 MM 2 L (HLD b) 1,3 InMHmMILD 4 OL_(HILD o) 1,2 nmmib 3 oL_(hILb d) 1,2 3 wmmin 4

194. The Kalaignar Magalir Urimai Thittam provides monthly financial assistance to
women heads of households. What is the annual household income limit for eligibility
under this scheme?

a) Rs. 1,20,000 Lakh b) Rs. 2,00,000 Lakh

¢) Rs.1,50,000 Lakh d) Rs. 2, 50,000 Lakh

HeneuEhT ST 2 flemwnsd S LD GO LLUS S606vail&sEF5E IMSHEHTMIL HS 2 569 euLpmiGH msl.
OHS55 BLLESH 6T LD 5E&S) COLIMI6USHSHTET 31,600T(H (& H\LDLI 6U(HLOTEOT 6UTLDL] 6T60T60T?

a) elLIMLI 1,20,000 6UL_&LD b) elpLIMUL 2,00,000 6LL_&LD

) epUIMUI 1,50,000 6UL_&LD d) emuLImul 2,50,000 L&D

195. The Neengal Nalama scheme primarily focuses on:

a) Providing free education to girl children

b) Promoting digital literacy in rural areas

¢) Subsidizing agricultural equipment for farmers

d) Gathering public feedback on welfare schemes

BREIGET HeuLDT HLL LD (NS ETOLD TS 6TH 6L &eU6TD QF IS HIFMmSHI?
a) QILIETOT GLOHeNS 5665 G @)ValFsH H6Val aILpMHIGH S 6V

b) G rmwliLmmigerfley 1985l L ev Sevallwimlenel GDLIG S SIH6V

o) NeuFmW&HEH8HE NeUFTW 2 LIGT600T RIS EH& G LM WLD 6L 60

d) BOVSH L LIS GMHS QLTSNS 6T &[HS5 S SHemeT CF&If5 560

196. Which Tamil Nadu scheme, launched in collaboration with the World-Wide Fund for
Nature India, targets students in 6,029 government schools with advanced technology
laboratories for environmental education?

a) Engal palli milirum palli(Our School Shing School) b) Model School Scheme

c) Mission Nature Scheme d) Naan Mudhalvan Thittam

2 608 aUeTaNlEUEI(S B WLD - @)\ HS) WITeYL 6T @)6n6etuTHS QSTLBISLILLL 6hs5s5 SPHTEH S LD, 6,029
Sy&L UeTerfl&erflel &M MIF G L6V HeLallGaeMs CLLL QS TYN6LBIL LI Sy, Ul 6) & Ml & 61b L 60T
LOITEUOTEU T8 6M6T @) 6VE&THE Q& Tevor(h 6TerTl?

a) eTmhIGs 6T Liaierfl Lerfl(pLh LisiTerf] b) &l LeTerflg HI_LLh
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o) Wager Guimensd GILL LD d) [BIT60T (LNHEVEUET HIL_L LD

197. With reference to the "Naan Mudhalvan Olympiad" launched in Tamil Nadu, identify
the correct statements

1. The Olympiad is conducted for students of 9th to 12th standard in government schools.
2. The initiative aims to identify young talents and provide them with specialized
training.

3. This is implemented in both Government and Government aided schools

a) 1 only b) 1 and 2 only ¢) 2 and 3 only d) 1 and 3 only
SOIDBTLI60 QSTLBISLILLL "HIT6T (N&H6LaU6T eeSlLNWML" QGTLFUMS LI 6dreu (h6ueoTeu mnilev
Fiflumenr gamnilemeord: & evorL )&

1. Qs @AW 9F&L Udreflsefley 9 (pSH6L 12 9LLD UG LIL] 6UeM T LILG.& (LD LOT6UoT6U (T8 6158 (&
BLSSLILGR DS

2. QS WPTWWHE WTers @) 6D HMemLD W TET TS M6 SJ60LWITETLD &6voT(h S{6UFSHEBS S FmLiLL
UWIH S geflliLieng CHTEHESEINNSS @ &Tevor(H 6TemSl.

3. @8l SIT& INMHOID SF&H 2 g6l QL MILD LeTerl&6T @ reuoTig e QFWeLIGSSLILGR MmSI.

a) 1 (b b) 1 LoMmith 2 ()LD ¢) 2 InMmmIh 3 (LD d) 1 lnmmith 3 ()b

198. With reference to the “Nan Neer Nanban” programme in Tamil Nadu, consider the
following statements:

1. Provides skill-based training for preventive and minor repair works related to piped
water supply.

2.Training is provided in both Government and Private ITIs and Polytechnic colleges.
3. Targets youth from urban local bodies for employment in water utility services.
Which of the statements given above is/are correct?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d)1,2and3
SODBTL L6V "HTedT BT HeoTUET" B L GHems L1 LM, LN eiTeuBLD N & 605 5 6emerTs: & 61601 W] IG5 6lT:

1. mw B7 efBlewnsd QgmLFUmeT SE UL WM mih Spflw LW SILITTE LD Lol &@h 8 & 8 meor
g LitemLullevmeor LUNHE MW UL MEIGSTR M SI.

2. 90& LM MILD SeoflW T BIqB&&6T mMID LTS LGaE sagrilsefley LUIDHS auprRsLLRSRMSI.
3. H&TLILM 2 6TemTL & 3jemnLIL|Henend CFIHS &) 606mehTEHemer BT LIwWeTUTLH CFemeuserfley
CauemeLEUTULILIL|&SHTS B\ VEEHTHE Q8 Teuor(h 6TeTSl.

CLGev AEMH&&LILL B 6TeT 9 Ml&ansssefley a1 Frlwmersi?

1 MHmID 2 0L G b) 1 Lommith 3 ()LD c) 2 InMmmIh 3 I (HILD d) 1,2 lommib 3

199. With reference to the TNWeSAFE Project in Tamil Nadu, consider the following

statements:
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1. The Women’s Quality Employment Plan (WQEP) is being developed at a sanctioned cost

of 350 lakhs.

2. The “Anbukudil” initiative aims to set up a Creche-cum-After School Care facility An
Online POSH 3. Complaint Registration and Monitoring System is being developed for the
Tamil Nadu State Women Commission.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d) 1,2 and3
501055 3 66T TNWeSAFE S LSS QLITMISSH6UNT, BLD& & 600TL. FaM MG 6Tl6L 6TS/6Temou FIlWMeuTSI?
1.QLI6T0TS 61T S TLOMEIT GouemeveUmlLIL] S L b (WQEP) 2 (heum& &b T50 VL&D BIHulléL L QUMISB M SI.
2. " 96T &GS 960"” HILLLD, GLpHeng LTl wmmib UeTteflés @l Wbengw LymnillL eusFs) sener
S|MLNEGGLD CHTEHS S SIL60T QFWeLIH&BMSI.

3. 50105 W& SLMETWSBMETH 4,60Tem6evedT POSH (Prevention of Sexual Harassment) L& T LIS 6y

LM MILD & 600T& TEUuTILIL] (LN6MM 2 (HeUM&SLILIG&BMSI.

CLOM&6U0TL. T M MG 66V 6TZ1/6Temeu &FiflWimeorgi?

a) 1 LmMILD 2 L (HILD b) 2 LMMID 3 L (LD c) 1 wmmib 3 LGLD d) 1,2 ommi 3

200. Under which Tamil Nadu scheme are fixed deposits of 350,000 provided for a single
girl child born on or after August 1, 2011, in families with an annual income below
72,0007

a) Selva magal savings scheme b) Pudhumai Penn Thittam

c) CM Girl Child Protection Scheme d) None of the above

SPHTH SATF T TH5S S LSS Eb, Su&6VL 1, 2011 STH LV HSHGL LIDG LIWHS @G
QLI6T0T (SLPIH6M S S, 31600T(H 6UHLOITEITLD 372,000 & (GLD (S 60MEUTS 2 6iT6m & (B LD LI IS&erfléL 50,000

Bl6m6V WITEOT 606U LIL &6 & Tem & WITS 6ULPMEISG LGS M SI1?

a) QFeval n&G6ET GEFAlLILS S L 1D b) LigiemoLl QiLieoor S L LD

C) (NSEVEMNEFT QLIGTIT GLPHemG LIMSISTLILS S L LD d) LM &H600TL 6TSI6| LD §)6LEm6V
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